			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1	At Kauthe Kamaleshwar Village, on Nilwande-Shirdi Airport Road, Tal. Sangamner, Not on NH/SH	AHMEDNAGAR	Rural	80	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2	AT MUDZA VILLAGE, TEHSIL BRAMHAPURI, DISTRICT CHANDRAPUR (NOT ON NH/SH).	CHANDRAPUR	Rural	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
3	Village- Kupti, Taluka Mahur Not on NH/SH	NANDED	Rural	75	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
4	From Village Poip To Village Bilwas On Malvan-Poip Road	SINDHUDURG	Rural	80	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
5	AT PHONDSHIRAS VILLAGE, TAL MALSHIRAS	SOLAPUR	Rural	85	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
6	BETWEEN HANGA TO SUPA, ON SUPA- HANGA-PARNER ROAD	AHMEDNAGAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
7	FROM JAMKHED TO NANNAJ, ON JAMKHED- KARMALA HIGHWAY	AHMEDNAGAR	Regular	111	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
8	Within 2 km from PHC Dhandarphal Kh. towards Sangamner, On Sangamner-Kotul Highway, Tal. Sangamner	AHMEDNAGAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
9	From Village Kusumkot Bk.(Tal Dharni) to Village Susarda (Tal Dharni) on SH 292	AMRAVATI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
10	Within 10 km from Harisal Grampanchayat office Gate Towards Dharni on Paratwada-Dharni highway	AMRAVATI	Regular	140	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
11	From Zalta Phata upto 4KM towards Deolai Chowk on LHS on Beed Bypass road	AURANGABAD	Regular	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
12	On Vadjai Road between intersection of Vadjai Road with 80 feet road and 100 feet road	DHULE	Regular	106	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
13	On SH13 at village Sarwad	DHULE	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
14	AT ANKODA VILLAGE ON NH-353C TOWARDS CHAMORSHI ON RHS	GADCHIROLI	Regular	230	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
15	AT JAMBURKHEDA VILLAGE ON NH-543 TOWARDS KORCHI ROAD TEHSIL KURKHEDA	GADCHIROLI	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
16	AT NANHI VILLAGE ON KURKHEDA DESAIGANJ ROAD (NH-543) TEHSIL KURKHEDA	GADCHIROLI	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
17	AT YERKAD VILLAGE ON NH-930, TEHSIL - DHANORA, DIST GADCHIROLI	GADCHIROLI	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
18	From Bodwad to Hingane Phata on LHS on NH753L	JALGAON	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
19	Within 2 KM from Sakali Bus Stop towards Chopda on either side on NH753BE(SH4)	JALGAON	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION L	.IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
20	WITHIN 5 KM FROM CHATRAPATI SHIVAJI MAHARAJ CHOWK MAHORA TOWARDS BULDHANA ON NH753M	JALNA	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
21	Between Shantiniketan School At Morewadi and R K Nagar Chowk On Either Side	KOLHAPUR	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
22	Within 2 KM From Sangawade Phata At Sangawadewadi Towards Kolhapur On Either Side On SH-115	KOLHAPUR	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
23	On NH752k Between Milestone Number 98 to 100(Nitur-Latur stretch)	LATUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
24	WITHIN 2 KM FROM NARKHED MSRTC BUS STAND (NARKHED TO SAWARGAON ROAD) TOWARDS SAWARGAON ON R.H.S	NAGPUR	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
25	From Village- Bodhadi Bk. to Village Chikhli Bk., Taluka Kinwat On Bhokar- Kinwat Road	NANDED	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
26	Between Khamatane to Tilavan (Taluka Satana) on either side on SH-19 (Dangsaudane-Satana Road)	NASHIK	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
27	Within 4 km from Malegaon Choufully at Manmad towards Malegaon on SH10	NASHIK	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
28	Within 5 kms of Surgana Karanjali Junction, LHS From Surgana To Wani on SH 20	NASHIK	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
29	ON LHS OF ON NH52 BETWEEN INTERSECTION OF NH361 & NH52 AND VILLAGE SANGVI MARDI TOWARDS SOLAPUR	OSMANABAD	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
30	WITHIN KM STONE 46 TO 48 ON RHS NH 52 TULJAPUR TO OSMANABAD	OSMANABAD	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
31	Between Khodala and Wakapada on SH on either side	PALGHAR	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
32	ON LHS, FROM KAMSETH TO WET & JOY AMUSEMENT PARK WHILE TRAVELLING FROM PUNE TO MUMBAI ON NH48	PUNE	Regular	250	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
33	From Bhigwan to Lamjewadi on State highway	PUNE	Regular	115	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
34	On State Highway From Thopatewadi To Sangavi	PUNE	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
35	FROM DURSHET VILLAGE TO BHALGUL VILLAGE ON KHOPOLI PALI NH548A	RAIGAD	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
36	From Borpada villge to Zolambewadi Village on Alibag Sanegaon Roha Road	RAIGAD	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
37	From Dand phata on NH4 junction to Apta Village on Dand Apta Road	RAIGAD	Regular	240	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/I CORPORATION I	IMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
38	from Pali Ballaleshwar Temple to village Gomashi towards vile Bhagad MIDC on Pali Saje highway	RAIGAD	Regular	140	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
39	Within 3 KM From Sahyadri Nagar Bus Stop at Devrukh Towards Sangameshwar On State Highway 166	RATNAGIRI	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
40	Shirwal Village Not on NH	SATARA	Regular	200	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
41	Within 10KM from Rahimatpur towards Pusesavali on Rahimatpur - Pusesavali Road SH	SATARA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
42	Within 4 KM From Amboli Bus Stand Towards Ajara On Either Side On NH-548H	SINDHUDURG	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
43	WITHIN 3 KM FROM VELAPUR CHOWK ON VELAPUR MAHUD ROAD ON SH	SOLAPUR	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
44	BETWEEN TOKAWADE AND BHORANDE ON NH-61 (OLD NH-222) ON LHS TOWARDS BHORANDE	THANE	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
45	between km stone no 151 & 147 on NH161A , on either side, while moving from Digras to Yavatmal	YAVATMAL	Regular	162	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
46	REHEKURI RURAL, TEHSIL KARJAT (NOT ON NH/SH)	AHMEDNAGAR	Rural	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
47	VILLAGE AKOLNER, TEHSIL AHMEDNAGAR, ON SONEWADI TO AKOLNER ROAD, (NOT ON NH/SH)	AHMEDNAGAR	Rural	45	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
48	At Chichondi Village, On Bhandardara-Ghoti Road, Tal. Akole, Not on NH/SH	AHMEDNAGAR	Rural	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
49	AMBI JALGAON RURAL, TEHSIL KARJAT (NOT ON NH/SH)	AHMEDNAGAR	Rural	55	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
50	At Chincholi Gurav Village, Tal. Sangamner, on Wavi-Talgaon Dighe Road, Not on NH/SH	AHMEDNAGAR	Rural	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
51	VILLAGE DONGARGAN, TEHSIL AHMEDNAGAR (NOT ON NH/SH)	AHMEDNAGAR	Rural	40	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
52	At Kanhegaon Village, on Kanhegaon- Kopargaon Road, Tal. Kopargaon, Not on NH/SH	AHMEDNAGAR	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
53	At Sangamner Khurd Village, On Sangamner- Deogaon Road, Not on NH/SH	AHMEDNAGAR	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
54	At Village Korhale, On Shirdi Airport Road, Tal. Rahata, Not on NH/SH	AHMEDNAGAR	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
55	KULDHARAN RURAL, TEHSIL KARJAT (NOT ON NH/SH)	AHMEDNAGAR	Rural	55	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
56	VILLAGE BHINGAR, TEHSIL AHMEDNAGAR, BETWEEN AHMEDNAGAR FORT AND TULJABHAVANI MANDIR (NOT ON NH/SH)	AHMEDNAGAR	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4

MAHARASHTRA

			NOTICE FOR APPOINTMI	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUM	1 CORPORATION L	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
57	At village Nagoli, Taluka Murtijapur not on SH/NH	AKOLA	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
58	WITHIN 13 KMS FROM AMLA BUS STOP (Tal Daryapur) TOWARDS DARYAPUR ON MDR 21	AMRAVATI	Rural	140	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
59	VILLAGE MALKAPUR, TALUKA WARUD NOT ON NH/SH	AMRAVATI	Rural	65	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
60	Village Turkabad Kharadi, Tal Gangapur not on NH/SH	AURANGABAD	Rural	50	OBC CC 1	СС	35	35	1225	16	6	Bidding	10	3
61	VILLAGE PALSHI TALUKA SILLOD (NOT ON NH/SH)	AURANGABAD	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
62	Village Jehur, Tal Kannad not on NH/SH	AURANGABAD	Rural	80	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
63	Village Pisadevi, Tal Aurangabad not on NH/SH	AURANGABAD	Rural	90	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
64	Village Vihamandwa, Tal Paithan not on NH/SH	AURANGABAD	Rural	80	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
65	Village Wakad, Taluka Kannad	AURANGABAD	Rural	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
66	Vill Balanagar, Tal Paithan not on NH/SH	AURANGABAD	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
67	Vill Narayanpur BK, Tal Gangapur not on NH/SH	AURANGABAD	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
68	Village Kate Pimpalgaon, Tal Gangapur not on NH/SH	AURANGABAD	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
69	Village Warud Kazi, Tal Aurangabad, not on NH/SH	AURANGABAD	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
70	Village Sawangi (Lasur), Tal Gangapur not on NH/SH	AURANGABAD	Rural	55	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
71	KUSLAMB RURAL, TALUKA PATODA (NOT ON NH/SH)	BEED	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
72	BETWEEN VILL-ASHTI AND VILLAGE-LOBHI ON MDR1, TAL-TUMSAR	BHANDARA	Rural	95	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
73	At village Mera Bk, Taluka Chikhli not on SH or NH	BULDHANA	Rural	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
74	BETWEEN CHUNALA VILLAGE tO RAJURA TOWN, TEHSIL RAJURA, DISTRICT CHANDRAPUR (NOT ON NH/SH)	CHANDRAPUR	Rural	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
75	Village Songir (Not on NH/SH) At Village Rohini, Taluka Shirpur (not on	DHULE	Rural	76	OPEN	CC	35	35	1225	16	6	Bidding	10	4
76	NH/SH) In village Raver, Taluka Dhule (Not on	DHULE	Rural	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
77	NH/SH) In Nardana Village, Taluka Sindkheda (Not	DHULE	Rural	76	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
78	on NH/SH) At village Ajande Bk, Taluka Shirpur (Not on	DHULE	Rural	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
79	NH/SH)	DHULE	Rural	75	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
80	In Village Kusumba, taluka Dhule (Not on NH/SH)	DHULE	Rural	75	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
81	In Malpur village, Taluka Sindhkheda (not on NH/SH)	DHULE	Rural	80	OPEN PH	DC	35	35	1225	16	35	Draw of Lots	5	4
82	VILLAGE PALORA, TEHSIL - ARMORI (NOT ON NH/SH)	GADCHIROLI	Rural	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
83	ALAPALLI VILLAGE, TEHSIL AHERI, DISTRICT GADCHIROLI (NOT ON NH/SH)	GADCHIROLI	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
84	KOTGAL VILLAGE, TEHSIL GADCHIROLI, DISTRICT GADCHIROLI (NOT ON NH/SH)	GADCHIROLI	Rural	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
85	MURANDA VILLAGE, TEHSIL DHANORA, DISTRICT GADCHIROLI (NOT ON NH/SH)	GADCHIROLI	Rural	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
86	VAIRAGAD VILLAGE, TEHSIL ARMORI, DISTRICT GADCHIROLI (NOT ON NH/SH)	GADCHIROLI	Rural	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
87	PANDHARI BHATAL VILLAGE, TEHSIL CHAMORSHI, DISTRICT GADCHIROLI (NOT ON NH/SH)	GADCHIROLI	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
88	AT VILLAGE-NAVEGAON ON GONDIA- PARASWADA ROAD, TAL-GONDIA	GONDIA	Rural	110	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
89	At Village Ainpur, Taluka Raver, Distt Jalgaon (not on NH/SH)	JALGAON	Rural	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
90	From Shahid Abdul Hamid Chowk,Raver to Rasalpur on Rasalpur Rd beyond raver city limit not on NH/SH	JALGAON	Rural	96	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
91	Within 3.5 KM from Nagardeola Railway Station towards Nagardeola on RHS on Nagardeola Station Road	JALGAON	Rural	75	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
92	AT VILLAGE UKKADGAON TALUKA GHANSAVANGI DIST - JALNA (NOT ON SH / NH)	JALNA	Rural	65	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
93	VILLAGE BHARAJ BUDRUK TALUKA JAFRABAD DIST- JALNA (NOT ON NH/SH)	JALNA	Rural	65	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
94	VILLAGE KHAMGAON TALUKA BADNAPUR DIST JALNA (NOT ON SH & NH)	JALNA	Rural	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
95	AT VILLAGE ROHILAGAD ON AMBAD ROHILAGAD ROAD TALUKA AMBAD DIST JALNA (NOT ON NH/SH)	JALNA	Rural	62	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
96	Village - Basarge, Taluka - Chandgad	KOLHAPUR	Rural	77	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
97	Village -Daryache Vadgaon, Taluka-Karveer on Kolhapur Gargoti road	KOLHAPUR	Rural	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
98	Village-Manpadle, Taluka-Hathkanangale On Ambapwadi-Manpadle Road	KOLHAPUR	Rural	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
99	Village-Savatwadi, Taluka-Radhanagari	KOLHAPUR	Rural	80	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
100	Village-Kabnur, Taluka-Hathkanangale On Ichalkaranji-Chandur Road	KOLHAPUR	Rural	90	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
101	Village-Shahapur, Taluka-Hathkanangale On MDR No. 31 Shahapur-Yadrav Road Within 3 KM from Chhatrapati Sambhaji	KOLHAPUR	Rural	95	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
102	Maharaj Chowk towards Gokul Circle on either Side	KOLHAPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
103	Village-Bachani, Taluka-Kagal	KOLHAPUR	Rural	80	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
104	Village-Jainapur, Taluka-Shirol On MDR No. 84 Jainapur-Tamdalage Road	KOLHAPUR	Rural	95	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
105	Village-Sangrul, Taluka-Karveer	KOLHAPUR	Rural	80	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
106	Village-Shirgaon, Taluka-Radhanagari on MDR No. 29 Shirgaon-Bhogavati-Kolhapur Road	KOLHAPUR	Rural	85	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
107	Village-Katebhogaon, Taluka-Panhala on MDR No. 78 Katebhogaon-Kale Road	KOLHAPUR	Rural	80	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
108	From Village-Takliwadi to Village-Takli , Taluka-Shirol on MDR No. 92	KOLHAPUR	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
109	Village - Wathar Tarf Udgaon, Taluka - Hathkanangale On Khochi - Buvache Wathar Road	KOLHAPUR	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
110	Village -Hosur, Taluka - Chandgad	KOLHAPUR	Rural	85	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
111	Village-Alas, Taluka-Shirol On MDR No. 23 Narsoba Wadi-Kagwad Road	KOLHAPUR	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
112	Village-Kapashi, Taluka-Kagal on MDR No. 53 Kapashi-Gargoti Road	KOLHAPUR	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
113	Village-Mudshingi, Taluka-Karveer on MDR No. 100 Chinchwad-Mudshingi Road	KOLHAPUR	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
114	Village-Nandgaon, Taluka-Karveer on MDR No. 30 Nandgaon-Kolhapur Road	KOLHAPUR	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
115	Village-Sule, Taluka-Panhala	KOLHAPUR	Rural	85	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
116	Village-Tardal, Taluka-Hathkanangale on MDR No. 84 Tardal-Shahapur Road	KOLHAPUR	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
117	Within 3 KM From Gurudatta sugar factory towards Majrewadi on MDR 92	KOLHAPUR	Rural	56	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
118	Village - Karve, Taluka - Chandgad	KOLHAPUR	Rural	77	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
119	Within 5 KM from Sant Rohidas Chowk at Kagal towards Kasaba Sangaon on MDR-88 on either side	KOLHAPUR	Rural	70	OPEN PH	DC	35	35	1225	16	35	Draw of Lots	5	4
120	Village Bori Taluka Latur	LATUR	Rural	85	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
121	Village Sakol Taluka Shirur Ananthpal	LATUR	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
122	Village Talani Taluka Renapur	LATUR	Rural	85	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
123	WITHIN 2KM FROM SANT TAPKIRI MAHARAJ MANDIR AT VILLAGE KHAPRI(KHURD) TOWARDS FUN-N-FOOD R.H.S	NAGPUR	Rural	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
124	AT VILLAGE - SAYGAON, BETWEEN SAYGAON PHATA TO BOTEJHARI (NOT ON SH), TAL-BHIWAPUR	NAGPUR	Rural	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
125	AT VILLAGE BICHAWA ON SIRONJ TO SINDEWANI ROAD	NAGPUR	Rural	131	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
126	AT VILLAGE GHORPAD, TAL KAMPTI, ON PAWANGAON TO KAMPTI ROAD	NAGPUR	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
127	AT VILLAGE SAWANGI (NOT ON NH/SH), TAL. KALMESHWAR	NAGPUR	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
128	AT VILLAGE-HALADGAON ON MDR, TAL- UMRED	NAGPUR	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
129	AT VILLAGE-VELA HARISHCHANDRA, TAL- NAGPUR RURAL	NAGPUR	Rural	118	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
130	FROM BUTIBORI MIDC GATE (BELOW NH44 FLYOVER) TO BUTIBORI MIDC POLICE STATION(NOT ON NH/SH)	NAGPUR	Rural	235	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
131	VILLAGE-KOTEWADA (NOT NH/SH), TALUKA - HINGNA	NAGPUR	Rural	75	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
132	VILLAGE-CHIKANA TO VILLAGE- HUDKESHWAR KHURD ON MDR, TAL- NAGPUR RURAL, DISTRICT - NAGPUR	NAGPUR	Rural	52	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
133	Village Arli Taluka Biloli Not on NH/ SH	NANDED	Rural	85	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
134	Village- Islapur Taluka Kinwat Not on NH/SH	NANDED	Rural	80	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
135	Village- Umri Taluka Kinwat Not on NH/SH	NANDED	Rural	96	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
136	Village- Gopalchavdi Taluka Nanded Not on NH/SH	NANDED	Rural	105	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
137	Village Kamari Taluka Himayatnagar Not on NH/SH	NANDED	Rural	75	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
138	Village Malkautha Taluka Mudkhed Not on NH/SH	NANDED	Rural	80	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
139	Village Marwali Taluka Naigaon Not on NH/SH	NANDED	Rural	80	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
140	Village Diwashi Bk. Taluka Bhokar Not on NH/SH	NANDED	Rural	70	OBC PH	DC	35	35	1225	16	35	Draw of Lots	5	3
141	Village Barbada Taluka Naigaon (Khairgaon) Not on NH/ SH	NANDED	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
142	Village- Karkheli, Taluka Dharmabad Not on NH/SH	NANDED	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
	1, 2			I	1	l	1			I	l			

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION L	IMITED				
s.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
143	Village Kurla Taluka Kandhar Not on NH/SH	NANDED	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
144	Village Pethwadaj Taluka Kandhar Not on NH/ SH	NANDED	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
145	Village- Sagroli Taluka Biloli Not on NH/SH	NANDED	Rural	95	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
146	Village Sawargaon Nasarat Taluka Loha Not on NH/SH	NANDED	Rural	95	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
147	Village- Sujlegaon Taluka Naigaon Not on NH/SH	NANDED	Rural	76	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
148	Village- Talni Taluka Hadgaon Not on NH/SH	NANDED	Rural	77	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
149	Village Yevti Taluka Mukhed Not on NH/SH	NANDED	Rural	55	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
150	Village- Narangal Bk. Taluka Degloor Not on NH/SH	NANDED	Rural	90	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
151	Village- Ritha Taluka BHokar Not on NH/SH	NANDED	Rural	80	OPEN CC 2	DC	35	35	1225	16	35	Draw of Lots	5	4
152	In Mhasawad, Shahada Taluka (Not on NH/SH)	NANDURBAR	Rural	105	OBC	СС	35	35	1225	16	6	Bidding	10	3
153	In village Maloni, Outside Shahada Municipal Corporation Limits (Not on NH/SH)	NANDURBAR	Rural	110	OPEN	СС	35	35	1225	16	6	Bidding	10	4
154	In village Khed, Taluka Shahada (Not on NH/SH)	NANDURBAR	Rural	150	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
155	Within Limits of Chandanpuri (Taluka Malegaon) not on NH/SH	NASHIK	Rural	70	OBC	СС	35	35	1225	16	6	Bidding	10	3
156	Within Limits of Village Chichondi Khurd (Taluka Yeola) Dist Nashik not on NH/SH	NASHIK	Rural	60	OBC PH	СС	35	35	1225	16	6	Bidding	10	3
157	at village Bhanwad, Dindori	NASHIK	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
158	from Village Kanashi to Mohbari on either side of MDR 53	NASHIK	Rural	80	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
159	From Village Mundhegaon to Village Aswali, within 5kms from Mundhegaon, on either side on MDR	NASHIK	Rural	80	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
160	at Dindori Peth Link Road either side on MDR 38	NASHIK	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
161	at Kalwan Lohoner Road either side on MDR 11	NASHIK	Rural	100	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
162	from Otur to Kalwan on either side of Wani Kalwan Link Road	NASHIK	Rural	100	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
163	at Dhanore village, Niphad	NASHIK	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
164	at Jaydar, on either side of Jaydar Kathare Road, Kalwan	NASHIK	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION L	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
165	At Village Chandashi, Taluka Nashik	NASHIK	Rural	130	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
166	at village Kothure on Niphad Road, Niphad	NASHIK	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
167	From Sogras Phata on NH 3 to Shelu towards Deola on Nashik Deola Road	NASHIK	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
168	From Village Taked to village Wasali on MDR 25 on either side of the road	NASHIK	Rural	105	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
169	Koshimbe village, Dindori	NASHIK	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
170	Within Limits of Village Vadner Bhairav (Taluka Chandwad) Not on NH/SH	NASHIK	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
171	Village Khadangli, Taluka Sinnar	NASHIK	Rural	85	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
172	AT VILLAGE SHELGAON ON SHELGAON TO KALEWADI ROAD, TAL PARANDA	OSMANABAD	Rural	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
173	WITHIN 2 KMS OF ANDUR BUS STOP, VILLAGE ANDUR, TAL TULJAPUR	OSMANABAD	Rural	60	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
174	Village Ida Taluka Bhoom	OSMANABAD	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
175	Village Kondjigad Taluka Lohara	OSMANABAD	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
176	Shirgaon Village, Palghar Taluka	PALGHAR	Rural	45	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
177	AT VILLAGE WALUR TALUKA SELU DIST - PARBHANI (NOT ON NH/SH)	PARBHANI	Rural	78	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
178	On Koregaon Bhima-Vadhu Budruk- Choufulla road	PUNE	Rural	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
179	VILLAGE WAFGAON, ON RAJGURUNAGAR- WAFGAON ROAD, TALUKA KHED, PUNE	PUNE	Rural	80	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
180	From Rahu to Yawat	PUNE	Rural	75	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
181	On Lakadi-Nirgude-Shetphalgade road	PUNE	Rural	90	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
182	On Lakhewadi-Nira bhima sugar factory-Kati road	PUNE	Rural	110	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
183	SATESAI VILLAGE, MULSHI TALUKA, PUNE	PUNE	Rural	130	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
184	FROM ALANDI TO SHELGAON ON ALANDI- SHELGAON ROAD	PUNE	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
185	From Songaon To Gunwadi On Songaon Baramati Road, Taluka Baramati	PUNE	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
186	KADADHE VILLAGE, MAWAL TALUKA, PUNE	PUNE	Rural	155	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
187	On Donje to Panshet Road	PUNE	Rural	140	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
188	On Koregaon Bhima-Dingrajwadi-Dhanore road	PUNE	Rural	75	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
189	Village-Ganegaon Khalsa on Shikrapur- Malthan road	PUNE	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
190	Village-Pimpalgaon, Tal-Khed	PUNE	Rural	200	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
191	Within 6 Kms from Karegaon, not on NH/SH	PUNE	Rural	100	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
192	In and Around 2 Km of Urse Village, Mawal Taluka, Pune (Not on NH/SH)	PUNE	Rural	65	OPEN CC 2	DC	35	35	1225	16	35	Draw of Lots	5	4
193	From Karbude Phata to Village Mirjole Taluka Ratnagiri on Karbude Phata- Ratnagiri Road	RATNAGIRI	Rural	95	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
194	From Village Fanasu to Village Asond On Vakavli-Karanjali Road	RATNAGIRI	Rural	90	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
195	Village -Harne Taluka Dapoli (Not on NH/SH)	RATNAGIRI	Rural	90	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
196	Within 5 KM From Late Tanajirao Balkrishna More Chowk Towards Khed On Khed- Bharwali Road	RATNAGIRI	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
197	AT VILLAGE ANKALGI, TALUKA JATH	SANGLI	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
198	AT VILLAGE YEDENIPANI, TALUKA WALWA	SANGLI	Rural	70	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
199	AT VILLAGE LINGIVARE, TALUKA ATPADI	SANGLI	Rural	70	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
200	AT VILLAGE SHIRGAON, TALUKA KADEGAON	SANGLI	Rural	80	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
201	ON LHS, WITHIN 2 KM FROM CHINCHANI AMBAK POLICE STATION TOWARDS TADSAR	SANGLI	Rural	80	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
202	AT VILLAGE MADGULE, TALUKA ATPADI	SANGLI	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
203	ON LHS, WITHIN 2KM FROM KUMATHE PHATA TOWARDS KUMATHE VILLAGE ON MDR 40	SANGLI	Rural	75	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
204	Within 3KM from NH-48 junction on Karad - Dhebewadi Road	SATARA	Rural	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
205	Village Rajale On Phaltan Rajale Road	SATARA	Rural	60	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
206	Within 5KM of Village Bamnoli on Kas - Mahabaleshwar Road (Not on NH/SH)	SATARA	Rural	70	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
207	Within 5 KM from Pratapgad Sugar Factory , on Kudal to Medha Road(Taluka-Jaoli) NOT ON NH/SH	SATARA	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
208	From Pargaon To Asawali On Khandala Bhor Road	SATARA	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
	<del></del>		-		-				-	-				

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALEI	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
209	Within 2KM from Jarandeshwar Sugar Factory (Not on NH/SH)	SATARA	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
210	Within 3KM from Kisanveer Sugar Factory (Not on NH/SH)	SATARA	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
211	Within 5 KM From Jakat Naka at Kudal Towards Malvan On Kudal -Malvan Road	SINDHUDURG	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
212	AT VILLAGE SHETPHAL, TAL. KARMALA	SOLAPUR	Rural	90	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
213	WITHIN 4 KMs OF VILLAGE HINGANI TOWARDS VAIRAG ON HINGANI VAIRAG ROAD, TALUKA BARSHI	SOLAPUR	Rural	70	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
214	WITHIN 2 KMS FROM WADACHIWADI GRAM PANCHAYAT OFFICE ON WADACHIWADI KONEHRI ROAD,TAL MOHOL	SOLAPUR	Rural	50	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
215	WITHIN 1 KM FROM VIDI GHARKUL POLICE STATION, DIST SOLAPUR	SOLAPUR	Rural	85	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
216	Within 2 KM from Hotgi toll towards Hotgi Railway Station on either side	SOLAPUR	Rural	75	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
217	WITHIN 2 KM FROM V P SUGARS MAIN GATE NOT ON NH AND SH, TAL. AKKALKOT	SOLAPUR	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
218	WITHIN 2 KM FROM VIJAYNAGAR CHOWK TOWARDS KUMBHARI ON OLD KUMBHARI ROAD DIST SOLAPUR	SOLAPUR	Rural	75	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
219	WITHIN DAPODE GRAM PANCHAYAT LIMITS, NOT ON NH OR SH	THANE	Rural	200	ОВС	СС	35	35	1225	16	6	Bidding	10	3
	BETWEEN KHONI PAGADYACHA PADA AND USTANE VILLAGE ON RHS OF KHONI TALOJA ROAD	THANE	Rural	200	OPEN	СС	35	35	1225	16	6	Bidding	10	4
1 221	BETWEEN CHIRAD VILLAGE AND USTANE VILLAGE ON LHS OF KHONI - TALOJA ROAD	THANE	Rural	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
222	BETWEEN VILLAGE-MANDAVGAD AND VILLAGE-CHICHALA ON MDR21, TAL- WARDHA, DISTRICT-WARDHA	WARDHA	Rural	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
223	village Wara Jahangir Teh: Washim	WASHIM	Rural	30	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
224	village Chichamba Bhar Tehsil Risod	WASHIM	Rural	42	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
225	village Netanasa Tehsil Risod	WASHIM	Rural	45	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
226	village Jaulka Tehsil Malegaon	WASHIM	Rural	35	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
227	village Kinhiraja Tehsil Malegaon	WASHIM	Rural	49	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	LIMITED				
s.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
228	village Rithad Tehsil Risod	WASHIM	Rural	34	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
229	village Tondgaon Tehsil Washim	WASHIM	Rural	28	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
230	village Ansing Tehsil Washim	WASHIM	Rural	34	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
231	village Bhar jahagir Tehsil Risod	WASHIM	Rural	34	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
232	village Gowardhan tehsil Risod	WASHIM	Rural	35	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
233	village Kenwad Tehsil Risod	WASHIM	Rural	55	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
234	village Loni Bk Tehsil Risod	WASHIM	Rural	28	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
235	village Sawargaon Jire Tehsil Washim	WASHIM	Rural	32	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
236	village Shirpur Tehsil Malegaon	WASHIM	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
237	village Wakad Tehsil Risod	WASHIM	Rural	44	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
238	VILLAGE Antargaon, Teshil: Ralegaon	YAVATMAL	Rural	55	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
239	village Bhojla, Teh: Pusad	YAVATMAL	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
240	WITHIN 1KM FROM SUKKUR CHOWK TOWARDS NEPTI PHATA, ON LHS OF NEW TILAK ROAD, WML AHMEDNAGAR CITY	AHMEDNAGAR	Regular	160	OBC	СС	30	30	900	32	12	Bidding	30	4
	FROM ARANGAON TO KOLGAON ON LHS OF NH 160, WHILE MOVING FROM NAGAR TOWARDS DAUND	AHMEDNAGAR	Regular	160	ОВС	СС	35	35	1225	32	12	Bidding	30	4
I	BETWEEN KM STONE NO 206 TO KM STONE NO 208, ON LHS WHILE MOVING FROM NAGAR TOWARDS KALYAN ON NH61	AHMEDNAGAR	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1	From KM Stone No. 145 to KM Stone No. 155 on LHS towards Nashik, on NH60, Tal. Sangamner	AHMEDNAGAR	Regular	170	OPEN	СС	35	35	1225	32	12	Bidding	30	5
244	From Sawalivihir Phata to Entry of Samruddhi Mahamarg Interchange on LHS towards Kopargaon on NH	AHMEDNAGAR	Regular	190	OPEN	СС	35	35	1225	32	12	Bidding	30	5
245	Within 2.5 km radius of Shirdi Sai Baba Temple, On Ahmednagar-Manmad Highway	AHMEDNAGAR	Regular	180	OPEN	СС	35	35	1225	32	12	Bidding	30	5
246	WITHIN 2KM FROM ADARSH HOTEL NIMBLAK TOWARDS NEPTI ONION MARKET, ON RHS OF AHMEDNAGAR BYPASS HIGHWAY	AHMEDNAGAR	Regular	210	OPEN	СС	35	35	1225	32	12	Bidding	30	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
247	WITHIN 3KM FROM KENDRIYA VIDYALAYA NO.2 MIRC TOWARDS AHMEDNAGAR, ON NAGAR- SOLAPUR HIGHWAY (NH561A)	AHMEDNAGAR	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
248	WITHIN 3KM FROM NEEL HOTEL KEDGAON TOWARDS NEPTI, ON LHS OF AHMEDNAGAR BYPASS ROAD	AHMEDNAGAR	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
249	Within 4 km radius of Babhaleshwar Phata, on LHS towards Shirdi, on Ahmednagar- Manmad Highway	AHMEDNAGAR	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
250	FROM WALUNJ TO ARANGAON, ON LHS OF NEW NAGAR BYPASS HIGHWAY CONNECTING NH561A AND NH160	AHMEDNAGAR	Regular	150	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
251	FROM PATRAKAR CHOWK TO HOTEL LEMON SPICE ON EITHER SIDE OF NAGAR- MANMAD ROAD, WML AHMEDNAGAR CITY	AHMEDNAGAR	Regular	140	OPEN	сс	35	35	1225	32	12	Bidding	30	5
252	Within 2 km from Sakur Chaufali towards Pimpalgaon Depa, on Sakur-Pimpalgaon Depa Highway	AHMEDNAGAR	Regular	120	OPEN	СС	35	35	1225	32	12	Bidding	30	5
253	ON EITHER SIDE OF TAPOVAN ROAD, WITHIN 2KM FROM BISTABAG MAHAL, WML AHMEDNAGAR CITY	AHMEDNAGAR	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
254	Within Kopargaon City Municipal Limits (Not on NH/SH)	AHMEDNAGAR	Regular	180	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
255	WITHIN MUNICIPAL LIMIT OF SHRIGONDA TOWN (NOT ON NH/SH)	AHMEDNAGAR	Regular	160	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
256	BETWEEN NANDGAON TO DEHRE, ON EITHER SIDE OF NH160	AHMEDNAGAR	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
257	FROM MIDC NAGAPUR ROAD JUNCTION (NIMBLAK CHOWK) TO HOTEL K9 KEDGAON,ON LHS OF AHMEDNAGAR BYPASS ROAD	AHMEDNAGAR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
258	WITHIN 3KM FROM HOTEL SMILESTONE TOWARDS PUNE, ON RHS OF NH753F	AHMEDNAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
259	FROM GHODEGAON TO NEWASA PHATA, ON LHS OF NH753F, WHILE MOVING FROM GHODEGAON TOWARDS NEWASA	AHMEDNAGAR	Regular	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
260	Within 5 km from Ghargaon River Bridge, on LHS while going from Nashik to Pune, on NH60	AHMEDNAGAR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
261	WITHIN 5KM FROM NEEL HOTEL KEDGAON TOWARDS ARANGAON, ON LHS OF NEW AHMEDNAGAR BYPASS	AHMEDNAGAR	Regular	170	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
262	From Vambhori Phata to Rahuri ST Bus Stand on LHS towards Shirdi, on Ahmednagar-Manmad Highway	AHMEDNAGAR	Regular	150	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
263	From Mhaisgaon Vill. to Gadadhe Akhada Vill., On Varvandi-Taharabad-Rahuri Highway, Tal. Rahuri	AHMEDNAGAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
264	From Rajur Village to Manhere Village, On Highway, Tal. Akole	AHMEDNAGAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
265	FROM TAKLI KAZI TO BHATODI PARGAON ,ON TAKLI KAZI-DAULAWADGAON- DHAMANGAON STATE HIGHWAY	AHMEDNAGAR	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
266	VILLAGE BHAMBORE, TEHSIL KARJAT, ON SH 67	AHMEDNAGAR	Regular	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
267	Within 3 km radius of Akole Bus Stand, on Akole-Sangamner Highway	AHMEDNAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
268	From Khanapur Village to Tambhol Village, Tal. Akole, On Akole-Sinnar Highway	AHMEDNAGAR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
269	From Panoli to Ralegan Siddhi Village, on Parner- Ralegan Siddhi- Shirur Road	AHMEDNAGAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
270	WITHIN 2KM FROM SHRI SHANI SHINGNAPUR RURAL HOSPITAL TOWARDS SONAI, ON GHODEGAON- SONAI ROAD	AHMEDNAGAR	Regular	140	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
271	From Derde Phata to Velapur Zila Parishad Primary School, On State Highway, Tal. Kopargaon	AHMEDNAGAR	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
272	FROM CHANAKYA CHOWK TO HOTEL YASH PALACE ON KOTHI-YASH PALACE ROAD, WML AHMEDNAGAR CITY	AHMEDNAGAR	Regular	140	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
273	ON EITHER SIDE OF BALIKASHRAM ROAD, FROM SIDDHI BAAG TO RAJBHOG SWEET SHOP, WML AHMEDNAGAR CITY	AHMEDNAGAR	Regular	140	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
274	WITHIN 2KM FROM SHRINATH HOTEL TOWARDS SONEWADI,ON EITHER SIDE OF SONEWADI ROAD, WML AHMEDNAGAR CITY	AHMEDNAGAR	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
275	Within Rahuri Town Municipal Limits, Not on NH/SH	AHMEDNAGAR	Regular	110	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
276	Within Shirdi Town Municipal Limits, Not on NH/SH	AHMEDNAGAR	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
277	Between Parner bus stand and khandeshwar hotel, on Parner-Bhawani road, WML Parner town	AHMEDNAGAR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
278	FROM HOTEL RANGOLI KEDGAON TO IMA BHAVAN ON LINK ROAD, WML AHMEDNAGAR CITY	AHMEDNAGAR	Regular	105	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
279	WITHIN MUNICIPAL LIMIT OF NEWASA TOWN (NOT ON NH/SH)	AHMEDNAGAR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
280	Within Rahata Town Municipal Limits, Not on NH/SH	AHMEDNAGAR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUN	ORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			rranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
281	Within Sangamner City Municipal Limits (Not on NH/SH)	AHMEDNAGAR	Regular	140	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
282	Within Shrirampur City Municipal Limits, Not on NH/SH	AHMEDNAGAR	Regular	180	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
283	WML AHMEDNAGAR CITY, NOT ON NH/SH	AHMEDNAGAR	Regular	140	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
284	From Godavari River Bridge to Entry of Samruddhi Mahamarg Interchange on LHS towards Shirdi, on NH	AHMEDNAGAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
285	From KM Stone No. 102 to KM Stone No. 104 on LHS towards Nashik, on NH60, Dist. Ahmednagar	AHMEDNAGAR	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
286	From Mahatma Phule Chowk to Shri Dhokeshwar college Takli Dhokeshwar, on LHS of NH61	AHMEDNAGAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
287	From Sai Palkhi Nivara Gate to Sawalivihir Phata on LHS towards Kopargaon, On NH	AHMEDNAGAR	Regular	180	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
288	FROM SONAI TO VANJARWADE, ON LHS OF NH 160C WHILE MOVING FROM SONAI TOWARDS VANJARWADE	AHMEDNAGAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
289	FROM SURBHI HOSPITAL TO SHENDI BYPASS CHOWK, ON LHS OF NH75F	AHMEDNAGAR	Regular	300	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
290	WITHIN 2KM FROM ABHIJEET MANGAL KARYALAY KAMARGAON TOWARDS SHIRUR, ON LHS OF NH 753-F	AHMEDNAGAR	Regular	230	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
291	WITHIN 3KM FROM SHANI SHIGNAPUR TEMPLE TOWARDS SHANISHIGNAPUR GRAMPANCHAYAT KARYALA,ON LHS OF NH160C	AHMEDNAGAR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
292	From Puntamba Phata to Dahegaon Bolka Village, On NH, Tal. Kopargaon	AHMEDNAGAR	Regular	160	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
293	From Rahata Police Station to Vambhori Phata on LHS towards Ahmednagar,on Nagar-Manmad Highway	AHMEDNAGAR	Regular	180	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
294	From Exit of Samruddhi Mahamarg Interchange to Sai Palkhi Nivara Gate on LHS towards Shirdi on NH	AHMEDNAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
295	FROM GHODEGAON TO PANDHARICHAPOOL, ON LHS OF NH753F WHILE MOVING FROM GHODEGAON TOWARDS AHMEDNAGAR	AHMEDNAGAR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
296	FROM NEEL HOTEL TO KINETIC CHOWK, ON LHS OF PUNE-NAGAR HIGHWAY WHILE MOVING FROM PUNE TOWARDS NAGAR	AHMEDNAGAR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
297	From Nighoj Village to Junction of Nagar- Pune Road & Nighoj-Shirur Road, On Nighoj- Shirur NH	AHMEDNAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
298	FROM NIMGAON DAKU TO CHAPADGAON, ON LHS OF NAGAR TO SOLAPUR HIGHWAY (NH561A)	AHMEDNAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
299	FROM SAROLA BADDI TO SHAHAPUR, ON NEW LHS OF NEW NAGAR BYPASS ROAD	AHMEDNAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
300	FROM SHENDI BYPASS CHOWK TO DSP CHOWK, ON LHS OF NH753F, WHILE MOVING FROM SHENDI TOWARDS DSP CHOWK.	AHMEDNAGAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
301	FROM VRDE CHOWK TO HOTEL NEEL KEDGAON, ON LHS OF AHMEDNAGAR- PUNE HIGHWAY	AHMEDNAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
302	NIMBODI TO JALGAON, ON SHRIGONDA- JAMKHED HIGHWAY (NH 548D)	AHMEDNAGAR	Regular	154	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
303	WITHIN 2KM FROM SHRI CHHATRAPATI SHIVAJI SCHOOL GHOGARGAON TOWARDS AHMEDNAGAR, ON LHS OF NH561A	AHMEDNAGAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
304	WITHIN 3KM FROM HOTEL MAHINDRA NARAYANGAVAHAN TOWARDS AHMEDNAGAR, ON LHS NH753F	AHMEDNAGAR	Regular	280	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
305	WITHIN 4 KM FROM HOAL TOWARDS AMBEJOGAI ON KAIJ-AMBEJOGAI HIGHWAY	AHMEDNAGAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
306	Within 5 km radius of Talegaon Dighe Chowk, on Kolhar-Nandur Shingote National Highway	AHMEDNAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
307	WITHIN 3KM FROM FUTURE CITY SUPA TOWARDS PUNE ON LHS OF AHMEDNAGAR- PUNE HIGHWAY (NH753F)	AHMEDNAGAR	Regular	180	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
308	FROM VRDE CHOWK TO MALIWADA BUS STAND ON EITHER SIDE OF PUNE-NAGAR ROAD	AHMEDNAGAR	Regular	220	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
309	FROM GHODEGAON TO KUKANA, ON EITHER SIDE OF GHODEGAON-CHANDA- KUKANA ROAD	AHMEDNAGAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
310	ON LHS OF SHENDI BYPASS ROAD, WHILE MOVING FROM POKHARDI TOWARDS NAGAPUR	AHMEDNAGAR	Regular	170	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
311	Within 4.5 km from Shirdi Sai Baba Temple, On Shirdi Airport Highway	AHMEDNAGAR	Regular	180	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
312	From Wasunde Village to Khadakwadi Village, on Sakur-Khadakwadi-Takli Dhokeshwar Road	AHMEDNAGAR	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
313	BETWEEN KM STONE NO. 10 TO KM STONE NO. 12, ON PATHARDI -MOHATE-KARODI ROAD	AHMEDNAGAR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	LIMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
314	From Delhi Naka to Vadgaonpan Phata, On Sangamner-Loni Highway	AHMEDNAGAR	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
315	From Kotul Vill. to Brahmanwada Vill., On Kotul-Brahmanwada Highway	AHMEDNAGAR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
316	From MSEB 132 KV Sangamner Sub-Station to SMBT Dental Hospital towards Nashik, on Highway	AHMEDNAGAR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
317	WITHIN 2KM FROM DR. VIKHE PATIL INSTITUTE TOWARDS VILAD ON RHS OF NAGAR MANMAD HIGHWAY (OLD SH10)	AHMEDNAGAR	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
318	WITHIN 2KM FROM HOTEL JAYRAJ BHANASHIVARA TOWARDS KUKANA, ON LHS OF BHANISHIVARA-KUKANA ROAD	AHMEDNAGAR	Regular	200	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
319	Within 4 km radius of Mahatma Gandhi Statue of Shrirampur City, on Highway	AHMEDNAGAR	Regular	200	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
320	From Puntamba Vill. to Nimgaon Khairi Vill., On Kopargaon-Shrirampur Highway	AHMEDNAGAR	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
321	From Kalas Vill. to Indraprastha Lawns, on Akole-Kalas-Sangamner Highway, on LHS towards Sangamner	AHMEDNAGAR	Regular	100	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
322	Between km stone - 10 km and km stone -15 km on NH-161 on RHS while moving from Akola towards Patur	AKOLA	Regular	160	OPEN	CC	35	35	1225	32	12	Bidding	30	5
202	On NH161 LHS from from village Chinchkhed Patur to village Gondhalwadi	AKOLA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
324	Between village Bhabhulgaon and village Deulgaon on NH161G on LHS while moving towards Patur	AKOLA	Regular	180	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
325	Between village Kurankhed and village Anbhora on NH53 on either side	AKOLA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
326	At Dabki Road, Akola City	AKOLA	Regular	120	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
327	On harihar peth road, Akola city	AKOLA	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
	Within 3 km from Dr. Panjabrao Deshmukh Krishi Vidyapeth (PKV) College on Akola Murtijapur road.	AKOLA	Regular	150	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
329	Within 500 mtr from Civil Line Chowk in Akola city	AKOLA	Regular	150	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
330	Within a radius of 3 km from Tukaram chowk, Akola city	AKOLA	Regular	130	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
331	On NH53 Akola Bypass- from village Khadki Budruk (Bk) to village Shivni on LHS	AKOLA	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
227	Between Murtijapur town and village Hatgaon on NH361C on either side.	AKOLA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALEI	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh)			
333	On NH 161A between village Tiwasa Bk and village Mahan on either side.  Within 3 km from Village Lohara towards	AKOLA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
334	Shegaon on NH548C, on LHS moving from Lohara to Shegaon	AKOLA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
335	Within 6 km from intersection of NH161A and SH280 towards Akot on NH161A on LHS	AKOLA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
336	Between village Chikhalgaon and village shirla on NH161 on LHS while moving towards Patur	AKOLA	Regular	160	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
337	Between village Dahigaon and village Dhotardi on Akola Murtijapur Road on SH	AKOLA	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	Between village Kharab Budruk and village Ghusar on SH280 on RHS from Akola towards Mhaisang	AKOLA	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
339	On SH 274 between village pinjar and village Ghota on either side.	AKOLA	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
340	On Sh212 between Murtijapur town and village Lakhpuri on either side	AKOLA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
341	Within 5 km from Akot Civil Court towards Mohala on SH on LHS	AKOLA	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	Within 5 km starting from intersection of NH161A and SH274 towards Pinjar on SH 274 on LHS.	AKOLA	Regular	200	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
343	Within 5 km from intersection of NH161 and old NH6 while moving towards Balapur on old NH6 on LHS	AKOLA	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
344	On SH at village Nimba, Taluka Balapur	AKOLA	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
345	FROM Rajmata Jijau Chowk To Pote Patil Chowk on Kathora Road, WITH AMRAVATI CITY LIMITS	AMRAVATI	Regular	211	OPEN	СС	20	20	545	32	12	Bidding	30	5
346	FROM SAINAGAR GATE (BENAAM CHOWK) to BADNERA POLICE STATION ON SATURNA- BADNERA ROAD	AMRAVATI	Regular	178	OPEN	СС	20	20	545	32	12	Bidding	30	5
347	Within 3 km from Shegaon Naka on Shegaon Rahatgaon road	AMRAVATI	Regular	220	OPEN	СС	20	20	545	32	12	Bidding	30	5
348	WITHIN TOWN LIMITS OF ACHALPUR, NOT ON NH/SH	AMRAVATI	Regular	100	OPEN PH	СС	30	30	900	32	12	Bidding	30	5
349	BETWEEN MILESTONE NO. 46 TO MILESTONE NO. 52 ON NH353J, ON LHS FROM CHANDUR BAZAR TO ACHALPUR	AMRAVATI	Regular	170	OPEN	СС	35	35	1225	32	12	Bidding	30	5
	BETWEEN MILESTONE NO.04 TO MILESTONE NO.08 ON NH353K, ON EITHER SIDE OF THE ROAD	AMRAVATI	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
351	Within 4 km from intersection of SH282 and SH47 in Babhali Daryapur towards Yeoda on SH47	AMRAVATI	Regular	190	OBC	СС	35	35	1225	32	12	Bidding	30	4
352	Within 4 kms Shri dutta mandir sansthan belora on SH 303 towards chandur bazar	AMRAVATI	Regular	150	OPEN PH	СС	35	35	1225	32	12	Bidding	30	5
353	Within 13 km from Anjangaon bus stand on either side of Anjangaon-Akot Highway NH548C	AMRAVATI	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
354	From Village Gavner Talegaon to Village Talegaon Dashasar Junction on NH753C on either side of ROAD	AMRAVATI	Regular	190	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
355	BETWEEN MILESTONE NO.37 TO MILESTONE 45 NH353K, ON EITHER SIDE OF THE ROAD	AMRAVATI	Regular	170	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
356	BETWEEN MILESTONE 295 TO 303 ON MSH14, ON EITHER SIDE OF THE ROAD	AMRAVATI	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
357	From Nandgaon Khandeshwar bus stand to Samruddhi Expressway junction on Either side MSH14	AMRAVATI	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
358	Within 5kms On SH 312 from Lasur Bus stop towards Daryapur, On either side of the road	AMRAVATI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
359	BETWEEN MILESTONE NO. 02 TO MILESTONE NO. 10 ON SH 282, ON ANJANGAON DARYAPUR HIGHWAY	AMRAVATI	Regular	130	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
360	WITHIN 3 KMS FROM MARDA BUS STOP (TAL TIVSA) ON SH 294, ON EITHER SIDE OF THE ROAD	AMRAVATI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
361	WITHIN 3 KMS FROM SHENDURJANA BAZAR BUS STOP (TAL TIVSA) ON SH300 TIVSA KURHA ROAD	AMRAVATI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
362	FROM BADNERA BUS DEPOT Towards NH53 JUNCTION on Saturna-Badnera road within Amravati city limits	AMRAVATI	Regular	178	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
363	From NH53 (OLD NH6) junction till Chhatrapati Sambhaji Square on Amravati ring road	AMRAVATI	Regular	260	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
364	FROM RAHATGAON TO BELLORA ON EITHER SIDE OF NEW BYPASS ROAD NH53 (OLD NH6) OF AMRAVATI CITY	AMRAVATI	Regular	198	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
365	FROM WELCOME POINT TO PRIME PARK HOTEL ON OLD BYPASS ROAD, WITHIN AMRAVATI CITY LIMIT	AMRAVATI	Regular	294	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
366	WITHIN 2 KMS RADIUS FROM SUNDARLAL CHOWK, WITHIN AMRAVATI CITY LIMITS	AMRAVATI	Regular	200	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
367	WITHIN TOWN LIMITS OF DHAMANGAON RAILWAY, NOT ON NH/SH	AMRAVATI	Regular	130	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUM	1 CORPORATION I	IMITED				
s.no	Name of the Location	Revenue District		Estimated monthly Sales Potential (MS+HSD) in Kls		Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)		Minimum Area	Finance to be an	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
368	From Agrasen Chowk Paratwada to MP border on either side of Paratwada-Baitul road on NH543C	AMRAVATI	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
369	On NH53 (Old NH6), within 7 kms from Tivsa Bus Station towards Nagpur on either side of road	AMRAVATI	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
370	WITHIN 10 KMS FROM JAISTAMBH CHOWK MORSHI ON NH353J TOWARDS CHANDUR BAZAR, ON EITHER SIDE OF ROAD	AMRAVATI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
371	Within 3 kms From Jaistambh Chowk, Chandur bazar towards Achalpur on NH353J	AMRAVATI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
372	AT VILLAGE- Shendola Khurd, LHS ON NH53 WHILE MOVING FROM Nagpur towards Amravati, TAL-Tivsa	AMRAVATI	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
373	From Village Belora Hirapur to Village Nagzari on NH53(OLD NH6); on LHS from Akola to Amravati	AMRAVATI	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
374	ON NH53(OId NH6), FROM VILLAGE PIMPALVIHIR TO VILLAGE JAMTHI, ON RHS MOVING FROM TIVSA TO AMRAVATI	AMRAVATI	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
375	On NH53(Old NH6),From Village Sawardi to Village Jamthi,on LHS while moving from Nagpur to Amravati	AMRAVATI	Regular	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
376	WITHIN 5 KMS FROM WARUD BUS STAND TOWARDS MORSHI, NH353K ON EITHER SIDE OF ROAD	AMRAVATI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
377	4 kms from PR Pote Patil College of Engineering and Management Amravati Gate towards Pusad on SH298A	AMRAVATI	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
378	BETWEEN MILESTONE NO. 90 TO MILESTONE NO. 97 ON SH300 FROM DHAMANGAON TO YAVATMAL	AMRAVATI	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
379	BETWEEN MILESTONE NO.35 TO MILESTONE NO.42 ON SH 297, FROM CHANDUR RAILWAY TO TALEGAON DASHASAR	AMRAVATI	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
380	Within 10 km from Daryapur bus stand on either side of Daryapur to Murtizapur highway	AMRAVATI	Regular	160	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
381	WITHIN 10 KM FROM TEHSIL OFFICE DARYAPUR TOWARDS KHOLAPUR, ON EITHER SIDE OF SH47	AMRAVATI	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
382	Within 2kms of Zila Parishad Primary Marathi school, Lontek towards Amravati on SH 280	AMRAVATI	Regular	187	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
	WITHIN 6 KMS FROM ACHALPUR NAKA TOWARDS VILLAGE HARAM ON SH292, ON EITHER SIDE OF THE ROAD	AMRAVATI	Regular	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	BETWEEN MILESTONE NO.24 TO MILESTONE NO.27 ON SH297, ON EITHER SIDE OF THE ROAD	AMRAVATI	Regular	150	ОВС РН	DC	35	35	1225	32	75	Draw of Lots	15	4
	BETWEEN MILESTONE NO.14 TO MILESTONE NO.16 ON SH 297, ON EITHER SIDE OF ROAD	AMRAVATI	Regular	134	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	ON SH298A, 1KM AWAY FROM CHANDUR BAZAR RAILWAY CROSSING TOWARDS VILLAGE BORALA	AMRAVATI	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	Within 3 Kms from Jalu Bus Stop (Tal Nandgaon Khandeswar) towards Amravati on MSH14	AMRAVATI	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
388	WITHIN 3 KMS FROM PARATWADA BUS DEPOT TOWARDS AMRAVATI ON PARATWADA-AMRAVATI HIGHWAY	AMRAVATI	Regular	170	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	Within Milestone no.98 to milestone 105 on SH 280, on either side of road	AMRAVATI	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
390	Golwadi bypass T point to new NH-52 on Golwadi bypass road	AURANGABAD	Regular	170	OPEN	CC	20	20	545	32	12	Bidding	30	5
391	Sundarwadi Chowk to Chikalthana airport on LHS with in AMC Limits	AURANGABAD	Regular	160	OPEN	CC	20	20	545	32	12	Bidding	30	5
392	Deogaon Rangari to Kanadgaon Werul on NH 752H	AURANGABAD	Regular	160	OBC CC 1	CC	35	35	1225	32	12	Bidding	30	4
393	LHS from Fatiyabad to entry of Samruddhi Jambhala interchange on NH 52	AURANGABAD	Regular	190	OPEN	СС	35	35	1225	32	12	Bidding	30	5
	Sawangi Bypass Shivaji Maharaj Chowk to entry of Samruddhi Mahamarg interchange on LHS on NH 753 F	AURANGABAD	Regular	230	OPEN	СС	35	35	1225	32	12	Bidding	30	5
395	WALMI Naka to Zalta on NH-52 on LHS	AURANGABAD	Regular	200	OPEN	CC	35	35	1225	32	12	Bidding	30	5
396	Waluj Bk to AS Club on RHS on Aurangabad- Nagar-Pune road NH753F	AURANGABAD	Regular	240	OPEN	СС	35	35	1225	32	12	Bidding	30	5
397	Within 2 km of Harsul T Point and within AMC Limits	AURANGABAD	Regular	190	ST	CFS	20	20	545	0	0	Draw of Lots	0	3
398	Nandrabad to Khultabad on NH 752H	AURANGABAD	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
399	Waluj Bk to AS Club on LHS on Aurangabad- Nagar-Pune road NH753F	AURANGABAD	Regular	220	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
400	Daultabad to Shernapur Phata on NH 752H	AURANGABAD	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	From Village Kolhi to Shivoor on NH 752H	AURANGABAD	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
4())	On LHS of NH753F, Within 5 KM From Phulambri towards Aurangabad	AURANGABAD	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
403	Sundarwadi to Shendra MIDC Kumbephal Gate on LHS on Jalna road NH 753 A	AURANGABAD	Regular	170	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
404	Bidkin to Porgaon on Bidkin Nilajgaon Porgaon road	AURANGABAD	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
405	ON SH-51 FROM SILLOD BHARADI T POINT TO BHARADI ON EITHER SIDE OF ROAD, TALUKA SILLOD	AURANGABAD	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
406	Siddhanath Wadgaon to Ambewadi on Gangapur-Lasur road	AURANGABAD	Regular	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
407	From Junction of Aurangabad Malegaon road to Bhatana on Shivoor Bungla-Aurala road	AURANGABAD	Regular	140	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
408	Panpohi Fata to Aurala on Panpohi Fata- Aurala road	AURANGABAD	Regular	140	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
409	Within 2KM of Mill corner and within AMC Limits	AURANGABAD	Regular	170	OBC PH	DC	20	20	545	32	75	Draw of Lots	15	4
410	Aurangabad City within AMC Limits	AURANGABAD	Regular	190	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
411	Within 4 km of Deolali chowk and within AMC limits	AURANGABAD	Regular	160	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
412	Paithan town within town Limits not on NH/SH	AURANGABAD	Regular	150	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
413	Within Waluj MIDC Limits not on NH/SH	AURANGABAD	Regular	130	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
414	Khultabad town within town Limits not on NH/SH	AURANGABAD	Regular	130	OPEN CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
415	Within Municipal Limits of Sillod Town not on NH/SH	AURANGABAD	Regular	170	OPEN CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
416	From Samruddhi Jambhala exit to Kasabkheda Phata on LHS on NH-52	AURANGABAD	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
417	LHS from Samruddhi Sawangi interchange to Shivaji Maharaj Chowk-Sawangi Bypass on NH 753 F	AURANGABAD	Regular	230	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
418	ON LHS OF NH753F, WITHIN 5KM FROM NAYAGVHAN PHATA TOWARDS SILLOD	AURANGABAD	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
419	Pategaon bridge to Pachod Fata on Aurangabad-Paithan Highway NH 752E	AURANGABAD	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
420	Vaijapur Post Office to Rotegaon on NH 752H	AURANGABAD	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
421	WALMI Naka to Zalta on NH-52 on RHS	AURANGABAD	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
422	Karodi to AS Club flyover on LHS on NH-52	AURANGABAD	Regular	200	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
423	Dhoregaon to Limbe Jalgaon Toll naka on NH753 F on LHS	AURANGABAD	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALEI	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1	FROM PALPHATA TO TAKLI KOLTE ON NH752H, ON EITHER SIDE OF ROAD TALUKA PHULMABARI	AURANGABAD	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
425	LHS from Karkin to Pimpalwadi on Aurangabad-Paithan road-NH 752E	AURANGABAD	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
426	On NH-753F, Within 3KMs before starting point of Ajnata village Bypass Road, LHS towards Jalgaon	AURANGABAD	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
427	ON RHS OF NH753F, FROM NILLOD PHATA TO ALAND TOWARDS PHULMBARI	AURANGABAD	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
428	From Bajaj Auto Plant to Kanchan Nagar on Nagar-Paithan Link road	AURANGABAD	Regular	160	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
429	From Chinchadgaon upto entry of Vaijapur Samruddhi Interchange on Gangapur Vaijapur road	AURANGABAD	Regular	160	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
430	From Shivaji Chowk to Kaygaon on Gangapur Kaygaon road	AURANGABAD	Regular	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
431	Bidkin to Islampura on Bidkin-Gurudhanora road	AURANGABAD	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
432	Chitegaon to Kachner on Chitegaon-Kachner road	AURANGABAD	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
433	From Digar to Nachenwal on Kannad Sillod road	AURANGABAD	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
434	From Karim Nagar (Kannad Town) to Hasta village on Kannad-Sillod road	AURANGABAD	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
435	Karmad Police Station to Pimpriraja on Pimpriraja road	AURANGABAD	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	ON RHS OF SH214, FROM VEER SAMBHAJI RAJE CHOWK AMBHAI TO NATIONAL COLLEGE TOWARDS GOLEGAON	AURANGABAD	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
437	Upto 5 KM from Deogaon Rangari towards Galleborgaon on Deogaon-Galleborgaon road	AURANGABAD	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
438	Vaijapur chaufuli to entry of Vaijapur Samruddhi Interchange on Vaijapur Gangapur road	AURANGABAD	Regular	165	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
439	Wadichimnapur to Karanjkheda on Sillod- Chalisgaon road	AURANGABAD	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
440	Within 2 KM of Vaijapur Bus stand on State Highway	AURANGABAD	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
441	Within boundaries of Nagad village on State Highway	AURANGABAD	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
442	Within boundaries of village Dawarwadi on Paithan-Pachod road	AURANGABAD	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
443	Datta Mandir to Murumkheda on Ladsavangi road	AURANGABAD	Regular	130	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUM	1 CORPORATION I	.IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
444	GEVRAI WITHIN MUNICIPAL LIMITS (NOT ON NH/SH)	BEED	Regular	170	OPEN	CC	30	30	900	32	12	Bidding	30	5
445	BETWEEN NANDNAJ BUS STOP TO SARADGAON ON PARLI-DHARMAPURI HIGHWAY	BEED	Regular	152	OBC	СС	35	35	1225	32	12	Bidding	30	4
446	WITH IN 3 KM FROM HPC PUMP PRATIK PETROLEUM TOWARDS GANGAKHED ON NH 361 F PARLI-GANGAKHED ROAD	BEED	Regular	254	ОВС	СС	35	35	1225	32	12	Bidding	30	4
447	WITHIN 7 KM FROM SELU AMBA TOLL PLAZA ON LHS TOWARDS LATUR ON AMBEJOGAI-LATUR HIGHWAY	BEED	Regular	154	OBC	СС	35	35	1225	32	12	Bidding	30	4
448	FROM TALEWADI TO MAJALGAON ON NH 548C ON MAJALGAON - TELGAON HIGHWAY	BEED	Regular	155	OPEN	СС	35	35	1225	32	12	Bidding	30	5
449	NH 52 WITHIN 5 KM FROM PADALSINGI TOLL PLAZA ON LHS TOWARDS BEED	BEED	Regular	166	OPEN	СС	35	35	1225	32	12	Bidding	30	5
450	FROM PANGRI TO TOKWADI ON NH 361F SHIRSALA-PARLI ROAD	BEED	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
451	ON LHS OF NH 52 FROM MANJARSUMBHA CHOWK TO CHAUSALA TOWARDS SOLAPUR	BEED	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
452	FROM NAVAGAN RAJURI TO KHALAPURI ON BEED KHARWANDI HIGHWAY	BEED	Regular	152	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
453	FROM DEVINIMGAON TO KADA ON DHAMANGAON-KADA HIGHWAY	BEED	Regular	152	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
454	WITHIN 3 KM FROM CHHATRAPATI SHIVAJI MAHARAJ CHOWK RAIMOHA TOWARDS BEED ON STATE HIGHWAY NO. 59	BEED	Regular	130	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
455	BETWEEN YUSUF WADGAON AND BORISAWARGAON ON KALLAMB- AMBEJOGAI STATE HIGHWAY	BEED	Regular	142	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
456	FROM MOHA TO KANNAPUR ON SHIRSALA- AMBEJOGAI HIGHWAY	BEED	Regular	107	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
457	AMBEJOGAI CITY WITHIN MUNICIPAL LIMIT (NOT ON SH/NH)	BEED	Regular	145	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
458	BEED CITY WITHIN MUNICIPAL LIMIT (NOT ON SH/NH)	BEED	Regular	169	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
459	FROM GHATSAWLI TO MAINDA ON BEED- PARLI HIGHWAY	BEED	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
460	FROM MURSHADPUR TO LIMBADEVI PHATA ON BEED-AMALNER HIGHWAY	BEED	Regular	152	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
461	FROM TINTARWANI TO MATORI ON NH 61 GEVRAI-KHARWANDI ROAD	BEED	Regular	152	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
462	WITHIN 3 KM FROM BARDAPUR PHATA ON NH 548-B AMBEJOGAI-LATUR ROAD IN BEED DISTRICT BORDER	BEED	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUM	1 CORPORATION I	IMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls		Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)		Minimum Area	Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
463	WITHIN 3 KM FROM GOPINATH MUNDE CIRCLE DHARMAPURI TOWARDS AMBEJOGAI ON AMBEJOGAI-AHMEDPUR ROAD	BEED	Regular	156	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
464	WITHIN 3 KM FROM SIDDHESHWAR CHOWK SHIRUR KASAR TOWARDS PAITHAN ON SHIRUR KASAR-PAITHAN HIGHWAY	BEED	Regular	153	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
465	WITHIN 5 KM FROM CHHATRAPATI SHIVAJI CHOWK PATODA ON LHS TOWARDS MANJARSUMBHA NH 548 D	BEED	Regular	152	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
466	BETWEEN YASHWANTRAO CHAVAN CHOWK AND BHAGWAN BABA CHOWK ON AMBEJOGAI-AHMEDPUR ROAD	BEED	Regular	163	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
467	FROM MANJARSUMBHA CHOWK TO NEKNOOR ON MANJARSUMBHA-KAIJ HIGHWAY	BEED	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
468	WITHIN 10 KM FROM ADGAON PHATA MAJALGAON TOWARDS PATHRI ON MAJALGAON-PATHRI HIGHWAY	BEED	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
469	WITHIN 4 KM FROM NANDUR PHATA TOWARDS KAIJ ON NH 548 D KAIJ- MANJARSUMBHA HIGHWAY	BEED	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
470	WITHIN 4 KM FROM SHIVAJI CHOWK GHATNANDUR TOWARDS DHARMAPURI ON NH 548 D	BEED	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
471	WITHIN 5 KM FROM A P J ABDUL KALAM CHOWK PIMPALA DHAIGUDA TOWARDS PARLI ON NH 548 B	BEED	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
472	BEED BYPASS ON NH 52 LHS TOWARDS OSMANABAD	BEED	Regular	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
473	BETWEEN KM STONE NO. 303 AND 305 ON LHS TOWARDS TALWADA ON SH 50	BEED	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
474	WITHIN 5 KM FROM VAIJNATH JYOTIRLING TEMPLE ON PARLI-POOS HIGHWAY	BEED	Regular	145	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
475	BETWEEN NIMGAON CHOBHA AND WAKI ON KADA MIRAJGAON HIGHWAY	BEED	Regular	120	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
476	AT VILLAGE - GADEGAON, ON LHS FROM GADEGAON TOWARDS LAKHANI ON NH53(OLD NH6), DISTRICT - BHANDARA	BHANDARA	Regular	300	OBC CC 1	СС	35	35	1225	32	12	Bidding	30	4
477	VILLAGE - YEKODI, ON SH356, TAL-SAKOLI	BHANDARA	Regular	100	OBC	CC	35	35	1225	32	12	Bidding	30	4
478	VILL-DIGHORI MOTI TO VILL-KHARASHI ON SH358, TAL- LAKHANDUR AT VILLAGE - JAMBHALI, LHS ON NH53	BHANDARA	Regular	105	OPEN CC 2	СС	35	35	1225	32	12	Bidding	30	5
479	WHILE MOVING FROM SAKOLI TOWARDS PIMPALGAON, TAL-SAKOLI	BHANDARA	Regular	255	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	IMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
480	AT VILL-SENDURWAFA, ON LHS WHILE MOVING FROM NAGPUR TOWARDS RAIPUR,ON NH 53, DIST - BHANDARA	BHANDARA	Regular	340	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
481	ON NH753 B/W VILLAGE-DEVHADI & VILLAGE-KHAPA, ON LHS WHILE MOVING FROM GONDIA TOWARDS RAMTEK	BHANDARA	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
482	WITHIN MUNICIPAL LIMITS OF TUMSAR CITY(NOT ON NH/SH), DISTRICT - BHANDARA	BHANDARA	Regular	105	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
483	WITHIN MUNICIPAL LIMITS OF BHANDARA TOWN (NOT ON NH/SH)	BHANDARA	Regular	150	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
484	ON LHS BETWEEN CHICHAL TOWARDS BORGAON ON NH353C(SAKOLI-WARSA ROAD), TEHSIL-LAKHANDUR	BHANDARA	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
485	BETWEEN STONE NO. 464 AND 466, VILLAGE - PIMPALGAON, TAL - LAKHANI ON LHS FROM LAKHANI TO SAKOLI	BHANDARA	Regular	320	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
486	ON LHS FROM BHILEWADA TO KANHADMOH ON NH53(OLD NH6), DISTRICT - BHANDARA	BHANDARA	Regular	420	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1	ON LHS FROM VILL-KANHADMOH TO VILL- BHILEWADA ON NH53(OLD NH6), DISTRICT - BHANDARA	BHANDARA	Regular	570	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
488	ON NH53(OLD NH6) JAWAHAR NAGAR TO KHARBI ON RHS, B/W KM STONE 509 & 507, TAL-BHANDARA	BHANDARA	Regular	263	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1	VILLAGE-KACCHEKHANI ON NH247,2KM FROM WAHI ENTRY GATE, ON LHS FROM PAUNI TOWARDS NILAJ, TAL-PAUNI	BHANDARA	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	VILL-VIRSI,ON NH53 BETWEEN KM 449&451,ON LHS WHILE TRAVELLING FROM DEORI TOWARDS BHANDARA,TAL-SAKOLI	BHANDARA	Regular	440	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
491	AT VILLAGE-BAGHEDA ON SH337, TAL- TUMSAR	BHANDARA	Regular	115	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
492	VILLAGE-PALDONGRI,ON SH361 BETWEEN KM STONE 6&8,TALUKA-MOHADI, DISTRICT- BHANDARA	BHANDARA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
493	Between village Dharangaon and village Dasarkhed on NH53 on either side	BULDHANA	Regular	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
494	Between village Hatni and village Kelwad on NH 753A on either side.	BULDHANA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
495	On NH53 between village Nandura Kh. and village Naigaon	BULDHANA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
496	On NH548C on RHS from village Naigaon Dattapur to village Gawandhala	BULDHANA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
497	On NH753A between Village Mera Khurd (Kh) and Village Vasantnagar	BULDHANA	Regular	150	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
498	Between village Anjani Budruk and village khandala on NH753C	BULDHANA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
499	Between village Hiwarkhed and village Lokhanda on NH548CC on either side.	BULDHANA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
500	Between village Umara Lasura and village Palshi Budruk(Bk) on NH 548C on LHS towards Ambetakali	BULDHANA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
501	Between KM Stone 54 to KM Stone 60 on NH 753A on RHS from Buldhana towards Chikhli	BULDHANA	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
502	Between village Dhamangaon Badhe and village Panhera Khedi on SH44 (Old SH188) on either side.	BULDHANA	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
503	Between village Pimpalgaon kale and Village khandvi on SH, Taluka Jalgaon Jamod	BULDHANA	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
504	Between village Warwat Bakal and village Banoda Budruk (Bk) on SH on either side	BULDHANA	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
505	Within 1.5 km from ITI College Khamgaon on Khamgaon to Jamab road not on NH or SH	BULDHANA	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
506	Within 2 km from Buldhana Bus stand in Buldhana TOwn not on NH/SH	BULDHANA	Regular	110	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
507	Within Municipal Limts - Malkapur Town not on SH or NH	BULDHANA	Regular	110	OBC CC 1	DC	30	30	900	32	55	Draw of Lots	15	4
508	On NH53 between village kokta and village Sutala Bk on RHS while moving towards Nandura	BULDHANA	Regular	225	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
509	On NH548C between village Tembhurna and village Awar on either side	BULDHANA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
510	At village Jalgaon Jamod on NH 161H from intersection of NH161G and NH161H towards Burhanpur	BULDHANA	Regular	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
511	Between km stone 48 to km stone 52 on NH548CC on LHS while moving towards Chikhli	BULDHANA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
512	Between village Janefal and village Warwand on NH-548C on either side.	BULDHANA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
513	FROM SHEGAON TOWARDS KHAMGAON ON NH548C ON RHS	BULDHANA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
514	On NH753A within 10 km from intersection of NH753A AND NH548CC towards Deulgaon Mahi on LHS	BULDHANA	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
515	Within 4km from Lonar on NH548C - Lonar to Mantha Road	BULDHANA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
516	Within 6 km from Mehkar bus stand towards Wakad on either side on SH 206	BULDHANA	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			rranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
517	AT VITTHALWADA VILLAGE ON NH-353B, TEHSIL GONDPIPRI	CHANDRAPUR	Regular	180	OBC	СС	35	35	1225	32	12	Bidding	30	4
518	AT MADHELI VILLAGE ON MADHELI WARORA ROAD (SH371)	CHANDRAPUR	Regular	140	OBC CC 1	СС	35	35	1225	32	12	Bidding	30	4
519	PADOLI ON SH-264 CHANDRAPUR NAGPUR ROAD TOWARDS NAGPUR ON RHS	CHANDRAPUR	Regular	330	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
520	KORDHA VILLAGE BETWEEN MILE STONE No. 103 TO 106 ON NH-353D, NAGBHID BRAMHAPURI ROAD	CHANDRAPUR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
521	WITHIN 3 KMs IN GUJGAVHAN VILLAGE ON NH-353E ON SHEGAON(BK)-CHIMUR ROAD	CHANDRAPUR	Regular	160	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
522	AT KARANJI VILLAGE ON BALLARPUR ALAPALLI ROAD (NH-353B)	CHANDRAPUR	Regular	190	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
523	AT KORPANA VILLAGE ON NH-353B TOWARDS ADILABAD ON LHS side.	CHANDRAPUR	Regular	190	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
524	AT KOTHARI VILLAGE ON BALLARPUR ALAPALLI ROAD (NH-353B)	CHANDRAPUR	Regular	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
525	AT CHIMDHA VILLAGE ON MUL SAOLI ROAD (NH-930), TEHSIL MUL	CHANDRAPUR	Regular	190	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
526	AT DHABA VILLAGE ON SH-369, TEHSIL GONDPIPARI	CHANDRAPUR	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
527	AT KHARALPETH VILLAGE ON GONDPIPRI- MUL ROAD, DISTRICT CHANDRAPUR	CHANDRAPUR	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
528	AT NERI VILLAGE ON SH-322, TEHSIL - CHIMUR	CHANDRAPUR	Regular	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
529	AT BAMHANI VILLAGE ON NAGBHID NAGPUR ROAD (NH-353D).	CHANDRAPUR	Regular	170	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
530	AT KHAMBADA VILLAGE ON NH-347A TOWARDS WARORA ON RHS, TEHSIL WARORA	CHANDRAPUR	Regular	250	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
531	BETWEEN ANANDWAN CHOWK TO GMR TOWNSHIP YENSA ON NH-347A CHANDRAPUR-JAMB ROAD TOWARDS JAMB ON LHS	CHANDRAPUR	Regular	210	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
532	BETWEEN GMR TOWNSHIP YENSA TO ANANDWAN CHOWK ON NH-347A CHANDRAPUR-JAMB ROAD TOWARDS JAMB ON RHS	CHANDRAPUR	Regular	210	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
533	WITHIN 3 KMs FROM PALASGAON (JAT) BUS STAND ON NH-353D TOWARDS NAGPUR ON RHS SIDE	CHANDRAPUR	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
534	WITHIN 3 KMS FROM RAJURA BAMNI T POINT ON NH-353B BALLARPUR ALLAPALI ROAD TOWARDS ALLAPALI ON LHS	CHANDRAPUR	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	ORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
535	1 KM AWAY FROM VISAPUR TOLL PLAZA TOWARDS CHANDRAPUR ON NH930D (CHANDRAPUR-BALLARPUR ROAD)	CHANDRAPUR	Regular	240	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
536	AT KHADSANGI VILLAGE ON WARORA CHIMUR ROAD (NH353E) TEHSIL CHIMUR	CHANDRAPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
537	AT PENDHARI RITH VILLAGE ON NH-353B, TEHSIL RAJURA	CHANDRAPUR	Regular	240	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
538	AT SONDO VILLAGE ON NH-930D RAJURA LAKKADKOT ROAD TOWARDS LAKKADKOT ON RHS SIDE	CHANDRAPUR	Regular	185	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
539	AT SAWARGAON VILLAGE ON MUL NAGBHID ROAD (SH-9)	CHANDRAPUR	Regular	160	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
540	BETWEEN BHADRAVATI TO GHODPETH ON SH-264 BHADRAVATI CHANDRAPUR ROAD TOWARDS CHANDRAPUR LHS	CHANDRAPUR	Regular	180	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
541	BETWEEN NANDORI TOLL PLAZA TO TAKLI VILLAGE ON SH-264 TOWARDS CHANDRAPUR ON LHS	CHANDRAPUR	Regular	210	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
542	BETWEEN NANDORI TOLL PLAZA TO TAKLI VILLAGE ON SH-264 TOWARDS CHANDRAPUR RHS	CHANDRAPUR	Regular	180	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
543	PADOLI ON SH-264 CHANDRAPUR NAGPUR ROAD TOWARDS NAGPUR ON LHS	CHANDRAPUR	Regular	330	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
544	AT KAWATHALA VILLAGE ON SH-376, TALUKA KORPANA	CHANDRAPUR	Regular	195	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
545	AT NAVEGAON MORE VILLAGE ON SH-9, TALUKA POMBHUNRA	CHANDRAPUR	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
546	TADALI VILLAGE BETWEEN MILE STONE NO. 76 TO 79 ON SH-264 TOWARDS NAGPUR ON LHS	CHANDRAPUR	Regular	180	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
547	WITHIN 3 KMS FROM SHREE RAM SETU BRIDGE (CABLE STAY BRIDGE) ON CHANDRAPUR DATALA ROAD TOWARDS DATALA	CHANDRAPUR	Regular	200	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
548	WITHIN 4 KMS FROM PADOLI CHOWK TOWARDS MIDC PADOLI ON SH-6 PADOLI- GHUGHUS ROAD	CHANDRAPUR	Regular	230	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
549	WITHIN 7 KMS FROM CHANDRAPUR BUS STAND ON CHANDRAPUR-DURGAPUR ROAD TOWARDS MOHARLI GATE	CHANDRAPUR	Regular	260	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
550	Within 1 KM from Sinchan Bhavan Dhule (Not on NH/SH)	DHULE	Regular	106	OPEN	СС	30	30	900	32	12	Bidding	30	5
551	On NH52/NH3 Mumbai-Agra National Highway from Dhule towards Indore LHS between KM stone 219 and 216	DHULE	Regular	320	OBC	СС	35	35	1225	32	12	Bidding	30	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
552	On NH52/NH3 Mumbai-Agra National Highway from Dhule towards Indore LHS between KM stone 235 and 231	DHULE	Regular	436	OBC	СС	35	35	1225	32	12	Bidding	30	4
553	On NH52/NH3 Mumbai-Agra National Highway LHS from Dhule towards Indore between KM stone 204 to 202	DHULE	Regular	320	OBC CC 1	СС	35	35	1225	32	12	Bidding	30	4
554	On NH3/NH52 Mumbai-Agra National Highway from Dhule towards Indore LHS between KM stone 214 to 212	DHULE	Regular	300	OPEN	СС	35	35	1225	32	12	Bidding	30	5
555	On NH53/NH6 LHS from Dhule towards Sakri at Kundane (War) Village	DHULE	Regular	165	OPEN	СС	35	35	1225	32	12	Bidding	30	5
556	On NH53/NH6 within 3 KM from Shewali Village Panchayat Office LHS towards Dhule	DHULE	Regular	170	OPEN	СС	35	35	1225	32	12	Bidding	30	5
557	On NH6/NH53 LHS from Dhule towards Sakri at Mahalkali Village	DHULE	Regular	165	OPEN	СС	35	35	1225	32	12	Bidding	30	5
558	With in 2 KM from Shirud Chaufuli towards Dhule on LHS on NH52(NH211)	DHULE	Regular	225	OPEN	СС	35	35	1225	32	12	Bidding	30	5
559	Shirpur town within municipal limits (Not on NH/SH)	DHULE	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
560	Within 1 KM from MSRTC divisional office dhule (Not on NH/SH)	DHULE	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
561	Within 2 KM from intersection of 100 feet road and Chalisgaon road (Not on NH/SH)	DHULE	Regular	105	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
562	Between KM Stone 429 to 431 from Dhule to Chalisgaon towards Chalisgaon on LHS on NH52(NH211)	DHULE	Regular	189	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
563	On NH3/NH52 Mumbai-Agra National Highway from Indore towards Dhule LHS between KM stone 175 to 177	DHULE	Regular	220	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
564	On NH60/NH3 LHS from Dhule towards Malegaon at Village Laling	DHULE	Regular	285	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
565	On NH160H/Old SH10 at Chaugaon Village Taluka Dhule	DHULE	Regular	161	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
566	On SH 10, village Navlane, Taluka Dhule	DHULE	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
567	On gondur airport road between Datta Mandir Chowk to dhule dist. police homegaurd training centre	DHULE	Regular	105	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
568	On Chakkar Bardi Road within municipal limits Dhule (Not NH/SH)	DHULE	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
569	On old agra road between Deopur MSRTC Bus Stand and Karanaja Circle	DHULE	Regular	105	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
570	Dhule city within municipal limits (Not on NH/SH)	DHULE	Regular	120	OPEN CC 2	DC	30	30	900	32	55	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
s.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
571	On NH52/NH3 Mumbai-Agra National Highway LHS from Dhule towards Indore at Sarwad Village	DHULE	Regular	260	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
572	On NH53(NH6) Fagana Bypass on LHS while going towards Jalgaon from Dhule	DHULE	Regular	181	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
573	On NH53(NH6) Mukti Bypass on LHS while going towards Dhule from Jalgaon	DHULE	Regular	162	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
574	On NH53/NH6 LHS within 2KM from VSPM A.B.Patil College of arts commerce and science towards Awadhan	DHULE	Regular	170	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
575	On NH53/NH6 within 2 KM from under- construction Ichchapur Toll Plaza LHS from Dhule towards Sakri	DHULE	Regular	205	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
576	On NH60/NH3 between within 2 KM from MIDC Awadhan Main Entry Gate LHS towards Indore	DHULE	Regular	355	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
577	On NH60/Old NH-3 LHS from Dhule towards Malegaon between Stone KM 277 to 279	DHULE	Regular	235	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
578	On NH52/NH3 Mumbai-Agra National Highway from Indore towards Dhule LHS between KM stone 216 to 218	DHULE	Regular	215	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
579	On NH52/NH3 Mumbai-Agra National Highway LHS from Indore towards Dhule at Gorane Village	DHULE	Regular	281	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
580	On NH60/NH3 LHS from Malegaon towards Dhule at Arvi Village	DHULE	Regular	281	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
581	On NH753BB between village Gorane and Sindkheda Tehsil Office	DHULE	Regular	161	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
582	On SH13 village Mhasale, Taluka Sakri	DHULE	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
583	On SH1 (Songir-Dondaicha Road) LHS from Songir towards Dondaicha at village Methi taluka Sindkheda	DHULE	Regular	102	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
584	On SH14/(Navapur-Pimpalner Road) village Khargaon taluka Sakri	DHULE	Regular	120	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
585	DHANORA TOWN, WITHIN MUNICIPAL LIMITS, DISTRICT GADCHIROLI (NOT ON NH/SH)	GADCHIROLI	Regular	110	OPEN PH	СС	30	30	900	32	12	Bidding	30	5
586	ARMORI TOWN, WITHIN MUNICIPAL LIMITS, DISTRICT GADCHIROLI (NOT ON NH/SH)	GADCHIROLI	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
587	DESAIGANJ (WADSA) TOWN, WITHIN MUNICIPAL LIMITS, DISTRICT GADCHIROLI (NOT ON NH/SH)	GADCHIROLI	Regular	110	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
588	AHERI TOWN, WITHIN MUNICIPAL LIMITS, DISTRICT GADCHIROLI (NOT NH/SH)	GADCHIROLI	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	IMITED				
s.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)				ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
589	BHAMRAGARH TOWN, WITHIN MUNICIPAL LIMITS, TEHSIL BHAMRAGARH, DISTRICT GADCHIROLI (NOT ON NH/SH)	GADCHIROLI	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	CHAMORSHI TOWN, WITHIN MUNICIPAL LIMITS, DISTRICT GADCHIROLI (NOT ON NH/SH)	GADCHIROLI	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
591	ETAPALLI TOWN, WITHIN MUNICIPAL LIMITS, DISTRICT (NOT ON NH/SH)	GADCHIROLI	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
592	GADCHIROLI TOWN, WITHIN MUNICIPAL LIMITS (NOT ON NH/SH)	GADCHIROLI	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
593	SIRONCHA TOWN, WITHIN MUNICIPAL LIMITS, DISTRICT GADCHIROLI (NOT ON NH/SH)	GADCHIROLI	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
594	B/W FULCHUR CHOWK & BAMLESHWARI TEMPLE, ON(AMGAON ROAD), WITHIN GONDIA MUNICIPAL LIMIT(NOT ON NH/SH)	GONDIA	Regular	195	OPEN CC 1	сс	30	30	900	32	12	Bidding	30	5
505	FROM VILLAGE-SADAK ARJUNI TO VILLAGE- KHAJRI ON LHS, NH 753, TAL-SADAK ARJUNI	GONDIA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
596	VILLAGE-MURDOLI ON NH753, WITHIN 2KM FROM MURDOLI BUS STAND TOWARDS SADAK ARJUNI, TAL-SADAK ARJUNI	GONDIA	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
597	VILLAGE-RAJEGAON TOWARDS SATONA(MP-MH BORDER),BOTH SIDES ON NH543, TAL-GONDIA, DISTRICT-GONDIA	GONDIA	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
598	WITHIN 2.5KM FROM TIRODA ON SH360, ON LHS WHILE MOVING FROM TIRODA TOWARDS CHIREKHANI	GONDIA	Regular	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
599	AT VILLAGE-TANDA,ON NH543 WITHIN 1.5KM FROM MAA DURGA MANDIR(ADASI), ON LHS TOWARDS AMGAON	GONDIA	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	ON LHS FROM NH543&NH753 JUNCTION TO VILLAGE - NAGRA, ON NH543(GONDIA- BALAGHAT RD), TAL-GONDIA	GONDIA	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	VILLAGE-DAHEGAON ON NH543,RHS WHILE MOVING FROM DAHEGAON PANCHAYAT OFFICE TOWARDS GONDIA, TAL-AMGAON	GONDIA	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	AT VILLAGE-BAHMANI,BETWEEN KM 429&431 ON NH53, ON LHS FROM DEORI TO NAGPUR,TAL-SADAK ARJUNI	GONDIA	Regular	375	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
603	AT VILLAGE-TUMKHEDA BK,ON NH753 BETWEEN KM STONE 36&38,ON RHS FROM GONDIA TILL KOHMARA,TAL-GOREGAON	GONDIA	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
604	WITHIN 2KM OF COLLECTOR OFFICER(GONDIA), ON GONDIA OUTER RING ROAD(NH), TEHSIL-GONDIA	GONDIA	Regular	215	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	B/W KAMTHA CHOWK & VILL-MALHI ON SH363, ON LHS WHILE MOVING FROM AMGAON TOWARDS MP, TAL-AMGAON	GONDIA	Regular	125	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
606	BETWEEN VILL-CHICHGAD AND VILL- DONGARGAON ON SH358, TAL-DEORI	GONDIA	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
607	VILLAGE-NIMGAON, ON SH366,ON LHS WHILE GOING FROM SANGADI TOWARDS MORGAON ARJUNI, TAL-MORGAON ARJUNI	GONDIA	Regular	103	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
608	Village Galandi to Village Suregaon on Aundha- Hingoli Road	HINGOLI	Regular	180	OPEN	СС	35	35	1225	32	12	Bidding	30	5
609	On LHS between Milestone no. 149 to 151 from Akhada Balapur Towards Hingoli on NH161	HINGOLI	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
610	On LHS between Milestone no. 171 to 173 from Akhada Balapur Towards Nanded on NH161	HINGOLI	Regular	275	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
611	Within 3 km from Shree Bhawani Temple, Waranga on NH 161 towards Nanded on RHS	HINGOLI	Regular	260	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
612	Village-Pan kanhergaon Taluka Sengaon on Sengaon- Risod Road	HINGOLI	Regular	146	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
613	On LHS between Stone number 75 to 77 towards Jawala bazar on Nageshwadi Phata- Jawala Bazar Road	HINGOLI	Regular	170	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
614	From Avhane to Paldhi on RHS towards Dhule on NH53(NH6) Jalgaon Bypass between KM Stone 437 to 439.	JALGAON	Regular	235	ОВС	СС	35	35	1225	32	12	Bidding	30	4
615	Between Km Stone 27 to 29 from Jalgaon to Pachora towards Pachora on NH753J	JALGAON	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
616	From Paldhi to Erandol on LHS on NH6 between KM Stone 451 to 453	JALGAON	Regular	220	OPEN	СС	35	35	1225	32	12	Bidding	30	5
617	On RHS of NH52, Within 5 KM from KM Milestone No 388 (Solapur) towards Chalisgaon	JALGAON	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
618	On SH19, From Deoli to Takli on either side of Road Taluka Chalisgaon	JALGAON	Regular	100	OPEN	СС	35	35	1225	32	12	Bidding	30	5
619	Within 2.0 KM from Tondapur Bus Stop towards Fattepur on either side on SH46	JALGAON	Regular	108	OPEN	СС	35	35	1225	32	12	Bidding	30	5
670	Within municipal limit of Amalner city (not on NH/SH)	JALGAON	Regular	120	sc	CFS	30	30	900	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA -	BHARAT PETROLEUN	A CORPORATION L	IMITED				
s.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)		Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
621	On Parola Bypass on NH53 (NH6) on LHS while going towards Dhule from Jalgaon	JALGAON	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
622	With in 5 KM from Bhadgaon Bus Stand	JALGAON	Regular	156	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
623	towards Pachora on LHS on NH753J On NH53(NH6) Mukti Bypass on LHS while	JALGAON	Regular	183	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
624	going towards Jalgaon from Dhule Within 2km from intersection of NH753F and SH41 (Erandol-Jamner) towards Aurangabad on LHS on NH753F	JALGAON	Regular	153	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
625	From Umale to Gadegaon on NH753F on LHS towards Aurangabad	JALGAON	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
626	Within 3km from intersection of NH753L and NH753F towards Jalgaon on left hand side on NH753F	JALGAON	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
627	From Varangaon to Bhusawal on RHS on NH53 (NH6) towards Bhusawal between KM stone 392 to 394	JALGAON	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
628	Within 3km from intersection of NH753F and SH19 towards Pachora on Pachora- Jamner road.	JALGAON	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
629	From Bhokar to Jalgaon between KM Stone 28 to 30 towards Jalgaon on LHS on SH40	JALGAON	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
630	With in 3.5 KM from Balasaheb Thakre Chowk, Amalner towards Parola on either side on SH1	JALGAON	Regular	102	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
631	Within 3 KM from Adgaon Bus Stop towards Bhadgaon on either side on SH25	JALGAON	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
632	From Ajintha Chaufuly of Jalgaon City to Tarsod Fata within municipal limit of Jalgaon City	JALGAON	Regular	240	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
633	From Akashwani Circle of Jalgaon City towards Dhule within municipal limit of Jalgaon City	JALGAON	Regular	240	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
634	From Govinda Rikshaw Stop to Pimprala on Pimprala Road within municipal limit of Jalgaon City	JALGAON	Regular	153	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
635	On Mamurabad road with in Municipal Limits of Jalgaon City	JALGAON	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
636	With in 2 KM from Maruti Suzuki NEXA Showroom towards Ajintha Chaufuly on LHS on NH753F	JALGAON	Regular	270	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
637	With in 4 KM from Ajintha Chaufuly towards Aurangabad on LHS on NH753F	JALGAON	Regular	270	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
638	Within municipal limits of Bhusawal city, Not on NH/SH	JALGAON	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
639	Within Municipal Limits of Jamner City, Not on NH/SH	JALGAON	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUM	1 CORPORATION I	.IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
640	Within Municipal Limits of Pachora City, Not on NH/SH	JALGAON	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
641	With in Municipal Limit of Raver City on Station Road towards Railway Station Raver (not on NH/SH)	JALGAON	Regular	101	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
642	From Muktainagar to Ghodasgaon on LHS on NH53(NH6) towards Nagpur	JALGAON	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
643	On NH753L, From Jamner to Bodvad Taluka HQ on either side of road	JALGAON	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
644	WITH IN 4 KM FROM INTERSECTION OF NH753J AND CHALISGAON-SILOD RD TOWARDS BHADGAON ON LHS ON NH753J	JALGAON	Regular	153	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
645	With in 5 KM from Dharangao Phata, Musali Bk. towards Jalgaon on LHS on NH6 (NH53)	JALGAON	Regular	227	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
646	With in 6 KM from Nashirabad Toll Plaza towards Jalgaon on LHS on NH53(NH6)	JALGAON	Regular	162	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
647	Within 3.0 from Intersection of NH753BE (SH4) and SH45 towards Shahada on LHS on NH753BE (SH4)	JALGAON	Regular	185	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
648	From Jalgaon to Pachora on RHS between KM Stone 4 to 8 on NH753J	JALGAON	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
649	From Muktainagar to Varangaon on LHS on NH53(NH6) between KM Stone 388 to 392.	JALGAON	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
650	On NH52, Bypass Road of Mehunbare Village Taluka Chalisgaon	JALGAON	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
651	With in 3 KM from Vakod Bus Stop towards Jalgaon on LHS on NH753F	JALGAON	Regular	153	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
652	With in 4 KM from Tarsod Fata towards Nagpur on LHS on NH6 (NH53)	JALGAON	Regular	222	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
653	Within 2.0 KM from Adawad Police Station on NH753BE(SH4)	JALGAON	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
654	Within 3.0 from Intersection of NH753BE (SH4) and SH45 towards Burhanpur on LHS on NH753BE (SH4)	JALGAON	Regular	195	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
655	Within 3 KM from Jalgaon-MP State border on NH753BE towards Shahada on LHS on NH753BE	JALGAON	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
656	With in 5 KM from Purnad Phata towards Muktainagar on LHS on NH753L	JALGAON	Regular	150	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
657	From Hingane Phata to Nadgaon on LHS on NH753L	JALGAON	Regular	150	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
658	Between KM Stone 23 to 26 on SH6 on either side while going towards Amalner from Dharangaon	JALGAON	Regular	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	ORPORATION I	IMITED				
s.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
659	With in 2 KM from Bhokar Bus Stand towards Jalgaon on either Side on SH40	JALGAON	Regular	105	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
660	With in 3 KM from Intersection of NH753F and SH41 (Erandol-Jamner) towards Erandol on RHS on SH41	JALGAON	Regular	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
661	With in 5 KM from Intersection of SH43 & SH44 at Bhusawal towards Bamnod on either side on SH44	JALGAON	Regular	108	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
662	Within 6 KM from intersection of NH753J and SH41 (Erandol-Jamner) towards Erandol on RHS on SH41	JALGAON	Regular	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
663	Between KM Stone 9 to 12 on RHS on SH6 while going towards Dharangaon from Jalgaon	JALGAON	Regular	105	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
664	At Pal, on SH45 (Bhikangaon-Amoda Highway)	JALGAON	Regular	126	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
665	From Amoda to Bamnod on Left Hand Side towards Bamnod on SH44	JALGAON	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
666	With in 4 KM from Maharana Pratap Chowk, Amalner towards Dhule on LHS on SH15	JALGAON	Regular	102	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
667	Within 2.5 KM from Intersection of NH753BE(SH4) & SH40 towards Bhokar LHS on Gorgawale Rd on SH40	JALGAON	Regular	108	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
668	Within 5 KM from intersection of NH753J and SH41 (Erandol-Jamner) towards Neri on RHS on SH41.	JALGAON	Regular	105	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
669	LHS FROM RAMNAGAR TO UTWAD ON NH 752I TOWARDS MANTHA	JALNA	Regular	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
670	FROM DONGAON TO SOUNDALGAON KHURD ON LHS ON NH52 TOWARDS BEED	JALNA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
671	LHS FROM AURANGABAD CHOUFULLY TO KANHAYIA NAGAR ON NH 753A JALNA BYPASS ROAD TALUKA & DIST JALNA	JALNA	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
672	LHS WITHIN 3 KM FROM SHIVAJI MAHARAJ CHOWK BHOKARDAN TOWARDS RAJUR ON NH 753H	JALNA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
673	RHS TOWARDS NAGPUR FROM JALNA BETWEEN KM STONE 130 TO 140 ON NH 753A	JALNA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
674	FROM KM STONE 258 TO 256 ON LHS ON NH52 TOWARDS BEED TALUKA AMBAD	JALNA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
675	FROM SUKHAPURI PHATA TO AMBAD ON RHS ON NH753H	JALNA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
676	LHS FROM AURANGABAD CHOUFULLY TO DAWALWADI ON NH753A WHILE GOING TO CHH. SAMBAJI NAGAR FROM JALNA	JALNA	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)			Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
677	JALNA CITY WITHIN MUNCIPAL LIMIT TALUKA JALNA DIST- JALNA (NOT ON SH/NH)	JALNA	Regular	110	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
678	LHS FROM JALNA DRYPORT JUNCTION OF NH753A TO JALNA MAHASAMRIDHI MAHAMARG INTERCHANGE (NOT ON NH/SH)	JALNA	Regular	155	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
679	RHS FROM JALNA DRYPORT JUNCTION OF NH753A TO JALNA MAHASAMRIDHI MAHAMARG INTERCHANGE (NOT ON NH/SH)	JALNA	Regular	155	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
680	EITHER SIDE FROM DHOKSAL TO TALANI ON NH 548C.	JALNA	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
681	RHS FROM RAJUR TO KEDARKHEDA TOWARDS BHOKARDAN ON KUMBHARI RAJUR HIGHWAY	JALNA	Regular	154	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
682	RHS WITHIN 3 KM FROM SUTGIRNI CHOWK (GHANSAVANGI) ON JALNA GHANSAVANGI HIGHWAY TOWARDS JALNA	JALNA	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
683	FROM BHAYDI VILLAGE TO DANAPUR VILLAGE ON BHOKARDAN RENUKAI PIMPLGAON ROAD TALUKA BHOKARDAN	JALNA	Regular	120	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
	FROM BADNAPUR TO ROSHANGAON ON BADNAPUR PACHOD HIGHWAY TALUKA BADNAPUR	JALNA	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	LHS WITHIN 5 KM FROM GONDI VILLAGE BUS STOP TOWARDS SHAHGAD ON GONDI SHAHGAD HIGHWAY	JALNA	Regular	115	OPEN CC 2	DC	35	35	1225	32		Draw of Lots		5
686	Ring Road Phulewadi On Either Side Between Reliance Digital Store and Teen	KOLHAPUR	Regular	170	OPEN	CC	20	20	545	32	12	Bidding	30	5
60/	Batti Chowk In Ichalkaranji Town (WML)	KOLHAPUR	Regular	190	OPEN	СС	30	30	900	32	12	Bidding	30	5
688	From Chitranagri At Kolhapur To Kandalgaon Kaman	KOLHAPUR	Regular	110	OPEN	СС	30	30	900	32	12	Bidding	30	5
689	Within 4 KMs From Sangli Phata Towards Sangli On LHS On NH-166H Sangli-kolhapur Highway	KOLHAPUR	Regular	200	OBC	СС	35	35	1225	32	12	Bidding	30	4
	Village -Vathar Tarf Vadgaon On NH48 (Old NH 04) on LHS while going from Bangalore to Pune	KOLHAPUR	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
	Within 2 KMs From Bhadale Phata Towards Khutalwadi On LHS On NH-166 Kolhapur- Ratnagiri Highway	KOLHAPUR	Regular	165	OPEN	СС	35	35	1225	32	12	Bidding	30	5
	Within 2 KMs From Shirol Bypass Towards Kondigre Phata On LHS On NH-166H Sangli- Kolhapur Highway	KOLHAPUR	Regular	230	OPEN	СС	35	35	1225	32	12	Bidding	30	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUN	/ CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
693	Within 4 KMs From Hathkanangale Bus Stand Towards Kolhapur on LHS on NH- 166H Sangli-Kolhapur Highway	KOLHAPUR	Regular	160	OPEN	сс	35	35	1225	32	12	Bidding	30	5
694	Between KM Stone 168 To KM Stone 171 On Either Side On SH-177 Hupari-Borgaon Road	KOLHAPUR	Regular	100	OPEN	СС	35	35	1225	32	12	Bidding	30	5
695	Between CPR Chowk Kolhapur to SP Office Kolhapur on Kasaba Bawada Road	KOLHAPUR	Regular	195	ST	CFS	20	20	545	0	0	Draw of Lots	0	3
696	Between Ambedkar Chowk at Pachgaon and R K Nagar Chowk on either side	KOLHAPUR	Regular	105	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
697	Within 2 KMs From Ghodavat College Towards Kolhapur On LHS On NH-166H Sangli-Kolhapur Highway	KOLHAPUR	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
698	Within 3 KMs From Chhatrapati Shivaji Maharaj Chowk At Udgaon Towards D-mart On LHS On NH-166H	KOLHAPUR	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
699	Between District Court At Gadhinglaj and Lingnoor K Nool On SH-189 Gadhinglaj- Gargoti Road	KOLHAPUR	Regular	125	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
700	Between KM Stone 0 and KM Stone 4 on LHS on SH-200 Atigre-Ichalkaranji Road	KOLHAPUR	Regular	110	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
701	Between Dasara Chowk to Kawala Naka on Either Side	KOLHAPUR	Regular	153	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
702	Between Major Dhyanchand Hockey Stadium and Jarag Nagar on either side	KOLHAPUR	Regular	155	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
703	Between Uma Talkies and Titan world at Laxmipuri on either side	KOLHAPUR	Regular	166	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
704	Between Ambedkar chowk at Pachgaon and Bhalchandra Chikode Library on Kolhapur- Pachgaon Road	KOLHAPUR	Regular	105	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
705	Between Kalanagar Chowk At Ichalkaranji And Limbu Chowk On Nadives Road	KOLHAPUR	Regular	150	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
706	Between Sudarshan Jeans Pvt Ltd at 5 star MIDC to Kirloskar Oil Engines on either side	KOLHAPUR	Regular	110	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
707	Between Janata Chowk To Prant Office In Ichalkaranji Town (WML)	KOLHAPUR	Regular	150	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
708	From Village-Palsambe To Asalaj On LHS While Travelling From Gagan Bawda To Kolhapur On NH-166G	KOLHAPUR	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
709	Village-Kerle, Taluka-Shahuwadi On LHS While Travelling From Amba To Kolhapur On NH-166	KOLHAPUR	Regular	285	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
710	Within 2 KM from Hasan Mushrif Park at Kagal Towards Kolhapur on LHS on NH48 (Old NH04)	KOLHAPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALEI	RSHIPS IN THE STATE	OF MAHARASHTRA - I	SHARAT PETROLEUN	/ CORPORATION L	IMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls		Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)		Minimum Area	Finance to be ar	rranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
711	Within 2 KMs From Ghodavat College Towards Hathkanangale On LHS On NH- 166H Sangli-Kolhapur Highway	KOLHAPUR	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
712	Within 2 KMs From Nilji Towards Mutnal On LHS On NH-548H Sankeshwar-Amboli Highway	KOLHAPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
713	Village - Ujalaiwadi On NH48 (Old NH 04) on LHS while travelling from Pune to Bengalore	KOLHAPUR	Regular	535	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
714	Between KM Stone 20 and KM Stone 24 On Either Side On SH-199 Sambhapur-Mauje Tasgaon Road	KOLHAPUR	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
715	Between Mudhal Titta To Sarawade On LHS While Travelling From Mudhal Titta To Radhanagari on SH-178	KOLHAPUR	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
716	Village-Yavluj, Taluka-Panhala On LHS While Travelling From Yavluj To Katebhogaon On SH-193	KOLHAPUR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
717	Within 3 KMs From Jyotirling Temple At Gargoti Towards Kadgaon On LHS On SH- 179 Gargoti-Kadgaon Road	KOLHAPUR	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
718	Between KM Stone 24 To KM Stone 26 On LHS While Travelling From Murgud To Kagal On SH-195	KOLHAPUR	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
719	Village-Bhadole, Taluka-Hathkanangale On Either Side On SH-151 Peth Vadgaon-Ashta Road	KOLHAPUR	Regular	110	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
720	Between Atal Bihari Vajpayee Chowk and Panchaganga Sugar Factory In Ichalkaranji Town On SH-192	KOLHAPUR	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
721	Between KM Stone 4 and KM Stone 2 On LHS While Travelling From Ichalkaranji To Atigre On SH-200	KOLHAPUR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
722	Village-Nigave Dumala On LHS While Travelling From Nigave Dumala To Wadanage on SH-194	KOLHAPUR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
723	Village-Savarde On LHS While Travelling From Peth Vadgaon To Hathkanangale On SH-192	KOLHAPUR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
724	Between KM Stone 120 to KM Stone 125 on either side on SH-189 Gadhinglaj Chandgad Road	KOLHAPUR	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
725	Village-Khindi Vharavade On LHS While Travelling From Radhanagari To Kolhapur On SH-197	KOLHAPUR	Regular	120	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
726	Latur City Within Municipal Limits	LATUR	Regular	215	OPEN	CC	30	30	900	32	12	Bidding	30	5
727	On NH361, within 10 kms from Ujani Mod towards Tuljapur on LHS	LATUR	Regular	155	OPEN	CC	35	35	1225	32	12	Bidding	30	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	ORPORATION I	LIMITED				
s.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
728	On Nh752k Between Milestone 84 to Milestone 90 (On Nitur-Latur stretch)	LATUR	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
729	WITHIN 3 KM ON RHS FROM NEW RENAPUR NAKA TOWARDS AMEJOGAI ON NH548B	LATUR	Regular	180	OPEN	СС	35	35	1225	32	12	Bidding	30	5
730	Between Shirur Tajband and Hadolti on Shirur Tajband-Hadolti-Jamb Road(either side)	LATUR	Regular	130	OPEN	СС	35	35	1225	32	12	Bidding	30	5
731	Nilanga Town Within Municipal Limits(Not on NH/SH)	LATUR	Regular	180	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
732	Within 2 km from Devani(Bk) Bus Stand Road on LHS towards Udgir on Walandi- Devani-Udgir Road	LATUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
733	EITHERSIDE FROM NEW RENAPUR NAKA TOWARDS GARUD CHOWK WITHIN LATUR MUNCIPAL LIMITS	LATUR	Regular	200	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
734	Shirur Anantpal Town within municipal limits (Not on NH/SH)	LATUR	Regular	135	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
735	Between Milestone 45 to Milestone 40 on NH361 on LHS while going from Ausa to Tuljapur	LATUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
736	On Nh361,within 3 km from intersection with Ahmedpur Gangakhed Road at Sangvi, on LHS towards Nanded	LATUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
737	WITHIN 5 KM FROM RENAPUR PHATA TOWARDS AMBEJOGAI ON RHS ON NH548B	LATUR	Regular	195	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
738	WITHIN 5 KM FROM RENAPUR PHATA TOWARDS VILLAGE KHAROLA ON NH361H	LATUR	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
739	Within 5 KMs from the exit of new Chakur Bypass towards Latur on LHS of NH361	LATUR	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
740	Within 5 km on eitherside from Ashta Mode towards Nalegaon on NH63	LATUR	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
741	Within 3 km from Ashta Mode towards Chakur on NH361 on LHS	LATUR	Regular	165	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
742	Ahmedpur on new Ahmedpur Byepass Road on NH361 on LHS while coming from Nanded to Latur	LATUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
743	On NH361, within 5 km from Gharani- Wadwal Nagnath Road intersection, on either side towards Nanded	LATUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
744	On NH361,between Chapoli and ShirurTajband including new ShirurTajband Byepass on RHS towards Nanded	LATUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
745	On NH50 between Milestone 83 & 86 on RHS while coming from Jalkot to Udgir	LATUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
746	On NH548B between Milestone number 42 and 45	LATUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
747	On NH63 between Murud Akola and Borgaon on RHS towards Barshi	LATUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
748	On NH63,within 3.5 km from Manjara Sugar factory railway gate entrance on either side towards Barshi	LATUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
749	Between Milestone 32 to 34 on NH361 on RHS while going from Tuljapur to Latur	LATUR	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
750	WITHIN 5 KM FROM RENAPUR PHATA TOWARDS LATUR ON LHS ON NH548B	LATUR	Regular	175	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
751	Between Hadolti and Wanjarwada on Hadolti- Jamb Road	LATUR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
752	Between Village Thodga and Village Mogha on Ahmedpur Mogha Road via Thodga	LATUR	Regular	160	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
753	Between Walandi and Vilegaon on Walandi- Devni-Udgir Road	LATUR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
754	P D'Mello Road	MUMBAI CITY	Regular	300	SC	CFS	20	20	545	0	0	Draw of Lots	0	3
755	Between Mallet Bandar Garden and Sewri Station on either side, below eastern freeway	MUMBAI CITY	Regular	300	ST PH	CFS	20	20	545	0	0	Draw of Lots	0	3
756	Chhatrapati Shivaji chowk to Vashi Bridge on either side, on Sion Panvel Highway incl. service road	GREATER MUMBAI	Regular	400	OBC	СС	20	20	545	32	12	Bidding	30	4
757	VERSOVA	GREATER MUMBAI	Regular	500	OBC	CC	20	20	545	32	12	Bidding	30	4
758	service road	GREATER MUMBAI	Regular	600	OPEN	СС	20	20	545	32	12	Bidding	30	5
759	BETWEEN WESTERN EXPRESS HIGHWAY METRO STATION AND SAKI NAKA METRO STATION ON ANDHERI KURLA ROAD	GREATER MUMBAI	Regular	500	OPEN	СС	20	20	545	32	12	Bidding	30	5
760	BORIVALI, ON KANDIVALI-DAHISAR NEW LINK ROAD	GREATER MUMBAI	Regular	350	OPEN	СС	20	20	545	32	12	Bidding	30	5
761	Chembur (not on eastern express highway)	GREATER MUMBAI	Regular	400	OPEN	СС	20	20	545	32	12	Bidding	30	5
762	From Chhedanagar Junction towards Mankhurd on either side including service road	GREATER MUMBAI	Regular	400	OPEN	СС	20	20	545	32	12	Bidding	30	5
763	FROM MID CHOWK MALAD TO OSHIWARA ON NEW LINK ROAD	GREATER MUMBAI	Regular	440	OPEN	СС	20	20	545	32	12	Bidding	30	5
764	FROM ST. ANTHONY CHURCH TO OUR LADY OF LOURDES CHURCH ON MARVE ROAD, MALAD	GREATER MUMBAI	Regular	450	OPEN	СС	20	20	545	32	12	Bidding	30	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
765	Hashu Advani Chowk to Amar Mahal Junction on eastern expressway,on either side,service road included	GREATER MUMBAI	Regular	500	OPEN	СС	20	20	545	32	12	Bidding	30	5
766	KANDIVALI NOT ON WESTERN EXPRESSWAY	GREATER MUMBAI	Regular	500	OPEN	CC	20	20	545	32	12	Bidding	30	5
767	KANDIVALI TO DAHISAR ON WESTERN EXPRESSWAY INCLUDING SERVICE ROAD ON LHS	GREATER MUMBAI	Regular	650	OPEN	СС	20	20	545	32	12	Bidding	30	5
768	Mulund (not on eastern express highway)	GREATER MUMBAI	Regular	500	OPEN	CC	20	20	545	32	12	Bidding	30	5
769	Vikhroli bus stop to Mulund toll naka on Eastern Expressway on either side including service road	GREATER MUMBAI	Regular	450	OPEN	СС	20	20	545	32	12	Bidding	30	5
770	BETWEEN VILLE PARLE TO MALAD ON WESTERN EXPRESSWAY INCLUDING SERVICE ROAD	GREATER MUMBAI	Regular	600	SC	CFS	20	20	545	0	0	Draw of Lots	0	3
771	Kurla	GREATER MUMBAI	Regular	250	SC	CFS	20	20	545	0	0	Draw of Lots	0	3
772	FROM OUR LADY OF THE SEA CHURCH MADH TO KENDRIYA VIDYALAYA MARVE ON MADH MARVE ROAD	GREATER MUMBAI	Regular	350	ST	CFS	20	20	545	0	0	Draw of Lots	0	3
773	GOREGOAN-MULUND LINK ROAD	GREATER MUMBAI	Regular	650	ST	CFS	20	20	545	0	0	Draw of Lots	0	3
774	DAHISAR TO BORIVALI ON WESTERN EXPRESSWAY INCLUDING SERVICE ROAD ON LHS	GREATER MUMBAI	Regular	550	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
775	Ghatkopar	GREATER MUMBAI	Regular	400	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
776	Kanjur (not on eastern express highway)	GREATER MUMBAI	Regular	350	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
777	BORIVALI TO GOREGAON ON WESTERN EXPRESSWAY INCLUDING SERVICE ROAD ON LHS	GREATER MUMBAI	Regular	600	ОВС РН	DC	20	20	545	32	75	Draw of Lots	15	4
778	Mankhurd	GREATER MUMBAI	Regular	400	OPEN CC 1	DC	20	20	545	32	75	Draw of Lots	15	5
779	BETWEEN GHOREWADA SQ AND NEW KATOL NAKA ON INNER RING ROAD NAGPUR CITY	NAGPUR	Regular	203	OBC CC 1	СС	20	20	545	32	12	Bidding	30	4
780	WITHIN 1 KM FROM IOCL PETROL PUMP(SANTKRUPA SERVO AGENCY) ON MANISH NAGAR-CHINCHBHAVAN DP ROAD	NAGPUR	Regular	198	OPEN	СС	20	20	545	32	12	Bidding	30	5
781	WITHIN 3 KM FROM NMC TOLL (VAYUSENA NAGAR) ON INNER RING ROAD TOWARDS NEW KATOL NAKA ON L.H.S	NAGPUR	Regular	221	OPEN CC 1	СС	20	20	545	32	12	Bidding	30	5
782	WITHIN KM STONE 55 AND 57 ON NAGPUR TO AMRAVATI ROAD (NH53) ON L.H.S	NAGPUR	Regular	239	ОВС	СС	35	35	1225	32	12	Bidding	30	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALEI	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	.IMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
783	WITHIN MILESTONE 36 TO 34 ON PANDHURNA TO NAGPUR ROAD LHS TOWARDS NAGPUR ON NH47	NAGPUR	Regular	198	OBC	СС	35	35	1225	32	12	Bidding	30	4
784	WITHIN MILESTONE 46 TO 48 ON NH47 (SAONER TO MULTAI ROAD) ON L.H.S TOWARDS MULTAI	NAGPUR	Regular	180	OBC	СС	35	35	1225	32	12	Bidding	30	4
785	AT VILLAGE KARLI ON NEW OUTER RING ROAD, GONDKHERI TO KHADGAON ON L.H.S TOWARDS KHADGAON	NAGPUR	Regular	286	OPEN	СС	35	35	1225	32	12	Bidding	30	5
786	WITHIN 5 KM FROM JUNCTION OF NH53 AND NH547E TOWARDS KALMSHWAR ON NH547E BOTH SIDE	NAGPUR	Regular	237	OPEN	СС	35	35	1225	32	12	Bidding	30	5
787	VILLAGE-PANCHGAON TO VILLAGE - TAKLI ON LHS ON NH353D	NAGPUR	Regular	160	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
788	WITHIN 5KM FROM DIGHORI CHOWK ON NAGPUR-UMRED HIGHWAY (NH353D) TOWARDS UMRED ON L.H.S	NAGPUR	Regular	173	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
789	BETWEEN VILLAGE-SHIRPUR TO VILLAGE- MAKARDHOKRA ON BUTIBORI-UMRED HIGHWAY ON MSH 6	NAGPUR	Regular	120	OBC	СС	35	35	1225	32	12	Bidding	30	4
	VILL-LANJADA ON LHS WHILE MOVING FROM PACHGAON TOWARDS KUHI,ON SH347 B/W KM STONE 7&9,TAL-KUHI	NAGPUR	Regular	105	OBC	СС	35	35	1225	32	12	Bidding	30	4
	WITHIN 2 KM FROM MOIL GUMGAON MINE MAIN GATE ON KHAPA TO PATANSAONGI TOWARDS PATANSAONGI ON L.H.S	NAGPUR	Regular	119	OBC	СС	35	35	1225	32	12	Bidding	30	4
/(1/)	B/W VILLAGE-WELTUR AND VILLAGE- KHAIRLANJI ON SH347, TAL-KUHI	NAGPUR	Regular	110	OBC CC 1	СС	35	35	1225	32	12	Bidding	30	4
793	AT VILLAGE SIRSAWADI ON KATOL TO SAWARGAON (SH324) ROAD ON L.H.S	NAGPUR	Regular	122	OPEN	СС	35	35	1225	32	12	Bidding	30	5
794	FROM VILLAGE-PANCHGAON TO VILLAGE- DONGARGAON ON RHS,SH347(PACHGAON- KUHI-MANDHAL ROAD),TAL-UMRED	NAGPUR	Regular	105	OPEN	СС	35	35	1225	32	12	Bidding	30	5
795	VILLAGE-PANJRI TO VILLAGE -AMGAON DEOLI, TAL - HINGNA ON SH344	NAGPUR	Regular	140	OPEN	СС	35	35	1225	32	12	Bidding	30	5
796	BETWEEEN WATHODA HANUMAN CHOWK AND PRAJAPATI CHOWK TOWARDS PRAJAPATI CHOWK ON INNER RING ROAD L.H.S	NAGPUR	Regular	221	SC	CFS	20	20	545	0	0	Draw of Lots	0	3
797	BETWEEN KHARBI SQ TO DIGHORI SQ ON INNER RING ROAD ON L.H.S	NAGPUR	Regular	251	SC	CFS	20	20	545	0	0	Draw of Lots	0	3
	BETWEEN JAIPRAKASH NAGAR METRO STATION AND JAITALA BAZAR SQ ON KHAMLA- JAITALA ROAD NAGPUR CITY	NAGPUR	Regular	164	ST	CFS	20	20	545	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be an	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
799	BETWEEN SHANKARNAGAR SQ AND DHARAMPETH POLYTECHNIIC,NAGPUR MAIN GATE	NAGPUR	Regular	186	ST	CFS	20	20	545	0	0	Draw of Lots	0	3
800	AT VILLAGE SONKHAMB ON KALMESHWAR TO KATOL ROAD ON L.H.S TOWARDS KATOL	NAGPUR	Regular	154	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
801	VILLAGE - SUKALI, ON LHS WHILE MOVING FROM MANGRUD TOWARDS BHISI, ON NH 353E, TAL-BHIWAPUR	NAGPUR	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
802	VILLAGE-MARODI ON NH53(OLD NH6)LHS B/W KM 516 & 514 WHILE TRAVELLING FROM MAUDA TOWARDS BHANDARA	NAGPUR	Regular	330	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
803	WITHIN 5 KM FROM SAMRUDHI MAHAMARG ZERO CHAINAGE TOWARD GONDKHERI ON OUTER RING ROAD L.H.S	NAGPUR	Regular	218	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
804	AT VILLAGE BANSINGI TAL. PARSEANI ON NH753	NAGPUR	Regular	172	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
805	ON NH44(OLD NH7),LHS FROM VILLAGE- KHUMARI TO VILLAGE-KANDRI, TAL- RAMTEK	NAGPUR	Regular	320	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
806	VILLAGE-KATTA ON NH44, LHS WHILE MOVING FROM NAGPUR TOWARDS JABALPUR, TAL-RAMTEK	NAGPUR	Regular	205	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
807	VILLAGE - ADEGAON, TAL - KUHI ON SH 347	NAGPUR	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
808	AT VILLAGE TELKAMTI ON SAVNER TO TISTI(BK) ROAD ON R.H.S	NAGPUR	Regular	125	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
809	WITHIN 2.5 KM FROM BHARAT NAGAR SQ ON BHARATWADA ROAD TOWARDS PAWANGAON	NAGPUR	Regular	185	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
810	AT PARDI WITHIN 1KM FROM BHANDEWADI- BIDGAON FATA TOWARDS ANTUJI NAGAR	NAGPUR	Regular	189	ОВС РН	DC	20	20	545	32	75	Draw of Lots	15	4
811	AT ZINGABAI TAKLI ON GODHANI ROAD (WITHIN MUNICIPLE LIMIT OF NAGPUR)	NAGPUR	Regular	159	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
812	BETWEEN BESA CHOWK TO MANEWADA CHOWK ON MANEWADA- BESA ROAD	NAGPUR	Regular	225	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
813	BETWEEN DANAPANI SQ AND CHAPPRU NAGAR SQ IN NAGPUR CITY	NAGPUR	Regular	204	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
814	BETWEEN MALGI NAGAR SQ AND GAUSEYAZAM SQ ON INNER RING ROAD BOTH SIDE (NAGPUR CITY)	NAGPUR	Regular	199	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
815	BETWEEN NEW KATOL NAKA TRAFFIC SIGNAL AND NMC TOLL (VAYUSENA NAGAR) ON INNER RING ROAD ON L.H.S	NAGPUR	Regular	176	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
816	BETWEEN PRATAP NAGAR SQ TO CHATRAPATI SQ ON INNER RING ROAD (NAGPUR CITY) ON L.H.S	NAGPUR	Regular	195	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUM	1 CORPORATION I	.IMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
817	BETWEEN SHITLA MATA MANDIR SQ AND DIGHORI SQ ON UMRED ROAD (NAGPUR CITY)	NAGPUR	Regular	155	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
818	BETWEEN SOMLEWADA CHOWK TO RAJA BHOJ CHOWK(MANISH NAGAR) ON SOMLEWADA-BESA MAIN ROAD	NAGPUR	Regular	186	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
819	BETWEEN WATHODA HANUMAN CHOWK AND KHARBI CHOWK BOTH SIDE ON INNER RING ROAD	NAGPUR	Regular	204	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
820	WITHIN 1 KM FROM MAIN GATE OF SYMBIOSIS COLLEGE ON WATHODA MAIN ROAD	NAGPUR	Regular	160	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
821	WITHIN 2 KM FROM RESHIMBAGH CHOWK ON NAGPUR-UMRED ROAD ON L.H.S TOWARDS UMRED	NAGPUR	Regular	192	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
822	WITHIN 3 KM FORM MANKAPUR CHOWK ON INNER RING ROAD TOWARDS AUTOMOTIVE CHOWK BOTH SIDE	NAGPUR	Regular	190	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
823	BETWEEN SHIVAJI CHOWK TO SHRI KRISHNA NAGAR CHOWK ON MIDDLE RING ROAD ON L.H.S	NAGPUR	Regular	182	OPEN PH	DC	20	20	545	32	75	Draw of Lots	15	5
824	AT DHAPEWADA BK ON KALMESHWAR- SAONER ROAD TOWARDS SAONER ON L.H.S	NAGPUR	Regular	164	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
825	AT VILLAGE GHORAD ON KALMESHWAR TO KATOL TOWARDS KATOL L.H.S NH 353J	NAGPUR	Regular	154	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
826	B/W VILL-BHANDEWADI & VILL-KHANDALA, ON NH247	NAGPUR	Regular	185	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
827	B/W VILL-LIHIGAON & VILL-NERI, ON NAGPUR OUTER RING ROAD(NH), LHS FROM KAPSI TOWARDS MANSAR	NAGPUR	Regular	290	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
828	BETWEEN KM STONE 728 & KM STONE 731, VILL-PANDHURNA ON NH44(OLD NH07) LHS FROM JABALPUR TO HYDERABAD	NAGPUR	Regular	495	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
829	FROM NH353D-NH353E INTERSECTION(UMRED) TILL MANGRUD T- POINT ON RHS, ON NH353E	NAGPUR	Regular	310	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
830	ON LHS, FROM NH353D-OUTER RING ROAD JUNCTION TO VILLAGE-KALAMANA ON NH353D (NAGPUR UMRED ROAD)	NAGPUR	Regular	245	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
831	VILLAGE - GAVSUT, ON NH247, TAL - UMRED	NAGPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
832	VILLAGE-CHICHALA TO VILLAGE-SALEBHATTI ON LHS WHILE MOVING TOWARDS BHISI, ON NH353E,TAL-BHIWAPUR	NAGPUR	Regular	165	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUN	ORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
833	WITHIN MUNICIPAL LIMITS OF RAMTEK ON NH 753	NAGPUR	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
834	AT CHHTRAPUR ON NAGPUR TO PANDHURNA ROAD NH47 ON L.H.S TOWARDS PANDHURNA	NAGPUR	Regular	188	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
835	AT DAHEGAON ON NH353J (NAGPUR- KALMESHWAR ROAD) BOTH SIDE	NAGPUR	Regular	203	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
836	AT KALMESHWAR BYPASS ON NH353J (NAGPUR TO KATOL ROAD) ON L.H.S	NAGPUR	Regular	205	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
837	AT KHAPA VILLAGE ON NH753 SAONER TO PARSEAONI	NAGPUR	Regular	173	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
838	AT VILLAGE BHANEGAON TAL SAONER ON NH247 ON DAHEGAON TO KAMPTEE ROAD ON LHS TOWARDS KAMPTEE	NAGPUR	Regular	172	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
839	AT VILLAGE HETISURLA TAL. SAONER ON NH47 (PANDHURNA-NAGPUR ROAD) BOTH SIDE	NAGPUR	Regular	261	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
840	AT VILLAGE LINGA ON NH353J (KATOL TO KALMESHWAR ROAD) TOWARDS KALMESHWAR ON L.H.S	NAGPUR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
841	AT VILLAGE-KADOLI ON NH53(OLD NH6), LHS WHILE MOVING FROM BHANDARA TOWARDS NAGPUR, TAL-KAMPTEE	NAGPUR	Regular	380	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
842	B/W VILL-KANHALGAO&VILL- HUDKESHWAR,B/W KM STONE NO 738&740,ON NAGPUR BYPASS,LHS FROM JAMTHA TO KAPSI	NAGPUR	Regular	480	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
843	FROM NH353D-NH353E INTERSECTION(UMRED) TILL MANGRUD T- POINT ON LHS, ON NH353E	NAGPUR	Regular	285	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
844	FROM VILL. LONARE TO VILL. RANALA ON NEW OUTER RING ROAD ON L.H.S	NAGPUR	Regular	345	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
845	FROM VILL. MAHURZARI TO VILL. CHAKKIKHAPA ON NEW OUTER RING ROAD ON L.H.S	NAGPUR	Regular	357	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
846	FROM VILLAGE-KHAPRI TO VILLAGE- BOTHALI ON NH44(OLD NH7) ON LHS	NAGPUR	Regular	800	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
847	FROM VILLAGE-UDASA TO VILLAGE-UTI, LHS ON NH353D(NAGPUR-UMRED HIGHWAY)	NAGPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
848	FROM VILLAGE-UDASA TO VILLAGE-UTI, RHS ON NH353D(NAGPUR-UMRED HIGHWAY)	NAGPUR	Regular	217	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
849	FROM VILL-PAWANGAON TO VILL- MHASALA ON LHS, ON NEW OUTER RING ROAD(NH), TAL-KAMPTEE	NAGPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
850	LHS FROM VILL-SONEGAON TO VILL- BORKHEDI, ON NH44, DISTRICT - NAGPUR	NAGPUR	Regular	340	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUM	1 CORPORATION I	.IMITED				
s.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
851	ON LHS FROM VILL-MAHALGAON TO VILLAGE-GUMTHALA, TAL-KAMPTEE ON NH53(OLD NH6)	NAGPUR	Regular	460	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
852	ON NH 353I, FROM SALAIDHABA TO SAMRUDDHI EXPRESSWAY DATALA INTERCHANGE ON LHS, TAL - HINGNA	NAGPUR	Regular	290	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
853	ON NH44(NAGPUR BYPASS),1 KM AWAY FROM KKBP TOLL PLAZA(KANDRI) TOWARDS VILLAGE-LIHIGAON ON LHS	NAGPUR	Regular	245	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
854	ON OUTER RING ROAD, LHS FROM JAMTHA INTERCHANGE TO SAMRUDDHI STARTING POINT	NAGPUR	Regular	550	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
855	ON OUTER RINGROAD WITHIN 2KM FROM JUNCTION OF NH53 AND OUTER RING ROAD TOWARDS KHADGAON ON L.H.S	NAGPUR	Regular	281	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
856	VILLAGE-AMBADI TO VILLAGE-BHUGAON ON LHS WHILE MOVING FROM WADODA TO KUHI ON NH247,TAL-KAMPTEE	NAGPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
857	WITHIN 1 KM RADIUS FROM YASHWANTRAO CHAVAN COLLEGE OF ENGINEERING GATE (HINGNA) ON NH353I	NAGPUR	Regular	253	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
858	AT VILLAGE KINHI TAL. HINGNA ON HINGNA TO MOHGAON ROAD	NAGPUR	Regular	126	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
859	VILLAGE-NAND,TAL-BHIWAPUR ON SH342	NAGPUR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
860	AT VILLAGE-BABDEO,TAL-MAUDA, ON SH339	NAGPUR	Regular	180	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
861	AT VILLAGE-TARSA ON SH345, WITHIN 2KM FROM JUNCTION OF SH345&SH339,ON LHS TOWARDS KANHAN, TAL-MAUDA	NAGPUR	Regular	430	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
862	ON ISAPUR(BU) VILLAGE KATOL TO SAONER ROAD TOWARDS SAONER ON R.H.S	NAGPUR	Regular	131	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
863	VILLAGE MARAJGHAT, TAL-UMRED ON MSH6 (BUTIBORI-UMRED ROAD)	NAGPUR	Regular	170	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
864	VILLAGE-KHANDALA RHS WHILE MOVING FROM KANHAN TOWARDS TARSA ON SH345(KANHAN-TARSA RD), TAL-PARSEONI	NAGPUR	Regular	155	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
865	From Shivaji CHowk to Guru Gobind Singh ji Museum Via District Court Road in Nanded City	NANDED	Regular	180	OPEN	СС	20	20	545	32	12	Bidding	30	5
866	Within 10 Km from Dhavle Corner in Nanded City Towards Kandhar on Nanded- Osmannagar Road	NANDED	Regular	160	OBC	СС	35	35	1225	32	12	Bidding	30	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALEI	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
867	Within 2 km From Bhokar Phata in Tamsa Tal- Hadgaon towards Himayatnagar on Tamsa- Himyatnagar Road	NANDED	Regular	165	OBC	СС	35	35	1225	32	12	Bidding	30	4
868	On LHS Towards Degloor From Village Kahala Bk. to Village Kushnoor on Nanded- Degloor Highway	NANDED	Regular	230	OPEN	СС	35	35	1225	32	12	Bidding	30	5
869	Within 2 km from Barhali Phata in Mukhed Town towards Barhali on Mukhed- Barhali Road	NANDED	Regular	165	OPEN	СС	35	35	1225	32	12	Bidding	30	5
870	Within Municipal Limits of Dharmabad Town Not on NH/SH	NANDED	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
871	Within 2 km from Chatrapati Sambhaji Chowk, Karadked Towards Degloor on LHS on Degloor- Udgir Road	NANDED	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
872	Within 2 km from Narsi Square towards Nanded on RHS on Nanded- Degloor Highway	NANDED	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
873	Between Km Stone 10 and 12 on LHS in Village Dorli, Tal- Hadgaon on Tamsa- Hadgaon Road SH251	NANDED	Regular	113	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
874	Within 1.5 km from Shivaji Chowk, Jamb Bk Taluka Mukhed towards Mukhed LHS on Mukhed- Ahmedpur road	NANDED	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
875	Within 2 km radius of Kala Mandir in Nanded City, Within Municipal Limits Not on NH/SH	NANDED	Regular	150	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
876	Within 3 km radius of Degloor Naka in Nanded City, Within Municipal Limits Not on NH/SH	NANDED	Regular	180	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
877	Within 3 km radius of Raj Corner Chowk in Nanded City, Within Municipal Limits Not on NH/SH	NANDED	Regular	155	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
878	Within Municipal Limits of Nanded City Not on NH/SH	NANDED	Regular	195	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
879	Within Municipal Limits of Bhokar Town Not on NH/SH	NANDED	Regular	135	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
880	Within Municipal Limits of Hadgaon Town Not on NH/SH	NANDED	Regular	158	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
881	Kinwat Town to Village Kothari on NH 161A either side	NANDED	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
882	Within 3 Km from Outside Municipal Limit of Loha Town Towards Latur on LHS on Nagpur Tuljapur Road	NANDED	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
883	From Village Ghogri to Village Shivpuri Taluka Hadgaon on Bhokar- Tamsa Road	NANDED	Regular	130	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
884	Within 1 KM from Shahada Nagar Palika Office (Not on NH/SH)	NANDURBAR	Regular	200	OPEN	СС	30	30	900	32	12	Bidding	30	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALEI	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUM	1 CORPORATION I	.IMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
885	On NH753BE/Old SH04 within 2 KM from Taloda Forest Check Post Naka towards Shahada	NANDURBAR	Regular	165	OBC	СС	35	35	1225	32	12	Bidding	30	4
886	On NH53/NH6 LHS between Visarwadi towards Khanapur, Taluka Navapur	NANDURBAR	Regular	210	OPEN	СС	35	35	1225	32	12	Bidding	30	5
887	Nandurbar within municipal corporation limits (Not on NH/SH)	NANDURBAR	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
888	On NH753B/Old SH04 within 1 KM from Jamia ITI College, Akkalkuwa	NANDURBAR	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
889	On NH753BB/Old SH6 between Dhule Chaufuli and village Vavad, Taluka Nandurbar	NANDURBAR	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
890	On NH53/NH6 LHS from Navapur towards Visarwadi at Sawarat village	NANDURBAR	Regular	242	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
891	On NH752G LHS from Prakasha towards Nandurbar at Korit Village	NANDURBAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
892	On NH753B RHS within 2 KM from Karan Chaufuli towards Dhule Chaufuli	NANDURBAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
893	On SH1 at village Varde, Taluka Shahada	NANDURBAR	Regular	112	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
894	On SH1 Mandane village, taluka Shahada	NANDURBAR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
895	On SH6/Dhanora Road at village Sundarde, Taluka Nandurbar	NANDURBAR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
896	Between Indira Nagar and DGP Nagar1 on Param Pujya Ravishankarji Marg, Wadala Gaon, Nashik City	NASHIK	Regular	185	OPEN	СС	30	30	900	32	12	Bidding	30	5
897	Dindori Road on exit of Nashik City on either side within 4 KM from Municipal Limits	NASHIK	Regular	220	OPEN	СС	30	30	900	32	12	Bidding	30	5
898	From Yashwant Nagar to Nashik Municipal Border on LHS of Dindori road, within Municipal Limits	NASHIK	Regular	245	OPEN	СС	30	30	900	32	12	Bidding	30	5
899	at Sagpada, either side on Vani Saputara Road NH953	NASHIK	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
900	Between Ondli & Saturli on Ghoti- Trimbakeshwar Road on either side of NH- 160A	NASHIK	Regular	165	OPEN	СС	35	35	1225	32	12	Bidding	30	5
901	From Khadakjamb to Vadalibhoi on LHS on Mumbai Agra Highway NH-60	NASHIK	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
902	LHS from Curry Leaves Pimpalgaon to Pimpalgaon Basawant on NH160 (NH3)	NASHIK	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
903	LHS from Rasegaon bus stand to Umrale village ion NH848	NASHIK	Regular	155	OPEN	СС	35	35	1225	32	12	Bidding	30	5
904	On LHS from Kundewadi Phata to Musalgaon Phata on Sinnar-Shirdi Highway NH 160	NASHIK	Regular	215	OPEN	СС	35	35	1225	32	12	Bidding	30	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALEI	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUM	ORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
905	On LHS from Village Gonde to Village Dodi on Nashik-Pune Highway NH-60	NASHIK	Regular	205	OPEN	СС	35	35	1225	32	12	Bidding	30	5
906	Within 2 km of Yeola Gurudwara on NH 752G on LHS of Manmad to Kopergaon	NASHIK	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
907	Within 4 km from Manamd Chaufali at Malegaon toward Dhule on RHS of NH-60 (Old NH3 Mum-Agra HW)	NASHIK	Regular	180	OPEN	СС	35	35	1225	32	12	Bidding	30	5
908	From Chondi to Jalgaon (Taluka Malegaon) on LHS on SH-10 (Manmad Malegaon Road)	NASHIK	Regular	140	OPEN	СС	35	35	1225	32	12	Bidding	30	5
909	LHS from Nasik bird Garden to Dhakhambe on SH03	NASHIK	Regular	135	OPEN	СС	35	35	1225	32	12	Bidding	30	5
910	From Jyotiba Phule Chowk at Malegaon to Daregaon on either side within Malegaon Municipal limits	NASHIK	Regular	150	ST	CFS	20	20	545	0	0	Draw of Lots	0	3
911	Within Limits of Nandgaon Town Not on SH/NH	NASHIK	Regular	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
912	Within Municipal Limits of Satana Not on SH/NH	NASHIK	Regular	130	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
913	From Trimbakeshwar Temple to Amboli valley LHS on NH160A	NASHIK	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
914	From Gondgaon to Khamgaon (Taluka Yeola) on either side of NH 752H (Yeola Vaijapur Road)	NASHIK	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
915	From Taharabad to Kathgad on LHS on NH 752G (Taharabad Pimpalner Road)	NASHIK	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
916	within 5 kms of RTO office Pimpagaon Baswant on NH953, LHS from Vani to Pimpalgaon	NASHIK	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
917	From Raypur to Nimbale on Manmad Lasalgaon Road SH-29	NASHIK	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
918	Lakhmapur Phata to Vani bus stand LHS on SH03	NASHIK	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
919	LHS from Narayangaon bus stop to Saikheda Phata at ozar, on SH35	NASHIK	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
920	LHS from Umaremal to Surgana on SH20	NASHIK	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
921	at Niphad,LHS from Niphad to Pimpalgaon on SH23	NASHIK	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
922	Between Brahmanpada and Jaykheda (Taluka Satana) on SH-16 (Nampur Taharabad Road)	NASHIK	Regular	115	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Between Deshmane Bk. to Jalgaon Neur on either side of Nashik Aurrangabad HW on SH30	NASHIK	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUN	ORPORATION I	IMITED				
s.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			rranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
924	From Aangangaon to Rayate on either side of Aurrangabad Nashik Highway SH30	NASHIK	Regular	125	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
925	Between Sainath Nagar Chowk and Roongta Castle building on RHS of Sawata Mali Road	NASHIK	Regular	180	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
926	From Inox Cinema Junction to Samta Nagar on either side of Shri Samarth Ramdas Swami Marg	NASHIK	Regular	185	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
927	From Pioneer Hospital Circle to Jai Laxmi Mata Chowk on either side of Ashoka Marg	NASHIK	Regular	200	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
928	FROM SHRI BALI MAHARAJ CHOWK(NH-3) TO RTO CORNER ON MERI-RASBIHARI LINK ROAD EITHER SIDE	NASHIK	Regular	195	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
929	On either side of Old Chehadi Road from Kharjul Circle to its junction with NH 60	NASHIK	Regular	160	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
930	within 5 kms of Pandav Nagari, Pathrdi Phata on either side of the road,Nashik city	NASHIK	Regular	190	OBC CC 1	DC	20	20	545	32	75	Draw of Lots	15	4
931	At Vihitgaon on Pathardi-Wadner Road, Nashik City	NASHIK	Regular	160	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
932	Bytco Point to Inox Cinema Junction (Tapovan Road junction) on Nashik-Pune Road RHS	NASHIK	Regular	285	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
933	From Indian Railway Institute of Electrical Engg. to Sinnar Phata on RHS of Eklahara Road	NASHIK	Regular	165	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
934	From Mhada colony to Mhasrul Gaon on either side of Mhasrul-Adgaon road	NASHIK	Regular	150	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
935	Motibag Naka to Allama Iqbal Bridge on either side in Malegaon Municipal limits	NASHIK	Regular	150	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
936	On LHS between Dwarka Chowk and Inox Cinema Junction(Tapovan Road junction) on Nashik-Pune road	NASHIK	Regular	290	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
937	On pipeline road, Nashik City, either side of road	NASHIK	Regular	240	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
938	On RHS of Mhasrul-Adgaon Road, from Mhada colony to its junction with NH- 3(NH160)	NASHIK	Regular	170	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
939	Within 2 kms from Sinnar Phata towards Sinnar on LHS of NH60, Nashik-Pune Highway	NASHIK	Regular	180	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
940	From Dongrale to Dahidi (Taluka Malegaon) on LHS on NH-160H (Kasumaba Malegaon Highway)	NASHIK	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
941	From Manmad to Savargaon on LHS of NH 752G (Manmad Yeola Road)	NASHIK	Regular	175	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	.IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
942	From Village Ondli to Village Deogaon on Ghoti-Vaitarna road NH-160A From Wake (Taluka Chandwad) to Patane	NASHIK	Regular	155	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
943	(Taluka Malegaon) on LHS of NH60 (Old NH3 Mumbai-Agra Highway)	NASHIK	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
944	From Yeola to Savargaon on LHS of Manmad Yeola Road NH 752G	NASHIK	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
945	LHS from Pachore Phata to Shirvade Phata on NH160 (NH3)	NASHIK	Regular	200	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
946	LHS from Jaulke Phata Bus stop to Ozar on NH3, outside municipal Limits	NASHIK	Regular	190	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
947	On RHS between Palse and Mohdari Ghat on NH60, Nashik-Pune Highway	NASHIK	Regular	205	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
948	Within 4 km from Malegaon Choufully at Manmad towards Nandgaon on NH 753J on either side	NASHIK	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
949	within 5 kms of Mawdi Phata, RHS from Pimplagoan to wani on NH953	NASHIK	Regular	170	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
950	From Tarsali to Audane (Taluka Satana) on either side on NH752G (Satana Taharabad Road)	NASHIK	Regular	150	ОВС РН	DC	35	35	1225	32	95	Draw of Lots	15	4
951	at Jaulke wani, LHS from vani to Pimpalgaon on NH953	NASHIK	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
952	at Kasbe Vani on either side of Vani Saputara Road NH953	NASHIK	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
953	at savalghat, either side of Peth Road on NH848	NASHIK	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
954	Between Gondedumala and Padli Deshmukh on Mumbai-Agra Highway NH3(NH160),LHS towards Mumbai	NASHIK	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
955	Between KM stone 170 to KM stone 174 on RHS from Nashik towards Pune on Nashik- Pune Highway NH60	NASHIK	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
956	From Deola to Satwachiwadi on either side of NH 752G (Deola Satana Road)	NASHIK	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
957	From Manmad Choufally Malegaon to Daregaon on NH 60 on either side of Mumbai Agra Highway NH-60	NASHIK	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
958	LHS from HAL Ozar to Pimpalgaon Toll on NH160 (NH3)	NASHIK	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
959	On LHS moving from Ghoti to Igatpuri on Mumbai-Agra Highway NH3(NH160)	NASHIK	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
960	ON NH-160A ON LHS FROM GHOTI TOWARDS SINNAR, BETWEEN KM STONE 30 TO KM STONE 27	NASHIK	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUN	ORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
961	BETWEEN TAKEGOTI AND IGATPURI on either side of Ghoti - Sinnar highway (NH- 160A)	NASHIK	Regular	180	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
962	at Mhalsakore, either side of Mhalsakore Road, SH 23	NASHIK	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
963	at Rasalpur, LHS from Nashik to Niphad on SH30	NASHIK	Regular	120	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
964	Within 3 km of Manmad Chaufalli at Malegaon towards Manmad on either side of SH-10	NASHIK	Regular	160	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
965	Between Satana and Village Brahmangaon on either side on SH-19 (Satana Malegaon Road)	NASHIK	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
966	Between Baragaon Pimpri and Village Nimgaon on SH on RHS towards Nimgaon	NASHIK	Regular	135	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
967	Between Dhondegaon and Devargaon on either side of SH-26	NASHIK	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
968	Between KM Stone 99 to 101 on SH 10 on either side	NASHIK	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
969	from Kotamgaon to Lasalgaon, either side on SH29	NASHIK	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
970	From Manmads to Dongaon on SH-8 Manmad-Girnare-Umrane Road	NASHIK	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
971	From Village Kankori to Village Marhal on Nandurshingote-Marhal Road SH-45 on either side of road	NASHIK	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
972	FROM VILLAGE MATORI TO DUGAON PHATA ON SH-26 ON EITHER SIDE	NASHIK	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
973	From Yeola to Vadgaon Balhe (Taluka Yeola) on SH-25 (Yeola Nandgaon Road)	NASHIK	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
974	From Yeola to Vishwalata College Bhatgaon on either side on Yeola Patoda Lasalgaon Road SH 25	NASHIK	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
975	LHS from Saikheda Phata to Kothure Phata on SH30	NASHIK	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
976	LHS from Vani to Nanduri on SH17	NASHIK	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
977	Between Khamkheda and Pimpaldar (Taluka Satana) on either side on SH-17 (Satana Kalwan Road)	NASHIK	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
978	WITHIN KM STONE 207 TO 209 RHS ON NH 548C FROM KUSALAMB TOWARDS YERMALA	OSMANABAD	Regular	150	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
979	On Kalamb Dhoki Road between Km Stone 6 and 8 of SH 208, RHS towards Dhoki	OSMANABAD	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
980	Village Bavi Taluka Bhoom on Bhoom- Ahmednagar road	OSMANABAD	Regular	122	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
981	OSMANABAD CITY WITHIN MUNICIPAL LIMIT (Not on NH/SH)	OSMANABAD	Regular	155	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
982	WITHIN MUNICIPAL LIMITS OF PARANDA CITY (NOT ON NH/SH)	OSMANABAD	Regular	120	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
983	WITHIN MUNICIPAL LIMITS OF TULIAPUR CITY (NOT ON NH/SH)	OSMANABAD	Regular	120	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
984	WITHIN 4 KMS OF ASHTA MOD BUS STOP FROM JALKOT TO YENEGUR ON NH65	OSMANABAD	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
985	WITHIN 4 KMS OF TERKHEDA BRIDGE ON NH 52 FROM YERMALA TO GOLEGAON	OSMANABAD	Regular	160	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
986	Between Milestone 48 to 50 on NH52 on LHS while going from Tuljapur to Osmanabad	OSMANABAD	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
987	Within 2 km from Vitthal Sai SSK towards Yenegur on NH 548B	OSMANABAD	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
988	Within 6 KM from Talmod toll Plaza towards Omerga on LHS on NH65	OSMANABAD	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
989	WITHIN STONE NO 12 TO STONE NO 16 ON NH548B ON EITHER SIDE OF THE ROAD	OSMANABAD	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
990	Between Milestone No 10 and 12 on either side on SH208, Kalamb Dhoki road via Bhatshirpura	OSMANABAD	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
991	WITHIN 4 KMS OF ZILLA PARISHAD SCHOOL JAMGAON ON PARANDA TO SALSE ROAD	OSMANABAD	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
992	WITHIN 5 KM FROM GOLAI CHOWK TOWARDS PARDI ON BHOOM-PARDI ROAD	OSMANABAD	Regular	125	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
993	WITHIN STONE NO. 46 TO STONE NO. 49 ON SH153 ON TULIAPUR BARSHI ROAD	OSMANABAD	Regular	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
994	Dongarpada (Virar W) within muncipal corporation limts	PALGHAR	Regular	180	OPEN	СС	20	20	545	32	12	Bidding	30	5
995	Vasai East (within VVMC Limits) on Sativali- Vasai Railway Station Road	PALGHAR	Regular	290	OPEN	СС	30	30	900	32	12	Bidding	30	5
996	Vasai West within Muncipal Corporation Limits	PALGHAR	Regular	210	OPEN	СС	20	20	545	32	12	Bidding	30	5
997	BETWEEN KUDUS AND WADA ON NH 848 ON LHS TOWARDS WADA	PALGHAR	Regular	220	ОВС	СС	35	35	1225	32	12	Bidding	30	4
998	On LHS of Ahmedabad-Mumbai Highway NH48 Between Varai Naka to Khaniwade Toll Naka	PALGHAR	Regular	270	OPEN	СС	35	35	1225	32	12	Bidding	30	5
999	At Kaman on Kaman-Bhiwandi Road, within Muncipal Corporation Limits.	PALGHAR	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1000	LHS of Mumbai-Ahmedabad Highway (NH48) from Lodha Dham temple to Sativali Phata	PALGHAR	Regular	330	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1001	On RHS from Virar East towards Virar Phata (Gopcharphada - Chandansar Road route)	PALGHAR	Regular	180	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1002	BETWEEN KASATWADI AND MORCHONDI ON NH 160A ON EITHER SIDE	PALGHAR	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1003	On LHS of NH160A from Manor to Palghar	PALGHAR	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1004	On LHS of NH160A from Palghar to Manor	PALGHAR	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1005	At Vangaon on Vangaon-Chinchani State Highway. (Tehsil Dahanu)	PALGHAR	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1006	Between Nagzari to Chilhar Phata on LHS of SH-74 towards Chilhar	PALGHAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1007	Between Nagzari to Chilhar Phata on RHS of SH-74 towards Chilhar	PALGHAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1008	Between Jakat Naka and Bolinj Naka on Virar-Agashi Road	PALGHAR	Regular	160	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
1009	Between Shirsad to Pelhar on LHS of NH48 towards Mumbai (within VVMC Limits)	PALGHAR	Regular	160	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
1010	Between Wagholi to Saloli on Wagholi-Giriz Road (within muncipal corporation limits)	PALGHAR	Regular	170	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1011	On LHS from Virar East towards Virar Phata (Gopcharphada - Chandansar Road route)	PALGHAR	Regular	180	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
1012	On Virar-Nalasopara Link Road, between Mhada Colony and Lakshmiben Chedda Nagar Junction	PALGHAR	Regular	160	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
1013	Within 3 kms of Bolinj Naka on Bolinj Naka- Agashi Road	PALGHAR	Regular	155	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1014	At Umela, on Umela-Naigaon Road in Muncipal Corporation Limits	PALGHAR	Regular	150	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1015	Between Sativali Phata to Bapane on LHS of NH48 towards Mumbai (within VVMC Limits)	PALGHAR	Regular	380	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
1016	Nalasopara East on Pelhar Road, between Nalasopara Railway Flyover to Nalasopara Phata	PALGHAR	Regular	160	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1017	Vasai East within VVMC City Limits	PALGHAR	Regular	200	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1018	Virar-West within muncipal corporation limts	PALGHAR	Regular	270	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA -	BHARAT PETROLEUN	/ CORPORATION I	.IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1019	Palghar Town Within Muncipal Limits, not on SH or NH  Between Chilhar Phata to Charoti Toll Naka	PALGHAR	Regular	120	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
1020	on LHS of Mumbai-Ahmedabad Highway NH48	PALGHAR	Regular	320	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1021	BETWEEN WADA AND SAKHARE ON NH 848 ON EITHER SIDE	PALGHAR	Regular	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1022	BETWEEN KHUPARI AND WADA ON NH 848 ON RHS TOWARDS WADA	PALGHAR	Regular	220	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
1023	Between Dahanu Railway Station Bridge to Ashagad on RHS of Dahanu-Charoti Naka State Highway	PALGHAR	Regular	180	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1024	BETWEEN VIKRAMGAD AND TALAWADE ON SH 73 ON EITHER SIDE	PALGHAR	Regular	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1025	BETWEEN WADA AND MANOR ON SH ON LHS TOWARDS MANOR	PALGHAR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1026	BETWEEN WADA AND PARALI ON SH ON EITHER SIDE	PALGHAR	Regular	150	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
1027	Between Varai Naka and Safale Railway Station on SH-4	PALGHAR	Regular	105	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
1028	Between Ashagad to Charoti Naka on State Highway (Tehsil Dahanu) BETWEEN MOKHADA & KHODALA ON SH	PALGHAR	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1029	ON EITHER SIDE  Between new Office of District Collector-	PALGHAR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1030	Palghar and Shikshak Pathpedi Bhavan Palghar on MSH4	PALGHAR	Regular	220	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1031	RHS WITHIN 2 KM FROM TARODA PHATA TOWARDS PARBHANI ON NH 752K	PARBHANI	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1032	RHS WITHIN 2KM FROM VISAWA CORNER PARBHANI TOWARDS JINTUR ON NH752K TALUKA & DIST PARBHANI	PARBHANI	Regular	150	OPEN	сс	35	35	1225	32	12	Bidding	30	5
1033	MANWAT TOWN WITHIN MUNCIPAL LIMITS (NOT ON NH/SH) TALUKA MANWAT DIST - PARBHANI	PARBHANI	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1034	PURNA TOWN WITHIN MUNCIPAL LIMIT (NOT ON SH/NH) TALUKA PURNA DIST - PARBHANI	PARBHANI	Regular	130	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1035	FROM SELU TO DEVGAON PHATA ON NH548B TALUKA SELU DIST PARBHANI	PARBHANI	Regular	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1036	AT VILLAGE PINGALI ON KHANAPUR ROAD TALUKA & DIST- PARBHANI	PARBHANI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1037	FROM HADGAON VILLAGE TO WARKHED, ON PATHRI TO ASHTI ROAD TALUKA PATHRI DIST PARBHANI	PARBHANI	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA -	BHARAT PETROLEUN	/ CORPORATION I	IMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)				ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1038	ON DHAR ROAD FROM APNA CORNER PARBHANI CITY WITHIN MUNCIPAL LIMIT (NOT ON NH/SH)	PARBHANI	Regular	106	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1039	PARBHANI CITY WITHIN MUNCIPAL LIMIT ((NOT ON SH/NH) TALUKA & DIST - PARBHANI	PARBHANI	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1040	JINTUR CITY WITHIN MUNCIPAL LIMITS (NOT ON SH/NH) TALUKA JINTUR DIST- PARBHANI	PARBHANI	Regular	117	OPEN CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
1041	LHS WITHIN 2KM FROM RATNAPUR TOWARDS PATHRI ON NH 61 TALUKA MANWAT DIST - PARBHANI	PARBHANI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
10/10	RHS FROM MALEWADI TO MARDASGAON ON NH 361F	PARBHANI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1043	RHS WITHIN 3 KM FROM MAHARANA PRATAP CHOWK GANGAKHED TOWARDS PARLI ON NH 361F	PARBHANI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1044	AT VILLAGE CHANGEPHAL ON CHANGEPHAL CHUDAWA ROAD TALUKA - PURNA	PARBHANI	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	AT VILLAGE CHATORI ON CHATORI GANGAKHED ROAD TALUKA GANGAKHED DIST- PARBHANI	PARBHANI	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1046	RHS WITHIN 2 KM FROM VILLAGE KODRI BUS STAND TOWARDS GANGAKHED ON GANGAKHED DHARMAPURI HIGHWAY	PARBHANI	Regular	106	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1047	RHS WITHIN 2KM FROM VILLAGE BANWAS BUS STAND TOWARDS GANGAKHED ON BANWAS GANGAKHED HIGHWAY	PARBHANI	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1048	LHS TOWARDS PATHRI FROM VILLAGE UJALAMBA TO VILLAGE BABHULGAON ON UMARI PATHARI HIGHWAY	PARBHANI	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	LHS WITHIN 3KM FROM SHIVAJI MAHARAJ CHOWK SONPETH TOWARDS SHIRSHI ON SHELGAON SHIRSHI HIGHWAY	PARBHANI	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	RHS TOWARDS SINGNAPUR FROM VILLAGE TADKALAS TO PHULKALAS ON SINGNAPUR HIGHWAY	PARBHANI	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	ON LHS, FROM BHUMKAR CHOWK TO DEHU POLICE STATION ON BANGALORE-MUMBAI HIGHWAY	PUNE	Regular	550	OBC	СС	30	30	900	32	12	Bidding	30	4
1052	Within 5 km of Vadgaon Budruk, Pune City	PUNE	Regular	600	OBC	СС	20	20	545	32	12	Bidding	30	4
	Either Side from Gangadham Chowk to Katraj-Bypass Road Intersection, Pune City	PUNE	Regular	255	OPEN	СС	20	20	545	32	12	Bidding	30	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	.IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1054	ON LHS, FROM DEHU ROAD POLICE STATION TILL KIWALE ON NH48	PUNE	Regular	400	OPEN	СС	30	30	900	32	12	Bidding	30	5
1055	On LHS,From Navale Bridge to Shindewadi on NH48	PUNE	Regular	330	OPEN	СС	30	30	900	32	12	Bidding	30	5
1056	PCMC, ON LHS, FROM KASPATE CHOWK TO WAKAD FLYOVER	PUNE	Regular	700	OPEN	СС	20	20	545	32	12	Bidding	30	5
105/	PCMC, WITHIN 2 KMS FROM ADITYA BIRLA HOSPITAL	PUNE	Regular	500	OPEN	СС	20	20	545	32	12	Bidding	30	5
	Pune City, From 509 chowk towards Mukundrao Ambedkar chowk on Tingre nagar road on LHS	PUNE	Regular	225	OPEN	СС	20	20	545	32	12	Bidding	30	5
1059	PUNE, WITHIN 3 KM OF MAHARASHTRA CRICKET ASSOCIATION INTERNATIONAL STADIUM	PUNE	Regular	220	OPEN	СС	20	20	545	32	12	Bidding	30	5
1060	RHS on Pashan Sus Road from Pashan Gaon to NH48 Flyover	PUNE	Regular	260	OPEN	СС	20	20	545	32	12	Bidding	30	5
	WITHIN 3 KM FROM INDIRA NATIONAL SCHOOL WHILE MOVING TO TATA EXCEL YARD ON EITHER SIDE OF ROAD	PUNE	Regular	380	OPEN	СС	20	20	545	32	12	Bidding	30	5
1062	WITHIN 3 KMS IN AND AROUND KATE WASTI, PUNE	PUNE	Regular	600	OPEN	СС	20	20	545	32	12	Bidding	30	5
	Within 5 km of Baner Gaon, Pune City	PUNE	Regular	510	OPEN	CC	20	20	545	32	12	Bidding	30	5
1064	WITHIN RADIUS OF 3 KM FROM ELPRO MALL, PCMC	PUNE	Regular	400	OPEN	СС	20	20	545	32	12	Bidding	30	5
1065	IN AND AROUND 2 KM OF SYSKA PLANT, AMBETHAN NOT ON SH/NH	PUNE	Regular	260	OPEN	СС	30	30	900	32	12	Bidding	30	5
1066	IN AND AROUND 4 KMS OF BIRADVADI NOT ON NH/SH	PUNE	Regular	170	OPEN	СС	30	30	900	32	12	Bidding	30	5
	From Kurkumbh junction on NH-65 to Kurkumbh phata on NH 160	PUNE	Regular	165	OBC	СС	35	35	1225	32	12	Bidding	30	4
	From Shikrapur to Chouphula on NH 548D	PUNE	Regular	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
1069	On Indapur Bypass on LHS of Pune to Solapur NH65	PUNE	Regular	160	OBC	СС	35	35	1225	32	12	Bidding	30	4
1070	ON LHS, FROM END OF NARAYANGAON BYPASS TILL END OF MANCHAR BYPASS FROM NASHIK TOWARDS PUNE ON NH	PUNE	Regular	260	OBC	СС	35	35	1225	32	12	Bidding	30	4
	Within 3 KM From Jejuri Bus Stand Towards Nira On NH-965	PUNE	Regular	180	OBC	СС	35	35	1225	32	12	Bidding	30	4
1072	At Saradwadi on Pune-Ahmednagar highway on LHS while moving towards Ahmednagar	PUNE	Regular	290	OPEN	СС	35	35	1225	32	12	Bidding	30	5
10/3	At village Swami Chincholi From Patas to Bhigwan on NH 65 on LHS	PUNE	Regular	210	OPEN	СС	35	35	1225	32	12	Bidding	30	5
	NAYGAON VILLAGE, ON NH48, OLD MUMBAI - PUNE HIGHWAY	PUNE	Regular	250	OPEN	СС	35	35	1225	32	12	Bidding	30	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUM	1 CORPORATION I	IMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1075	ON LHS, FROM ALANDI PHATA TO CHAKAN CHOWK ON PUNE TO NASHIK HIGHWAY	PUNE	Regular	310	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1076	ON LHS, FROM CHOUPHULA TILL RASE ON SHIKRAPUR TO CHAKAN ROAD	PUNE	Regular	350	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1077	ON LHS, FROM END OF RAJGURUNAGAR BYPASS TILL HOTEL RAJRATAN EXECUTIVE ON NASHIK TO PUNE HIGHWAY	PUNE	Regular	360	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1078	On LHS, From Kondhapuri to Ranjangaon on Pune-Ahmednagar Road (NH753F)	PUNE	Regular	240	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1079	ON LHS, FROM MOSHI PHATA TO ALANDI PHATA ON PUNE TO NASHIK HIGHWAY	PUNE	Regular	260	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1080	On LHS, From Shikrapur to Sanaswadi on Pune-Ahmednagar Road (NH753F)	PUNE	Regular	240	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1081	ON LHS, from Uruli Kanchan to Kunjirwadi, on NH-65	PUNE	Regular	350	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1082	On LHS, Within 3 Kms from Choufulla junction to supe on NH 965D	PUNE	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1083	ON National Highway At Post Undavadi Supe, LHS From Baramati Towards Patas	PUNE	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1084	On NH 65 LHS From Kedgaon To Bhandgaon	PUNE	Regular	260	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1085	On NH-548DD, LHS From Theur To Theur Phata	PUNE	Regular	230	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1086	On NH965 LHS From Khalad To Sakurde	PUNE	Regular	155	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1087	On NH965 LHS From Zendewadi To Saswad	PUNE	Regular	190	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1088	On Shirur Bypass road on NH753F WITHIN 2 KMS FROM HOTEL NEETA INN	PUNE	Regular	200	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1089	LONAWALA TOWARDS REGENTA HOTEL ON EITHER SIDE, ON NH	PUNE	Regular	400	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1090	WITHIN TWO KMS FROM EMARALD RESORT WHILE TRAVELLING TOWARDS MUMBAI ON NH48	PUNE	Regular	520	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1091	On NH 65, RHS From Patas To Kurkumbh Junction	PUNE	Regular	170	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
1092	On State Highway, RHS From Jejuri To Mawadikade Pathar	PUNE	Regular	130	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1093	Anywhere on Ambegaon- Jambulwadi Road before NH4 Intersection	PUNE	Regular	400	SC	CFS	20	20	545	0	0	Draw of Lots	0	3
1094	From Navale Bridge to Atmosphere Soceity LHS, Pune City	PUNE	Regular	475	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1095	IN AND AROUND 3 KM OF PIMPLE NILAKH, PCMC	PUNE	Regular	350	SC	CFS	20	20	545	0	0	Draw of Lots	0	3
1096	ON LHS WHILE TRAVELLING FROM KSB CHOWK TO AAI TULJABHAVANI TEMPLE LANDEWADI, BHOSARI	PUNE	Regular	400	SC	CFS	20	20	545	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUN	/ CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			rranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1097	ON LHS WHILE TRAVELLING FROM MULA RIVER BRIDGE TILL BHUMKAR CHOWK ON BANGALORE- MUMBAI ROAD	PUNE	Regular	550	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1098	On LHS, From Manjari Bk. To Hadapsar On NH-65	PUNE	Regular	520	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1099	ON LHS, FROM PCMC OFFICE AT BHOSARI TO MOSHI JUNCTION ON PUNE-NASHIK HIGHWAY	PUNE	Regular	300	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1100	Pune, On Wagholi-Kesnand road	PUNE	Regular	340	sc	CFS	20	20	545	0	0	Draw of Lots	0	3
1101	WITHIN 3 KM OF PMRDA BUILDING AT AKURDI	PUNE	Regular	250	SC	CFS	20	20	545	0	0	Draw of Lots	0	3
1102	Within 5 km of Iskcon Kondwa Temple, Pune City	PUNE	Regular	360	SC	CFS	20	20	545	0	0	Draw of Lots	0	3
1103	Within 5 km of Market Yard, Pune City	PUNE	Regular	250	SC	CFS	20	20	545	0	0	Draw of Lots	0	3
1104	WITHIN 3 KMS FROM DANGE CHOWK TOWARDS RAKSHAK CHOWK ON AUNDH- RAVET ROAD, PCMC	PUNE	Regular	500	SC CC 1	CFS	20	20	545	0	0	Draw of Lots	0	3
1105	From Katraj Chowk to Balaji Nagar on LHS on Katraj- Swargate Road	PUNE	Regular	375	ST	CFS	20	20	545	0	0	Draw of Lots	0	3
1106	From Lula Nagar Chowk to Khadi Machine Chowk on Either Side, Pune City	PUNE	Regular	300	ST	CFS	20	20	545	0	0	Draw of Lots	0	3
1107	ON LHS, WITHIN 4 KMS FROM HPCL DEO KRIPA PETROL PUMP WHILE TRAVELLING FROM ALANDI TOWARDS DIGHI	PUNE	Regular	300	ST	CFS	20	20	545	0	0	Draw of Lots	0	3
1108	ON LHS, WITHIN 4 KMS FROM MOSHI PHATA WHILE MOVING TOWARDS ALANDI	PUNE	Regular	250	ST	CFS	20	20	545	0	0	Draw of Lots	0	3
1109	ON LHS, FROM MAHINDRA STOCKYARD SQUARE TO DEVENDRA RANE CHOWK ROAD, TALWADE, NOT ON NH/SH	PUNE	Regular	400	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1110	WITHIN 3 KMS FROM TALEGAON RAILWAY STATION, NOT ON NH/SH	PUNE	Regular	265	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1111	Indapur Within Municipal Limits (Not on NH/SH)	PUNE	Regular	130	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1112	WITHIN 4 KM FROM BHUSHI DAM TOWARDS KUMAR RESORT ON EITHER SIDE OF ROAD NOT ON NH/SH	PUNE	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1113	From Indapur to Bawada on NH 965G	PUNE	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1114	ON LHS, FROM BHAKTI SHAKTI CHOWK TO DEHU PHATA ON OLD PUNE-MUMBAI ROAD	PUNE	Regular	230	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1115	On LHS, From Patas to Kedgaon on NH-65	PUNE	Regular	235	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	ORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1116	ON LHS, FROM START OF RAJGURUNAGAR BYPASS TILL END OF KHED GHAT BYPASS FROM PUNE TO NASHIK ON NH60	PUNE	Regular	410	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1117	On LHS, From Varve Village to Kapurhol on NH48	PUNE	Regular	320	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1118	On LHS, Within 2 Kms from Anthurne Grampanchayat office towards Indapur on NH 965G	PUNE	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1119	On NH 965G LHS From Baramati Airport To Baramati Bhighwan Road	PUNE	Regular	280	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1120	On NH965D LHS From Supe To Morgaon	PUNE	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1121	Between Mahatma phule chowk at Indapur and Ujani bridge on NH 65	PUNE	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1122	LHS, From Kunjirwadi to Loni Kalbhor on NH- 65	PUNE	Regular	350	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1123	ON LHS, NARAYANGAON BYPASS FROM NASHIK TO PUNE	PUNE	Regular	250	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1124	On NH 160, LHS From Sangavi To Pahunewadi, Baramati Phaltan Road	PUNE	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1125	WITHIN 2 KMS FROM HPC POLICE TRAINING CENTRE PUMP KHANDALA ON EITHER SIDE OF ROAD ON NH	PUNE	Regular	280	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1126	From Kurkumbh phata-Vasunde-NH 65 junction on Patas road	PUNE	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1127	FROM ALEPHATA TO BELHE ON KALYAN- AHMEDNAGAR HIGHWAY	PUNE	Regular	200	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1128	On NH 65, LHS From Patas To Kurkumbh Junction	PUNE	Regular	180	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1129	At Vadgaon Nimbalkar, On State Highway LHS From Nira To Baramati	PUNE	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1130	From NH48 intersection at Kapurhol to Balaji Mandir	PUNE	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1131	Kawathe Yemai on Malthan-Pargaon shingave road	PUNE	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1132	Nasrapur to Velhe Village on SH 65	PUNE	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1133	On SH, From Walchandnagar to Walchandnagar Police Station	PUNE	Regular	125	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1134	On State Highway From Junction Of Shirur Sanghavi Road To Karhvagaj On Morgaon Baramati Road	PUNE	Regular	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1135	WITHIN 2 KMS FROM PIRANGUT ON PIRANGUT TO LAVASA SH	PUNE	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1136	Within 3 km of Velhe Village,Pune	PUNE	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	ORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1137	Between Shirur bypass road and Nirvi on State highway	PUNE	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1138	FROM GHODEGAON TO BHIMASHANKAR ON SH	PUNE	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1139	FROM VILLAGE RANJANI TO VILLAGE NIMGAON SAWA ON MANCHAR-BELHE STATE HIGHWAY	PUNE	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1140	On SH, From Walchandnagar police station to NH-65 junction on Kalas road	PUNE	Regular	125	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1141	Within 5 Kms from Kanhur Mesai on Malthan-Pabal road	PUNE	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1142	FROM CHAS TO SHIRGAON ON RAJGURUNAGAR-BHIMASHANKAR ROAD	PUNE	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1143	FROM CHINCHWAD CHOWK TO BABA SAHEB AMBEDKAR CHOWK ON WALHEKARWADI ROAD, PCMC	PUNE	Regular	250	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1144	FROM KASPATE WASTI TO AUTO CLUSTER VIA KALEWADI PHATA ROAD	PUNE	Regular	400	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1145	FROM KSB CHOWK TO SPINE ROAD ON EITHER SIDE OF ROAD	PUNE	Regular	400	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1146	FROM LAXMI CHOWK TO KB CHOWK, HINJEWADI	PUNE	Regular	500	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1147	FROM NASHIK PHATA TO BHOSARI FLYOVER ON EITHER SIDE, PUNE	PUNE	Regular	200	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
1148	FROM SUNNY WORLD TO SUS ON NADE- SUS ROAD, PUNE	PUNE	Regular	400	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
1149	FROM TATA MOTORS TO CHIKALI ON CHIKALI ROAD	PUNE	Regular	250	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1150	IN AND AROUND 3 KM OF JAMBHE	PUNE	Regular	180	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1151	IN AND AROUND 5 KMS OF SAINT DNYANESHWAR STADIUM, BHOSARI	PUNE	Regular	300	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1152	ON LHS BETWEEN DEVENDRA RANE CHOWK AND MOSHI PHATA, PCMC	PUNE	Regular	400	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1153	ON LHS WHILE TRAVELLING FROM BHAKTI SHAKTI CHOWK TILL CHINCHWAD CHOWK	PUNE	Regular	300	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1154	ON LHS, FROM ALANDI TO MAGZINE CHOWK	PUNE	Regular	260	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1155	On LHS, From Warje to Chandini Chowk on NH48	PUNE	Regular	270	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
1156	On NDA road from NH48 crossing upto Shivane on Konde Dhawade Road, Pune City	PUNE	Regular	260	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1157	On RHS, Within 2 Kms from Wagholi Talathi office on Baif road	PUNE	Regular	290	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION L	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1158 1	Pune city, Within 3 KM from Radisson Blue Hotel at Kharadi	PUNE	Regular	245	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1159	WITHIN 2 KM OF SAMBHAJI CHOWK ON AKURDI-CHIKALI ROAD	PUNE	Regular	300	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
	Within 3 km of Seasons Mall, Pune City	PUNE	Regular	280	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
1161	WITHIN 3 KMS FROM HP PUMP OM SHIVSHAMBHU PETROLEUM ON CHIKALI ROAD	PUNE	Regular	250	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
1162	Within 4 km of NIBM, Pune City	PUNE	Regular	395	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1163	Within 5 KM Aundh Gaon, Pune City	PUNE	Regular	650	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1164 I	Within 5 km of Bhavdhan Police Chowki, Pune City	PUNE	Regular	500	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
	Within 5 km of Dhankanwadi, Pune City	PUNE	Regular	370	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
1166	Within 5 km of Dhayari, Pune	PUNE	Regular	480	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
1167	Within 5 km of Mundhwa, Pune City	PUNE	Regular	235	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
1168	ON LHS WHILE TRAVELLING FROM BHUJABAL CHOWK FLYOVER TILL BHUMKAR CHOWK ON NH48	PUNE	Regular	500	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
1169	ON LHS WHILE TRAVELLING FROM BHUMKAR CHOWK TOWARDS BHUJABAL CHOWK/WAKAD FLYOVER ON NH48	PUNE	Regular	550	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
717/0 1	On LHS, From Orchid Hotel to Wakad on NH48	PUNE	Regular	300	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
1171	WITHIN PIMPLE SAUDAGAR, PCMC, PUNE	PUNE	Regular	250	OBC PH	DC	20	20	545	32	75	Draw of Lots	15	4
11// 1	FROM BHUMKAR CHOWK TO LAXMI CHOWK, HINJEWADI	PUNE	Regular	500	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1173	FROM CHAROLI PHATA TO DABHADE SARKAR CHOWK	PUNE	Regular	370	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
	FROM KASARSAI TO CHANDKHED	PUNE	Regular	250	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
11/5 1	From Khadi Machine Chowk to Katraj on RHS	PUNE	Regular	500	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
1176	From Mantarwadi Phata To Fursungi, Pune City	PUNE	Regular	290	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
1177	From Mantarwadi Phata Towards Wadki, Pune WML	PUNE	Regular	310	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	FROM MARUNJI TO KASARSAI	PUNE	Regular	250	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1179	From Noble Hospital To Mundhwa Bridge on	PUNE	Regular	320	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1180	From Shivaji Nagar Chowk on Mudhwa Keshav Nagar Road to Keshav Nagar, Pune city	PUNE	Regular	190	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1181	From Somji Bus Stop to Punyadham Ashram on LHS on Punyadham Ashram Road, Pune City	PUNE	Regular	340	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1182	In and around 2 Kms of Tingre nagar, Pune city	PUNE	Regular	305	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1183	IN AND AROUND 3 KM OF WAKAD, Pune	PUNE	Regular	500	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1184	IN AND AROUND 3 KMS OF BOPKHEL, PCMC	PUNE	Regular	300	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1185	KIWALE VILLAGE, HAVELI TALUKA	PUNE	Regular	300	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1186	LHS on Pashan Sus Road from NH48 flyover to Sus Village	PUNE	Regular	270	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1187	On Baner- Nande Road withing 4 km of Orchid Hotel towards Nande	PUNE	Regular	450	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1188	ON LHS WHILE MOVING FROM GOVIND YASHADA CHOWK TO NASHIK PHATA, PCMC	PUNE	Regular	700	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1189	ON LHS WHILE MOVING FROM LANDEWADI TO KSB CHOWK, BHOSARI, PCMC	PUNE	Regular	400	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1190	On LHS, From Decathlon wagholi to Pir saheb dargah on NH 753F	PUNE	Regular	1140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
1191	On LHS, From Jambulwadi to Warje Bridge on NH48	PUNE	Regular	320	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
1192	On LHS, From kharadi bypass junction to Wagholi on NH 753F	PUNE	Regular	465	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
1193	ON LHS, FROM LAXMI CHOWK TO MARUNJI	PUNE	Regular	250	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1194	On Paud Road Vanaz Metro Station to Lohai Jain IT park, Pune City	PUNE	Regular	540	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1195	On RHS, From Bavdhan to Orchid Hotel on NH48	PUNE	Regular	280	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
1196	Pune City, From Chandan nagar water tank towards Mundhwa on old mundhwa road	PUNE	Regular	205	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1197	Pune city, Lohegaon, On Lohegaon to Wagholi road	PUNE	Regular	260	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1198	Pune City, Within 5 KM of New English School in Fursungi	PUNE	Regular	300	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1199	Within 2 Kms from Chirke colony chowk to Ajeenkya DY Patil college on RHS	PUNE	Regular	210	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUM	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1200	WITHIN 2 KMS FROM DEVENDRA RANE CHOWK TOWARDS DEHUGAON ON EITHER SIDE OF ROAD	PUNE	Regular	400	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1201	Within 3 KM of Koregaon Park, Pune City	PUNE	Regular	360	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1202	Within 5 km of Ambegaon Village, Pune City	PUNE	Regular	518	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1203	Within 5 Km OF Bibwewadi, Pune City	PUNE	Regular	320	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1204	Within 5 km of Fatima Nagar, Pune City	PUNE	Regular	400	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1205	Within 5 km of Kothrud, Pune City	PUNE	Regular	400	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1206	Within 6 Kms of Aga Khan Palace, Pune City (Not on NH)	PUNE	Regular	245	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1207	WITHIN RADIUS OF 2 KM FROM PIMPRI MARKET, PCMC	PUNE	Regular	400	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1208	WITHIN RADIUS OF 3 KMS FROM ISKON TEMPLE AT RAVET	PUNE	Regular	350	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1209	BETWEEN KSB CHOWK TO NOVEL INTERNATIONAL SCHOOL ON EITHER SIDE OF ROAD	PUNE	Regular	500	OPEN CC 1	DC	20	20	545	32	75	Draw of Lots	15	5
1210	ON LHS FROM NASHIK PHATA TO BHOSARI FLYOVER	PUNE	Regular	350	OPEN CC 1	DC	20	20	545	32	75	Draw of Lots	15	5
1211	ON LHS WHILE TRAVELLING FROM CHINCHWAD CHOWK TILL BHAKTI SHAKTI CHOWK	PUNE	Regular	300	OPEN CC 1	DC	20	20	545	32	75	Draw of Lots	15	5
1212	Pune city, Between Deccan college and Dighi on Alandi road	PUNE	Regular	245	OPEN CC 1	DC	20	20	545	32	75	Draw of Lots	15	5
1213	With 4 km of Amanora Park Town, Pune City	PUNE	Regular	260	OPEN CC 1	DC	20	20	545	32	75	Draw of Lots	15	5
1214	Within 5 km of Shivaji Nagar, Pune City	PUNE	Regular	380	OPEN CC 1	DC	20	20	545	32	75	Draw of Lots	15	5
1215	On RHS, From Orchid Hotel to Wakad on NH48	PUNE	Regular	305	OPEN CC 2	DC	30	30	900	32	75	Draw of Lots	15	5
1216	Within 3 Kms from Sanaswadi not on SH/NH	PUNE	Regular	110	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
1217	Within 3KM From Saswad St Stand Not On NH/SH Within Saswad Municipal Limit	PUNE	Regular	145	OBC CC 1	DC	30	30	900	32	55	Draw of Lots	15	4
1218	CHAKAN, ON LHS, WITHIN 2 KMS FROM HP CHOWK TOWARDS HYUNDAI COMPANY (Not on NH/SH)	PUNE	Regular	300	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1219	From Tuljaram Chaturchand Collage Baramati To Krushanai Lawns(Not On SH/NH)	PUNE	Regular	145	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1220	IN AND AROUND 3 KMS OF ARCELOR MITTAL STEEL PLANT NOT ON SH/NH	PUNE	Regular	290	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
s.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1221	VILLAGE KARANJA VIHIRE, TALUKA KHED, PUNE	PUNE	Regular	230	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1222	Within 2 KM From Bharatratna Dr. Babasaheb Ambedkar Stadium In Baramati Muncipal Limit(NOT on NH/SH)	PUNE	Regular	210	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1223	Within 2 KM From ISKCON Baramati (Not On SH/NH)	PUNE	Regular	145	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1224	WITHIN 2 KM FROM RAJGURUNAGAR ST STAND, Not on NH/SH	PUNE	Regular	250	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1225	WITHIN 3 KMS FROM BHAMBHOLI PHATA TOWARDS SANT TUKARAM MAHARAJ CHOWK NOT SH/NH	PUNE	Regular	400	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1226	Daund Within Municipal Limits (Not on NH/SH)	PUNE	Regular	155	OPEN CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
1227	WITHIN 2 KM FROM PUNE NASHIK HIGHWAY ON VOLKSWAGEN ROAD, NOT ON NH/SH	PUNE	Regular	210	OPEN CC 2	DC	30	30	900	32	55	Draw of Lots	15	5
1228	Between Nhavare and Nirvi on NH 548D	PUNE	Regular	155	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1229	From Kurkumbh to Daund on NH 160	PUNE	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1230	From Nirvi to Inamgaon on NH 548D	PUNE	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1231	From Shikrapur to Gholapwadi on NH 548D	PUNE	Regular	165	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1232	ON LHS, FROM KANDALI (VADGAON) TO ALEPHATA ON PUNE TO NASHIK HIGHWAY	PUNE	Regular	360	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1233	ON LHS, FROM KANDALI (VADGAON) MIDC TILL ALEPHATA ON PUNE NASHIK HIGHWAY	PUNE	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1234	ON LHS, FROM KHED BYPASS TO RAJGURUNAGAR BYPASS ON NASHIK TO PUNE HIGHWAY	PUNE	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1235	On LHS, From Nira River Bridge to Kamthadi on NH48	PUNE	Regular	300	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1236	On National Highway, LHS From Baramati To Undavadi Kadepathar	PUNE	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1237	On NH 965 RHS From Daundaj To Walhe	PUNE	Regular	165	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1238	On NH965 Saswad Bypass Road, LHS From Jejuri Towards Pune	PUNE	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1239	ON LHS, FROM HOTEL RAJRATAN EXECUTIVE TILL CHAKAN CHOWK ON NASHIK TO PUNE HIGHWAY	PUNE	Regular	365	ОВС РН	DC	35	35	1225	32	95	Draw of Lots	15	4
1240	From Nigudhgar Village to Kondhari Village on Bhor- Mahad National Highway	PUNE	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	ORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1241	From Ranjangaon to Nhavare phata on Pune- Ahmednagar road (NH-753F)	PUNE	Regular	315	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1242	INDURI VILLAGE, ON LHS FROM TALEGAON TOWARDS CHAKAN ON NH548D	PUNE	Regular	450	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1243	On LHS, From Kelewade Village to Katraj New Tunnel on NH48	PUNE	Regular	320	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1244	On LHS, From Ranjangaon to Kondhapuri on Ahmednagar Road (NH753F)	PUNE	Regular	240	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1245	ON LHS, WITHIN 2 KMS FROM SHIROLI JUNCTION FROM PUNE TOWARDS NASHIK ON NH	PUNE	Regular	360	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1246	On NH 965D LHS From Murti To Modhave	PUNE	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1247	On NH 965G RHS From Baramati To Pimpali	PUNE	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1248	On NH965G, RHS From Baramati Airport Till Baramati Bhighwan Road	PUNE	Regular	280	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1249	On RHS, From Bhavaninagar to Jachakvasti on NH 965G	PUNE	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1250	On RHS, From Pargaon to Boripardhi on NH 548D	PUNE	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1251	On RHS, Within 4 Kms from Kedgaon junction to Nhavare on NH 548D	PUNE	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1252	WITHIN 2 KMS FROM START OF MANCHAR BYPASS ON LHS WHILE GOING FROM PUNE TO NASHIK	PUNE	Regular	290	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1253	WITHIN 3 KMS FROM ALEPHATA TOWARDS NASHIK ON PUNE-NASHIK HIGHWAY IN PUNE DISTRICT	PUNE	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1254	On National Highway LHS From Kharde Wadi To Undavadi Kade Pathar	PUNE	Regular	250	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1255	On NH 965 LHS, From Walhe To Nira	PUNE	Regular	180	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1256	On NH65 LHS From Khadki To Maladpatas	PUNE	Regular	220	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
1257	On LHS, Within 6 Kms from Parodi Phata to Nhavare on NH 548D	PUNE	Regular	150	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
1258	Between Mukhai and Pabal on Shikrapur- Pabal State highway	PUNE	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1259	From Malawadi- Narhe Phata to Ingavali Gaon Phata on SH	PUNE	Regular	165	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1260	From Pondewadi to Belhe on State Highway	PUNE	Regular	135	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1261	ON LHS FROM TAMHINI GHAT TO PAUD ON STATE HIGHWAY	PUNE	Regular	155	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUM	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1262	On RHS, Within 2 Km from Chatrapati sambhaji mangal karyalay towards Pimpri Saandas on State Highway	PUNE	Regular	145	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1263	On State Highway From Bhigwan Chowk To Schreiber Dynamix Dairies Private Limited	PUNE	Regular	160	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1264	On State Highway From Loni Bhapkar To Mudhale	PUNE	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1265	On State Highway From Uruli Kanchan to Shindwane	PUNE	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1266	VILLAGE PIMPALGAON SIDDHANATH, ON STATE HIGHWAY, JUNNAR	PUNE	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1267	WITHIN 5 KMS FROM PIRANGUT ON PIRANGUT TO TAMHINI ROAD, ON EITHER SIDE OF THE ROAD	PUNE	Regular	260	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1268	Within 5 Kms from kesnand towards wadebolai on State highway	PUNE	Regular	105	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
1269	On State Highway From Uruli Kanchan To Ashtapur	PUNE	Regular	110	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
1270	2 KM From Annabhau Sathe Chowk Towards Nira On State Highway	PUNE	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1271	BETWEEN MILESTONE NO. 13 TO 15, ON LHS WHILE TRAVELLING FROM BELHE TO SHIKRAPUR ON SH	PUNE	Regular	210	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1272	BETWEEN MILESTONE NO. 4 TO 6, ON LHS WHILE TRAVELLING FROM BELHE TO SHIKRAPUR ON SH 117	PUNE	Regular	210	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1273	Between Shirur and Annapur on State highway	PUNE	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1274	From Daund to Arvi on Daund-Siddhatek State highway	PUNE	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1275	FROM NARAYANGAON TO OZAR ON STATE HIGHWAY	PUNE	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1276	From Shikrapur to Mukhai on Shikrapur- Pabal State highway	PUNE	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1277	ON SH 53, VILLAGE CHANDOLI KHURD, TALUKA AMBEGAON, PUNE	PUNE	Regular	180	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1278	On State Highway, From Askarwadi To Bhivari On Pune Bopdev Saswad Road	PUNE	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1279	On State Highway, From Pargaon To Waghapur	PUNE	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1280	PONDEWADI VILLAGE, ON ASHTAVINAYAK TO SHIRUR HIGHWAY, TALUKA AMGEGAON	PUNE	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1281	Within 2 Kms from Pabal towards Belhe on State highway	PUNE	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1282	Within Ulwe Node	RAIGAD	Regular	810	OPEN CC 1	CC	20	20	545	32	12	Bidding	30	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA -	BHARAT PETROLEUN	/ CORPORATION I	IMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)				ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)		Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1283	From Bhogwati river Bridge near Pen to Jite village LHS on Mumbai Goa Highway NH66	RAIGAD	Regular	245	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1284	Shedung Toll naka to karjat phata LHS on NH48 Mumbai Pune Highway	RAIGAD	Regular	410	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1285	From Kalamboli Circle to Pune district Border in Raigad District on Mumbai Pune Expressway	RAIGAD	Regular	1350	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1286	From JSW Colour coated Ispat Gate to Umbare village on Khopoli Pali Highway NH548A	RAIGAD	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1287	From Mangaon to Borle- village on Mangaon-Dighi Highway NH 753F	RAIGAD	Regular	310	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
1288	From Shirgaon Chouk to Lower tudil chouk on Bhor to Mhapral Highway NH965DD	RAIGAD	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1289	On Proposed Mangaon Bypass on Mumbai Goa Highway NH66	RAIGAD	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1290	From Jn of Alibag Vadhkal Rd & Alibag Revdanda Rd to Karlekhind Village on Alibag Vadhkal Hwy NH166A	RAIGAD	Regular	210	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	FROM JUNCTION OF ALIBAG WATKAL RD AND NH66 TO GAN TARF SHRIGAON VILLAGE ON WATKAL ALIBAG HWY NH166A	RAIGAD	Regular	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	From Junction of Kolad Roha Road & Mumbai Goa Highway (NH66) to Khamb village LHS on NH66	RAIGAD	Regular	175	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1293	FROM JUNCTION OF NH48 & NH548A NEAR UK RESORT KHOPOLI TO KARJAT ON KHOPOLI MURBAD HWY NH548A	RAIGAD	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1294	From Dadli Savitri river Bridge near Mahad to Nagaon on Mahad Nagaon Tamhane Highway	RAIGAD	Regular	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1295	Revas to Alibag on Revas Alibag Highway	RAIGAD	Regular	210	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
1 746	From Poladpur to Kapade kh within Raigad district on Poladpur to Mahabaleshwar Road	RAIGAD	Regular	160	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1297	From Bhagad MIDC phata to Sanaswadi Bus stand on Vile Bhagad MIDC road	RAIGAD	Regular	190	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1298	village Tembhode to Taloja MIDC on Panvel- valavali-taloja MIDC Road within Panvel Municipal Limit	RAIGAD	Regular	500	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
1299	Kamothe, Taluka Panvel	RAIGAD	Regular	750	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1300	Karanjade within Panvel Municipal Limit	RAIGAD	Regular	420	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	IMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1301	within Municipal Limit of Panvel	RAIGAD	Regular	570	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1302	From Chirner (Junction of NH348BB & NH348B) to Mumbai Goa Hwy junction on Chirner Sai Rd NH348B	RAIGAD	Regular	360	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1303	From Gavanphata to Chirner (Junction of NH348BB & NH348B) LHS on NH348B	RAIGAD	Regular	1060	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1304	From Gavanphata to Chirner (Junction of NH348BB & NH348B) RHS on NH348B	RAIGAD	Regular	870	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1305	From kalamboli circle to Kiravali Village within Raigad District LHS on NH48	RAIGAD	Regular	920	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1306	From kalamboli circle to Kiravali Village within Raigad District Right hand side on NH48	RAIGAD	Regular	770	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1307	From Vadhkal Jn (Junction of NH66 & NH166A) to Bhogwati River Bridge Pen on Mumbai Goa Highway NH66	RAIGAD	Regular	245	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1308	Village Gadab to Dolvi village LHS on Mumbai Goa Highway NH66	RAIGAD	Regular	295	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1309	Village Kalamb to Sugave village on Karjat Murbad Highway NH548A	RAIGAD	Regular	180	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1310	from Dand phata (Rasayani phata) to D Mart Palaspe phata LHS on Mumbai Pune Highway NH48	RAIGAD	Regular	410	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
1311	FROM BORGHAR HAVELI VILAGE TO AGARDANDA PORT ON INDAPUR TALA AGARDANDA HIGHWAY NH548A	RAIGAD	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1312	from Dighi Port to Mhasala on Dighi Mangaon Highway NH 753F	RAIGAD	Regular	195	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1313	From Dolvi Village to Kasu Village LHS on Mumbai Goa Highway NH66	RAIGAD	Regular	325	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1314	From Gavanphata to JNPT Custom House on JNPT Gavanphata Highway NH348A	RAIGAD	Regular	1095	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1315	From Gavhan phata junction (Jn NH348 & NH348B) to JNPT Port LHS on JNPT Palaspe Phata NH348	RAIGAD	Regular	660	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1316	From Kadav village to Takave Village on Karjat Murbad Highway NH 548A	RAIGAD	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1317	From Kalote Village to Dandphata (Rasayani phata) LHS on Mumbai Pune Highway NH48	RAIGAD	Regular	360	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1318	From Mangaon to Tasgaon village near Vile Bhagad MIDC on Mangaon Nizampur Tamhini Highway NH753F	RAIGAD	Regular	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1319	FROM PALASPE PHATA (JUNCTION OF NH48 & NH17) TO KHARPADA VILLAGE, LHS ON NH66 MUMBAI GOA HIGHWAY	RAIGAD	Regular	650	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUN	ORPORATION L	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1320	From Sai check post Mhasla to Vichare vadi village on Mhasla Mangaon highway NH753F	RAIGAD	Regular	240	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1321	From Tarankhop (Junction of NH66 & NH166D) to Vakrul village on Pen Khopoli Highway NH166D	RAIGAD	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1322	From Uran-Panvel-Kalamboli Phata to Gavhan phata (Jn of NH348 & NH348B) LHS on JNPT Hwy NH348	RAIGAD	Regular	560	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1323	MANGAON ON MUMBAI GOA HIGHWAY NH66	RAIGAD	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1324	Palaspe Phata (Goa Road Junction) to Uran- Panvel Kalamboli phata on Palaspe - JNPT highway NH348	RAIGAD	Regular	670	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1325	PALASPE PHATA (NH4 JUNCTION, OLD PUNE HIGHWY) TO SHIRDHONE, RHS ON NH66 MUMBAI GOA HWY	RAIGAD	Regular	670	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1326	JNPT PORT TO Uran- Panvel Kalamboli phata LHS ON JNPT PALASPE HIGHWAY NH348 (NH4B)	RAIGAD	Regular	1155	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1327	From Khalapur Police Station to Apti village on Khalapur Khopoli Pen Highway (NH548A/NH166D)	RAIGAD	Regular	160	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
1328	FROM ALIBAG TO REVDANDA ON ALIBAG MURUD HIGHWAY	RAIGAD	Regular	160	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
1329	from Junctn of Dighode Jasai Rd & Gavhan chirner Rd to Shivaji Statue in Jasai on Dighode Jasai Hwy	RAIGAD	Regular	450	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
1330	From Koproli Bus stand to Junction of NH348B and Koproli Sai Road on Koproli Pirkon Sai Road	RAIGAD	Regular	250	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1331	FROM KORLAI VILLAGE TO AGARARDANDA PORT ON ALIBAG MURUD AGARDANDA HIGHWAY	RAIGAD	Regular	210	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1332	From Lonere (Junction of NH66 & Goregaon Road) to Goregaon river Bridge on Goregaon Mhasala Road	RAIGAD	Regular	200	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1333	From junction of Matheran Road and Karjat Neral Road to Diksal Village on Neral Karjat Highway	RAIGAD	Regular	360	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1334	From Navkar CFS terminal to Devloli village towards Patalganga on Kon Patalganga Highway	RAIGAD	Regular	194	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1335	Neral Badlapur Highway	RAIGAD	Regular	240	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1336	Roha city to Kolad (Junction of Roha Kolad Highway & NH66) on Roha Kolad Highway	RAIGAD	Regular	155	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - E	BHARAT PETROLEUN	1 CORPORATION I	IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1337	Within 6 KMs From Hathkhamba Junction/Titha Towards Chiplun On LHS On NH-66	RATNAGIRI	Regular	270	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1338	Between KM Stone No 508 To KM Stone No506 on LHS While Moving From Dapoli To Harne On State Highway	RATNAGIRI	Regular	170	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1220	Either Side From Sangameshwar To Dhamani On NH-66	RATNAGIRI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1340	Within 3 KM From Velamb Fata At Shrungartali Towards Guhaghar On NH-166E Guhagar-Chiplun Road	RATNAGIRI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1341	Within 8 KM From Hotel Omega Inn At Parshuram Ghat Chiplun LHS Towards Mumbai On NH-66	RATNAGIRI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1342	From Village-Kamathe To Village-Kapsal Taluka-Chiplun On NH-66	RATNAGIRI	Regular	170	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Village-Zadgaon OML On LHS While Travelling From Partavne Naka To Ganpatipule On State Highway	RATNAGIRI	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1344	Within 6 KM From Chhatrapati Shivaji Maharaj Chowk at Khed Towards Dapoli on khed-Dapoli Road	RATNAGIRI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
13/15	Chiplun City Within Municipal Limit (Not On NH/SH)	RATNAGIRI	Regular	170	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
	Ratnagiri City WML (Not on NH/SH)	RATNAGIRI	Regular	180	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
13/1/	Within 3 KM From Ratnagiri Fish Museum To Bhagwati Bandar On Either Side	RATNAGIRI	Regular	180	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1348	Village Asurde To Village Agave On Nh-66 Both Side	RATNAGIRI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	Within 3 KM From Pali Titha/Junction Towards Kolhapur On LHS On NH-166	RATNAGIRI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1350	From Village Karanjari To Village Dabhole ON NH-166	RATNAGIRI	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1351	Within 2 KM From Anjanari Bridge Towards Goa on LHS On NH-66	RATNAGIRI	Regular	185	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1352	Within 3 KM From Dev Ganpati Temple at Kuwe towards Lanja on LHS on NH-66	RATNAGIRI	Regular	195	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1353	Within 3Km From From Hatkhamba Junction Towards Ratnagiri on NH 166 Kolhapur- Ratnagiri Highway	RATNAGIRI	Regular	270	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1354	Within 4 KM From Salvi Bus Stop Towards Mirkarwada jetty on by pass road On NH- 166	RATNAGIRI	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1355	Village-Bhambed, Taluka-Lanja On State Highway	RATNAGIRI	Regular	100	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA -	BHARAT PETROLEUN	1 CORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1356	From Village-Talavade To Village-Borivale On Dabhole-Lanja State Highway WITHIN 2.5KM FROM MSEB ROAD	RATNAGIRI	Regular	100	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
1357	INTERSECTION TOWARDS EKTA CHOWK ON 100FEET ROAD AT VILLAGE DHONDGEWADI ON RHS	SANGLI	Regular	200	OPEN	СС	20	20	545	32	12	Bidding	30	5
1358	TOWARDS JATH ON NH166E GUHAGAR- BIJAPUR HIGHWAY	SANGLI	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1359	AT VILLAGE YELUR, ON LHS FROM KOLHAPUR TO PUNE ON NH48 (OLD NH4)	SANGLI	Regular	165	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1360	ON LHS, WIHIN 6KM FROM SHIVAJI CHOWK VITA TOWARDS TASGAON ON NH160	SANGLI	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1361	ON LHS, WITHIN 2KM FROM PETH NAKA TOWARDS KARAD ON NH48(OLD NH4)	SANGLI	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1362	ON LHS, WITHIN 2KM FROM TANANG PHATA TOWARDS KUMATHE PHATA ON NH160	SANGLI	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1363	ON RHS WITHIN 3KM FROM TUNG BUS STOP TOWARDS SANGLI ON NH166H	SANGLI	Regular	170	OPEN	СС	35	35	1225	32	12	Bidding	30	5
	ON LHS, BETWEEN KM STONE 211 & 213 TOWARDS SOLAPUR ON MIRAJ TO SOLAPUR HIGHWAY NH166	SANGLI	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	ON RHS, BETWEEN KM STONE 207 & 209 ON MIRAJ SOLAPUR HIGHWAY NH166	SANGLI	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1366	ON LHS, WITHIN 10KM FROM PETH NAKA TOWARDS KOLHAPUR ON NH48 (OLD NH4)	SANGLI	Regular	160	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1367	AT VILLAGE NIGADI BK ON JATH CHADCHAN STATE HIGHWAY	SANGLI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1368	WITHIN 2KM FROM YEDE PHATA TOWARDS SATARA ON SH69	SANGLI	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	MIRAJ CITY WITHIN MUNICIPAL LIMIT	SANGLI	Regular	150	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
1370	BETWEEN COLLEGE CORNER AND LOVELY CIRCLE, WITHIN SANGLI-MIRAJ-KUPWAD MUNICIPAL LIMIT	SANGLI	Regular	160	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1371	ON LHS OF KOLHAPUR SANGLI ROAD WITHIN 1KM FROM DHAMANI ROAD INTERSECTION TOWARDS SANGLI BUS STAND	SANGLI	Regular	240	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	ON LHS WITHIN 2.5KM FROM 100FT ROAD INTERSECTION TOWARDS ANKALI ON SANGLI KOLHAPUR ROAD	SANGLI	Regular	200	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
13/3	ATPADI TOWN WITHIN MUNICIPAL LIMIT (NOT ON NH/SH)	SANGLI	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	ORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1374	ISLAMPUR WITHIN MUNICIPAL LIMIT (NOT ON NH/SH)	SANGLI	Regular	150	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1375	ON LHS WITHIN 5KM FROM ISLAMPUR BUS STAND TOWRDS SANGLI ON N166H	SANGLI	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1376	ON LHS, BETWEEN KM STONE 190 TO 200 ON MIRAJ BYPASS NH166 FROM KOLHAPUR TOWARDS SOLAPUR	SANGLI	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1377	ON RHS, WITHIN 2KM FROM KUMATHE PHATA TOWARDS TASGAON ON NH160	SANGLI	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1378	ON LHS WITHIN 4KM FROM ASHTA BUS STAND TOWARDS SANGLI ON NH166H	SANGLI	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1379	ON LHS, AT VILLAGE GHOGAON TOWARDS PALUS ON KARAD PALUS HIGHWAY NH266	SANGLI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1380	ON LHS, AT VILLAGE VISAPUR TOWARDS VITA ON NH160	SANGLI	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1381	ON LHS, WITHIN 2 KM FROM TATA MOTORS SHOWROOM TOWARDS SANGLI ON NH166H	SANGLI	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1382	ON LHS, WITHIN 2KM FROM MALANGAON PHATA TOWARDS TASGAON ON NH266	SANGLI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1383	ON RHS, WITHIN 2KM FROM NIMAJ BUS STOP TOWARDS NAGAJ ON NH166E	SANGLI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1384	ON RHS, WITHIN 2KM FROM YELAVI PHATA TOWARDS TASGAON ON NH266	SANGLI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1385	AT VILLAGE KOTIJ ON VITA PUSESAVALI ROAD STATE HIGHWAY 140	SANGLI	Regular	120	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
1386	AT VILLAGE ARJUNWAD ON MIRAJ SHIROL HIGHWAY SH137	SANGLI	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1387	AT WALWA, WITHIN 2KM FROM HUTATAMA CHOWK TOAWARDS TAKARI	SANGLI	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1388	ON LHS WITHIN 2KM FROM BUDHGAON- KUPWAD ROAD INTERSECTION TOWARDS SANGLI ON BUDHGAON SANGLI ROAD	SANGLI	Regular	170	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1389	ON LHS WITHIN 2KM FROM MALWADI IRRIGATION OFFICE TOWARDS BHILAWADI ON SH151	SANGLI	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1390	ON LHS WITHIN 2KM FROM TUKAI MANDIR ROAD KAMAN TOWARDS KUMATHE PHATA ON BUDHGAON TASGAON ROAD	SANGLI	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1391	ON LHS, BETWEEN KM STONE 72 TO 76 ON SH 150, SHIRALA TO KOKRUD ROAD	SANGLI	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1392	ON LHS, BETWEEN KM STONE 73 TO 75 ON SH151 TASGAON ATPADI HIGHWAY	SANGLI	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALEI	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/I CORPORATION I	LIMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)				ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1393	ON LHS, WITHIN 3KM FROM AMBIKA THEATRE ON KAVATEMAHANKAL KUCHI	SANGLI	Dogular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1393	ROAD	SANGLI	Regular	110	OPEN	DC	33	35	1225	32	/5	Draw or Lots	15	5
1394	WITHIN 2KM FROM ADDITIONAL DISTRICT & SESSIONS COURT ISLAMPUR TOWARDS TAKARI ON SH150	SANGLI	Regular	200	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1395	AT VILLAGE BOMBALEWADI ON SH143	SANGLI	Regular	105	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
1396	FROM MASUR TOWARDS MAYANI At Village Erandoli on SH153, Miraj Belanki Road	SANGLI	Regular	105	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5
1397	WITHIN 2KM FROM MSEDCL SUBSTATION TOWARDS BHILAWADI ON ASHTA BHILAWADI ROAD SH151	SANGLI	Regular	130	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
1398	On Saidapur to Panmalewadi Road (Old NH- 4) from SH-58 junction to NH-48 junction NOT ON SH/NH	SATARA	Regular	145	OPEN	СС	30	30	900	32	12	Bidding	30	5
1399	From Narayanwadi to Kasegaon (within Dist. Satara), LHS While Moving on NH-48 from Pune to Banglore	SATARA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1400	From Ajinkyatara Sugar Factory to Nagthane, LHS While Moving from Pune to Bangalore on NH-48	SATARA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1401	From Koregaon, Kumthe Phata to Pusegaon on Satara - Koregaon - Pandharpur Road NH548C	SATARA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1402	From Kshtera Mahuli to Koregaon on Satara - Koregaon - Pandharpur NATIONAL HIGHWAY	SATARA	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1403	From Nagtane to Khodad Phata, on LHS While Moving from Pune to Bangalore on NH-48	SATARA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1404	From Narayanwadi to Karad (on NH-48, LHS while moving from Banglore to Pune)	SATARA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1405	From Tasawade Toll Plaza to Karad, LHS While Moving from Pune to Bangalore on NH-48	SATARA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1406	From Wadhe Phata to KBP Polytechnic Satara on LHS While Moving from Banglore to Pune on NH-48	SATARA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1407	From Shivaji Chowk (Powai Naka) to Bombay Restaurant Chowk on SH	SATARA	Regular	170	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1408	Within 2 KM from Sahyadri Co-operative Sugar Factory on Masur to Karad Road (SH- 75)	SATARA	Regular	140	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1409	On Satara to Mhaswe Road (from SH-58 junction to NH-48 junction) NOT ON SH/NH	SATARA	Regular	160	ST	CFS	30	30	900	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	ORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	rranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1410	From Karad to Narayanwadi , LHS While Moving on NH-48 from Pune to Banglore From Panchwad ST Bus Stand to Surur	SATARA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1411	Mahableshwar Phata, NH-48 on LHS Banglore to Pune	SATARA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1412	On NH 160, LHS From Phaltan To Somantahli	SATARA	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1413	On NH 965DD, LHS From Tondal To Shirwal	SATARA	Regular	205	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1414	Upto 5KM From Sangli district border on NH-48 towards Karad (LHS Pune to Bangalore)	SATARA	Regular	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1415	From Mhaswad to Malshiras (within District Satara) on NH	SATARA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1416	From Wadhe Phata to Rahimatpur Phata, LHS While Moving from Pune to Bangalore on NH-48	SATARA	Regular	245	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1417	On LHS, From Nira River Bridge to Shirwal on NH48	SATARA	Regular	230	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1418	On NH 965 RHS From Pimpare Bk To Padegaon	SATARA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1419	On NH 965, From Phaltan To Vidani	SATARA	Regular	210	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1420	Within 5KM From Mayani ST Bus Stand on Mayani - Mhaswad State Highway	SATARA	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1421	Within 5KM from Medha S.T. Bus Stand on Satara - Mahabaleshwar SH	SATARA	Regular	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1422	Within 8KM from Pusesavali towards Rahimatpur on Pusesavali - Rahimatpur State Highway	SATARA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1423	From Pusesavali to Chorade on SH	SATARA	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1424	Within 3Km of Narayanwadi on SH (Narayanwadi to Undale Road)	SATARA	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1425	From Dahiwadi on Dahiwadi to Natepute State Highway (Within District Satara)	SATARA	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1426	Karad City WML (NOT ON SH/NH)	SATARA	Regular	150	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
1427	Khed (Satara City WML - Not on NH/SH)	SATARA	Regular	140	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
1428	Within Phaltan Muncipal Limit (Not On NH/SH)	SATARA	Regular	250	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
1429	KHANDALA MIDC NOT ON NH/SH	SATARA	Regular	160	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1430	Wai MIDC Area NOT ON SH/NH	SATARA	Regular	130	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	M CORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)		Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1431	Within Khandala Muncipal Limit (Not On NH/SH)	SATARA	Regular	190	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1432	From Kashil to Umbraj, on LHS While Moving from Pune to Bangalore on NH-48	SATARA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1433	From Khambatki Tunnel to Surur (Mahabaleshwar Phata), on LHS from Pune to Bangalore NH-48	SATARA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1434	From Pusegaon to Pingali on Pusegaon - Mhaswad Road NH548C	SATARA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1435	On LHS, From NH-48 junction to Kshetra Mahuli on Satara - Koregaon - Pandharpur NATIONAL HIGHWAY	SATARA	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1436	On NH 965 LHS From Nimbhore To Phaltan	SATARA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1437	On NH 965D At Lonand, LHS From Lonand Towards Tambave	SATARA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1438	On NH 965D LHS From Village Salpe To Village Koparde	SATARA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1439	On NH 965DD At Lonand, LHS From Lonand To Andori	SATARA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1440	From Ajinkyatara Sugar Factory to Rahimatpur Phata, LHS While Moving from Banglore to Pune on NH-48	SATARA	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
1441	From Anewadi Toll Plaza to Wadhe Phata LHS While Moving from Pune to Bangalore on NH-48	SATARA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1442	From Dahiwadi to Mayani on Dahiwadi - Katar Khatav - Mayani National Highway	SATARA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1443	From Joshi Vihir (Wai Phata) to Panchwad (Kudal Phata) on NH-48 (LHS, Pune - Bangalore)	SATARA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1444	From Karad to Tasawade Toll Plaza , LHS While Moving from Banglore to Pune on NH- 48	SATARA	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1445	From Pingali to Pandharpur (within District - Satara) on Satara - Pandharpur NH548C	SATARA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1446	From Wathar to Karad on NH-48 LHS while moving from Banglore to Pune	SATARA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1447	On LHS, From Dhangarwadi to Paragaon Village on NH48	SATARA	Regular	225	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1448	On NH 965, LHS From Rajuri To Vidani (Within Satara District)	SATARA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1449	On NH965 LHS From Kalaj To Taradgaon	SATARA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1450	On RHS, From Malharpeth to Koyana River Bridge on Karad - Chiplun Road NH	SATARA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	A CORPORATION I	LIMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1451	Within 5KM from Karad Krishna River Bridge on NH 166E towards Vita	SATARA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1452	Within 7KM from Karad RTO on Karad - Chiplun Road NH-166E	SATARA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1453	Between Karad to Shenoli Station on NH- 266 (Karad - Tasgaon Road)	SATARA	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1454	Between Panchagani to Mahabaleshwar on SH	SATARA	Regular	160	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
1455	From Joshi Vihir to Junction of Wai - Surur Road on SH	SATARA	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1456	From Koregaon to Rahimatpur on Koregaon - Rahimatpur Road (State Highway)	SATARA	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
1457	From Rahimatpur Bus Stand to Gojegaon on Rahimatpur - Satara State Highway	SATARA	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
1458	From Satara MSRTC Bus Depot on Satara - Mahabaleshwar Road SH within WML	SATARA	Regular	160	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
1459	On Wai - Surur State Highway, within 2KM from Wai -Joshivihir - Wathar Road junction	SATARA	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1460	From Masur to Raigaon on SH (DIST. SATARA)	SATARA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1461	Within 3 KM From Sharayu Agro Industries Sugar Factory On State Highway	SATARA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1462	From Mayani ST Bus Stand on SH 143 towards Pandharpur(within Satara district limits)	SATARA	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
1463	Upto 3KM from Pusegaon ST Bus Stand towards Vaduj on SH	SATARA	Regular	140	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
1464	Within 5km from Vaduj towards Dahiwadi on Vaduj - Pingali - Dahiwadi Road SH	SATARA	Regular	150	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
1465	Within 5 KM From Kharepatan Bus Stop Towards Goa On LHS While Travelling From Mumbai To Goa On NH-66	SINDHUDURG	Regular	150	ОВС	СС	35	35	1225	32	12	Bidding	30	4
	Within 2 KM From Kamakshi Traders At Kolgaon Towards Akeri On Either Side On State Highway	SINDHUDURG	Regular	140	ОВС	СС	35	35	1225	32	12	Bidding	30	4
1467	Village-Ajgaon,Taluka-Sawantwadi On Reddi- Sawantwadi State Highway	SINDHUDURG	Regular	125	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1468	From KM Stone No 398 To KM Stone 404 On LHS While Traveling From Mumbai To Goa NH-66	SINDHUDURG	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1469	Within 10 KM From Hotel Relax At Kankavali Towards Mumbai on LHS on NH-66	SINDHUDURG	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	D RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	ORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1470	From Village-Shirgaon To Village-Talebazar On Devgad-Nandgaon State Highway	SINDHUDURG	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1471	Within 5 KM From Mhapsekar Titha At Kudal Towards Vengurla On Kudal-Vengurla State Highway	SINDHUDURG	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1472	From Village-Narkarwadi To Village-Achirne On Vaibhavwadi-Phonda Road	SINDHUDURG	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1473	Village-Kadaval, Taluka-Kudal On State Highway	SINDHUDURG	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
1474	Village-Varchemad, Taluka-Vengurla On Reddy-Vengurla State Highway	SINDHUDURG	Regular	160	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1475	Within 4KM from Malvan Bus Stand towards Kasal on Malvan-Kasal State Highway	SINDHUDURG	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1476	From Government ITI College to Saiful Chowk on either side, Within Solapur Municipal limit	SOLAPUR	Regular	160	OPEN	СС	30	30	900	32	12	Bidding	30	5
1477	Within 3 KMs from CNS hospital towards Miraj on LHS of Solapur Miraj Road	SOLAPUR	Regular	200	OPEN	СС	30	30	900	32	12	Bidding	30	5
1478	Within 6 KMs from Ujani Bridge on RHS from Pune towards Solapur on NH65	SOLAPUR	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1479	WITHIN KM STONE 211 TO 213 ON RHS OF NH 65 FROM SOLAPUR TO PUNE	SOLAPUR	Regular	270	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1480	WITHIN KM STONE 220 TO 222 ON RHS OF NH 65 FROM SOLAPUR TO PUNE	SOLAPUR	Regular	220	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1481	WITHIN STONE NO. 318 TO STONE NO. 320 ON NH166 ON LHS TOWARDS MIRAJ	SOLAPUR	Regular	155	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1482	Between Mechanic Chowk and Bhaiyya Chowk, Solapur city	SOLAPUR	Regular	155	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1483	WITHIN 1 KM FROM LOKMANGAL JEEVAK HOSPITAL TOWARDS KUMBHARI ON OLD KUMBHARI ROAD	SOLAPUR	Regular	220	ST	CFS	20	20	545	0	0	Draw of Lots	0	3
1484	WITHIN 2 KM FROM NATEPUTE BUS STAND TOWARDS MALSHIRAS (Not on NH/SH)	SOLAPUR	Regular	195	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1485	Within 3 km from Sangola MSRTC Depot towards Junoni (Not on NH/SH)	SOLAPUR	Regular	200	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1486	WITHIN MUNICIPAL LIMITS OF BARSHI CITY (NOT ON NH/SH)	SOLAPUR	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1487	WITHIN MUNICIPAL LIMITS OF KURDAWADI CITY (NOT ON NH/SH)	SOLAPUR	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1488	WITHIN 2KM FROM NEW AKLUJ MSRTC BUS STAND TOWARDS BAVADA ON AKLUJ BYPASS ROAD	SOLAPUR	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	.IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1489	Within KM Stone 18 to 21 on NH52 Solapur to Tuljapur road on RHS towards tuljapur	SOLAPUR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1490	WITHIN KM STONE 202 TO 204 ON LHS OF NH65 FROM SOLAPUR TOWARDS PUNE	SOLAPUR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1491	WITHIN KM STONE NO 2 TO 4 ON LHS OF NH 52 SOLAPUR TO TULIAPUR	SOLAPUR	Regular	300	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1492	WITHIN STONE NO. 129 TO STONE NO. 131 ON NH561A LHS TOWARDS PANDHARPUR	SOLAPUR	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1493	WITHIN STONE NO. 135 TO STONE NO. 137 ON NH548C LHS TOWARDS AKLUJ	SOLAPUR	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1494	WITHIN STONE NO. 29 TO STONE NO. 31 ON NH965 ON LHS TOWARDS PANDHARPUR	SOLAPUR	Regular	185	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1495	WITHIN 4 KMS OF VILLAGE BABHULGAON ON SHETFAL PANDHARPUR ROAD NH 965C TOWARDS SHETFAL	SOLAPUR	Regular	180	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1496	WITHIN 2 KM FROM NAVDEVATA DIGAMBAR JAIN MANDIR TOWARDS AKLUJ ON NH548C	SOLAPUR	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1497	WITHIN STONE NO. 151 TO STONE NO. 153 ON NH561A ON EITHER SIDE	SOLAPUR	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1498	WITHIN STONE NO. 20 SOLAPUR TO 16 SOLAPUR ON NEW SOLAPUR BYPASS NH52 ON LHS TOWARDS NANDANI	SOLAPUR	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1499	WITHIN STONE NO. 73 TO STONE NO. 75 ON NH965C ON EITHER SIDE	SOLAPUR	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1500	WITHIN 5 KM OF ZILLA PARISHAD PRATHMIK SHALA DEOLALI ON NH 561 A ON TEMBHURNI TO KARMALA ROAD	SOLAPUR	Regular	190	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1501	Within 5 Km from Velapur Chowk towards Akluj on NH 965G on either side	SOLAPUR	Regular	160	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1502	4 KMs FROM MADHA ON MADHA KURDWADI ROAD	SOLAPUR	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1503	ON RHS WITHIN 2 KMS FROM MAHATAMA PHULE PRATHAMIK SHALA ON SOLAPUR BARSHI ROAD, TALUKA BARSHI	SOLAPUR	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1504	WITHIN 2 KM FROM DAHIGAON TOWARDS WALCHANDNAGAR, TAL. MALSHIRAS ON SH	SOLAPUR	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1505	WITHIN 4 KMS FROM SINHGAD COLLEGE OF ENGINEERING TOWARDS DYSP OFFICE PANDHARPUR	SOLAPUR	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1506	WITHIN 4 KMS OF SUB REGISTRAR OFFICE MADHA ON MADHA TO YAWALI ROAD	SOLAPUR	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA -	BHARAT PETROLEUN	1 CORPORATION L	.IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1507	WITHIN 1 KM FROM Saat Rasta, WITHIN SOLAPUR MUNICIPAL LIMITS	SOLAPUR	Regular	165	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
1508	FROM BALAJI SAROVAR TOWARDS HOTGI, WITHIN SOLAPUR MUNICIPAL LIMITS	SOLAPUR	Regular	160	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1509	SANGOLA CITY WITHIN MUNICIPAL LIMITS (Not on NH/SH)	SOLAPUR	Regular	160	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
1510	ON NH561A BETWEEN KM STONE 95 TO 97 ON LHS TOWARDS PANDHARPUR	SOLAPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1511	WITHIN 4 KMS OF MOHOL CITY ON NH 465	SOLAPUR	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1512	Within 5 Km from APMC Market Yard on RHS towards Hyderabad on NH65	SOLAPUR	Regular	190	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1513	Within 5 KM from Velapur Chowk towards Pandharpur on LHS towards Pandharpur on NH965	SOLAPUR	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1514	WITHIN STONE 300 TO STONE 303 ON NH 166 ON LHS TOWARDS SOLAPUR	SOLAPUR	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1515	WITHIN STONE 301 TO STONE 303 ON NH 166 on RHS towards Solapur	SOLAPUR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1516	WITHIN STONE NO. 281 TO STONE NO. 283 ON NH166 ON LHS TOWARDS SOLAPUR	SOLAPUR	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1517	AT VILLAGE PILIV, ON NH548E DIST SOLAPUR	SOLAPUR	Regular	170	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
1518	WITHIN KM STONE 257 TO 260 ON MIRAJ SOLAPUR ROAD ON R.H.S TOWARDS SOLAPUR ON NH166	SOLAPUR	Regular	165	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
1519	AT VILLAGE PISEWADI, ON NH965 ON LHS TOWARDS PHALTAN	SOLAPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1520	BETWEEN KM STONE 4 TO 6 ON RHS OF NH965C FROM SHETFAL TO KURDAWADI	SOLAPUR	Regular	240	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1521	Between Village Venegaon and Village Aran on LHS From Pune towards Solapur on NH 65	SOLAPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1522	ON NH548C, WITHIN KM STONE 101 TO 103 ON RHS OF KURDAWADI TO BARSHI ROAD TOWARDS BARSHI	SOLAPUR	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1523	WITHIN 2 KM OF AJINKYATARA HOTEL ON RHS OF NH 150E SOLAPUR TO AKKALKOT	SOLAPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1524	WITHIN 4 KMS OF VILLAGE SHELGAON ON TEMBHURNI KARMALA ROAD ON NH 561A ON EITHER SIDE	SOLAPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1525	WITHIN KM STONE 218 TO 220 ON LHS OF NH65 FROM SOLAPUR TOWARDS PUNE	SOLAPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	I CORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		rinance to be ar	rranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1526	WITHIN KM STONE 267 TO 270 ON MIRAJ SOLAPUR ROAD ON L.H.S TOWARDS SOLAPUR ON NH166	SOLAPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1527	WITHIN STONE NO. 154 TO STONE NO. 156 ON NH548C	SOLAPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1528	WITHIN STONE NO. 57 TO STONE NO. 60 ON NH965C ON EITHER SIDE	SOLAPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1529	WITHIN STONE NO. 107 TO 109 ON NH561A, DIST SOLAPUR	SOLAPUR	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1530	WITHIN STONE NO. 326 TO STONE NO. 332 ON NH166 ON LHS TOWARDS SOLAPUR	SOLAPUR	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1531	WITHIN 2KM OF BHOSARE VILLAGE ON KURDAWADI TO MADHA ROAD	SOLAPUR	Regular	160	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1532	WITHIN 3 KMs OF VILLAGE CHIKADHE ON BARSHI TO OSMANABAD ROAD	SOLAPUR	Regular	250	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
1533	WITHIN 4 KMS OF VILLAGE SALSE ON KURDAWADI TO KARMALA ROAD	SOLAPUR	Regular	170	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1534	WITHIN 2 KMS OF J&S AGRO INFRA INDUSTRIES ON YAWALI TO MADHA ROAD	SOLAPUR	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1535	WITHIN KM STONE 142 TO 144 ON SH67, DIST. SOLAPUR	SOLAPUR	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1536	WITHIN KM STONE 18 TO 20 ON LHS OF KURDAWADI TO KARMALA ROAD	SOLAPUR	Regular	200	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1537	WITHIN 2KM OF VILLAGE ZAREGAON ON BARSHI TO TULIAPUR ROAD	SOLAPUR	Regular	150	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
1538	BETWEEN MINDSPACE AIROLI EAST AND RABALE LAKE ON THANE-BELAPUR ROAD	THANE	Regular	400	OBC	СС	20	20	545	32	12	Bidding	30	4
1539	At Kharegaon, Kalwa in Thane Muncipal Limits	THANE	Regular	400	OPEN	СС	20	20	545	32	12	Bidding	30	5
1540	Road no21, Wagle industrial estate, Thane	THANE	Regular	180	OPEN	СС	20	20	545	32	12	Bidding	30	5
1541	Thane West Within Muncipal Corporation Limits	THANE	Regular	500	OPEN	СС	20	20	545	32	12	Bidding	30	5
1542	Within 2kms of Ovala Fire Station within Thane Municipal Limits	THANE	Regular	280	OPEN	СС	20	20	545	32	12	Bidding	30	5
1543	BETWEEN RAYATE AND REVATI ON NH 61 (OLD NH-222) ON RHS TOWARDS MURBAD	THANE	Regular	180	OBC	СС	35	35	1225	32	12	Bidding	30	4
1544	BETWEEN SHAHAPUR AND VASIND ON NH 160 (OLD NH 3) ON LHS TOWARDS THANE	THANE	Regular	265	OBC	СС	35	35	1225	32	12	Bidding	30	4
1545	BETWEEN ATGAON AND KHARDI ON NH 160 (OLD NH-3) ON LHS TOWARDS NASIK	THANE	Regular	450	OPEN	СС	35	35	1225	32	12	Bidding	30	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	ORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1546	BETWEEN KHARDI AND LATIFWADI ON NH 160 (OLD NH-3) ON LHS TOWARDS NASIK	THANE	Regular	400	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1547	BETWEEN KOSHIMBI AND PADGHA/ARJUNALLI TOLL PLAZA ON NH 160 (OLD NH-3) ON LHS TOWARDS THANE	THANE	Regular	440	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1548	BETWEEN CARMEL CONVENT HIGH SCHOOL, KATRAP & BADLAPUR FIRE BRIGADE OFFICE ON SH ON EITHER SIDE	THANE	Regular	250	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1549	BETWEEN MANGAON AND DOLKHAMB ON SH ON EITHER SIDE	THANE	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1550	BETWEEN BHARAT GEARS LIMITED AND KHARDI GAON	THANE	Regular	200	SC	CFS	20	20	545	0	0	Draw of Lots	0	3
1551	BETWEEN KATAI NAKA AND MANPADA POLICE STATION ON LHS TOWARDS KALYAN, WITHIN MUNICIPAL LIMITS	THANE	Regular	350	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1552	BETWEEN SHILPHATA JUNCTION AND KATAI NAKA ON RHS TOWARDS KALYAN, WITHIN MUNICIPAL LIMITS	THANE	Regular	290	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1553	BETWEEN DOSTI FOUNDATION SCHOOL TO MM VALLEY	THANE	Regular	250	SC PH	CFS	20	20	545	0	0	Draw of Lots	0	3
1554	Thane East, within Muncipal Corporation Limits	THANE	Regular	200	ST	CFS	20	20	545	0	0	Draw of Lots	0	3
1555	WITHIN 4 KM RADIUS OF KHADAKPADA POLICE STATION BARAVE, KALYAN, IN KDMC LIMITS	THANE	Regular	200	ST	CFS	20	20	545	0	0	Draw of Lots	0	3
1556	LHS of Ghodbunder Road between Bhayandarpada to Manpada	THANE	Regular	150	ST CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
1557	MUMBRA WITHIN THANE MUNCIPAL CORPORATION LIMITS	THANE	Regular	200	ST PH	CFS	20	20	545	0	0	Draw of Lots	0	3
1558	BETWEEN ANJUR AND SARAVALI ON NH 160 (OLD NH3) ON RHS TOWARDS SARAVALI	THANE	Regular	400	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1559	BETWEEN KASARA GHAT AND ATGAON ON NH 160 (OLD NH 3) ON LHS TOWARDS THANE	THANE	Regular	260	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1560	BETWEEN POTGAON AND MURBAD ON NH 61 (OLD NH-222) ON LHS TOWARDS MURBAD	THANE	Regular	250	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1561	BETWEEN RAYATE AND KOLIMB ON NH 61 (OLD NH-222) ON LHS TOWARDS MURBAD	THANE	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1562	BETWEEN MURBAD AND PATGAON ON NH 548A ON EITHER SIDE	THANE	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1563	BETWEEN MURBAD TO KHUTGHAR ON NH548A ON EITHER SIDE	THANE	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	ORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1564	BETWEEN AMBERNATH CRICKET ACADEMY & CARMEL CONVENT HIGH SCHOOL, KATRAP ON SH ON EITHER SIDE	THANE	Regular	300	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1565	BETWEEN KATAI NAKA AND AMBERNATH CRICKET ACADEMY ON SH ON RHS TOWARDS AMBERNATH	THANE	Regular	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1566	BETWEEN VASHERE & BAPGAON ON SH ON EITHER SIDE OF KALYAN SAPE ROAD	THANE	Regular	185	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1567	BETWEEN KHARVAI AND VANGANI ON SH ON EITHER SIDE	THANE	Regular	120	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1568	BELAPUR, WITHIN NAVI MUMBAI MUNICIPAL CORPORATION LIMITS	THANE	Regular	400	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
1569	BETWEEN MANPADA POLICE STATION & PATRI POOL BRIDGE ON LHS TOWARDS KALYAN, WITHIN MUNICIPAL LIMITS	THANE	Regular	400	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
1570	DOMBIVILI WEST, WITHIN MUNICIPAL LIMITS	THANE	Regular	170	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1571	MALANG GAD ROAD, WITHIN KDMC LIMITS	THANE	Regular	200	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
1572	On RHS of Ghodbunder Road between Kajupada to Fountain Hotel	THANE	Regular	170	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
1573	VITTHALWADI, WITHIN ULHASNAGAR MUNICIPAL CORPORATION LIMITS	THANE	Regular	220	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
1574	WITHIN 2 KMS RADIUS OF TITWALA RAILWAY STATION, IN KDMC MUNICIPAL LIMIT	THANE	Regular	160	ОВС	DC	20	20	545	32	75	Draw of Lots	15	4
1575	BETWEEN SHILPHATA JUNCTION AND KATAI NAKA ON LHS TOWARDS KALYAN	THANE	Regular	200	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
1576	BHIVANDI, WITHIN BHIVANDI NIJAMPUR MUNICIPAL CORPORATION LIMITS	THANE	Regular	240	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
1577	DOMBIVILI EAST, WITHIN MUNICIPAL LIMITS	THANE	Regular	400	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1578	DOMBIVILI WITHIN MUNICIPAL LIMITS	THANE	Regular	400	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1579	KALYAN EAST, WITHIN MUNCIPAL LIMITS	THANE	Regular	200	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1580	KALYAN WITHIN MUNCIPAL LIMITS	THANE	Regular	300	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1581	KOPAR KHAIRANE, WITHIN NAVI MUMBAI MUNICIPAL CORPORATION LIMITS	THANE	Regular	280	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1582	LHS of Ghodbunder Road between Manpada to Ovala Naka	THANE	Regular	400	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
1583	MAHAPE, WITHIN NAVI MUMBAI MUNICIPAL CORPORATION LIMITS	THANE	Regular	350	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1584	On LHS of Ghodbunder Road between Kajupada to Fountain Hotel	THANE	Regular	170	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	1 CORPORATION I	.IMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1585	TURBHE, WITHIN NAVI MUMBAI MUNICIPAL CORPORATION LIMITS	THANE	Regular	300	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1586	ULHASNAGAR, WITHIN MUNICIPAL LIMITS	THANE	Regular	190	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1587	Within Mira Bhayender Muncipal Corporation Limits	THANE	Regular	260	OPEN	DC	20	20	545	32	75	Draw of Lots	15	5
1588	GHANSOLI, WITHIN NAVI MUMBAI MUNICIPAL CORPORATION LIMITS	THANE	Regular	400	OPEN CC 1	DC	20	20	545	32	75	Draw of Lots	15	5
1589	NERUL, WITHIN NAVI MUMBAI MUNICIPAL CORPORATION LIMITS	THANE	Regular	450	OPEN CC 1	DC	20	20	545	32	75	Draw of Lots	15	5
1590	SANPADA, WITHIN NAVI MUMBAI MUNICIPAL CORPORATION LIMITS	THANE	Regular	250	OPEN CC 1	DC	20	20	545	32	75	Draw of Lots	15	5
1591	VASHI, WITHIN NAVI MUMBAI MUNICIPAL CORPORATION LIMITS	THANE	Regular	400	OPEN CC 1	DC	20	20	545	32	75	Draw of Lots	15	5
1592	AIROLI, WITHIN NAVI MUMBAI MUNICIPAL CORPORATION LIMITS	THANE	Regular	450	OPEN CC 2	DC	20	20	545	32	75	Draw of Lots	15	5
1593	SHAHAD, WITHIN ULHASNAGAR MUNICIPAL CORPORATION LIMITS	THANE	Regular	250	OPEN PH	DC	20	20	545	32	75	Draw of Lots	15	5
1594	AMBERNATH TOWN WITHIN AMBERNATH MUNICIPAL LIMITS, NOT ON NH/SH	THANE	Regular	200	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
1595	ADDITONAL AMBERNATH MIDC AREA, NOT ON NH/SH	THANE	Regular	250	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1596	BADALPUR TOWN WITHIN MUNICIPAL LIMITS, NOT ON NH/SH	THANE	Regular	120	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
	BETWEEN KASELI TOLL PLAZA AND BHIWANDI ON NH848 ON RHS TOWARDS BHIWANDI	THANE	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1598	BETWEEN SARALGAON & TOKAWADE ON NH 61 (OLD NH-222) (KALYAN MURBAD ROAD) ON EITHER SIDE	THANE	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1599	BETWEEN ANJUR AND SARAVALI ON NH 160 (OLD NH3) ON LHS TOWARDS SARAVALI	THANE	Regular	400	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
1600	BETWEEN SHILPHATA JUNCTION TO SHILPHATA TOLL PLAZA ON NH 48 (OLD NH- 4) ON LHS TOWARDS TALOJA	THANE	Regular	345	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1601	BETWEEN KASELI TOLL PLAZA AND BHIWANDI ON NH 848 ON LHS TOWARDS BHIWANDI	THANE	Regular	200	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1602	BETWEEN VISHWAGAD AND PADGHA ON SH ON EITHER SIDE	THANE	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	WITHIN 12 KMS OF CHERWALI VILLAGE ON SH ON EITHER SIDE OF SARALGAON - SHENVA ROAD	THANE	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALER	RSHIPS IN THE STATE	OF MAHARASHTRA -	BHARAT PETROLEUN	/ CORPORATION I	LIMITED				
s.no	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls		Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)		Minimum Area	Finance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1604	BETWEEN GNP GALAXY AND CHIKHLOLI WEST/ BARVI PHATA ON SH ON EITHER SIDE	THANE	Regular	200	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1605	BETWEEN KATAI NAKA AND AMBERNATH ON SH ON LHS TOWARDS AMBERNATH BETWEEN RANJNOLI AND KONGAON ON	THANE	Regular	350	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1606	KALYAN-BHIWANDI RD ON SH ON RHS TOWARDS KALYAN	THANE	Regular	300	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1607	BETWEEN MALODI AND POMAN ON SH ON EITHER SIDE	THANE	Regular	150	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
1608	WITHIN MUNICIPAL LIMITS OF SELOO CITY (NOT ON NH/SH), DISTRICT - WARDHA	WARDHA	Regular	105	OPEN	СС	30	30	900	32	12	Bidding	30	5
1609	WITHIN KM STONE 70 TO 75 ON AMRAVATI TO NAGPUR ROAD ON L.H.S TOWARDS NAGPUR	WARDHA	Regular	180	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
1610	LHS FROM VILLAGE-PIPRI TO SAMRUDDHI HIGHWAY ARVI-WARDHA INTERCHANGE ON NH647	WARDHA	Regular	150	OPEN CC 2	СС	35	35	1225	32	12	Bidding	30	5
1611	B/W VILL - NARAYANPUR & VILL- KRISHNAPETH, TAL - SAMUDRAPUR ON SH322	WARDHA	Regular	120	OBC	СС	35	35	1225	32	12	Bidding	30	4
1612	VILL-EDLABAD, ON SH326, TAL- SAMUDRAPUR	WARDHA	Regular	130	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1613	WITHIN 5KM FROM SHIVAJI CHOWK(ARVI) ON ARVI TO KURHA ROAD AT RAMNAGAR WARD WITHIN MUNICIPAL	WARDHA	Regular	131	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1614	LIMITS OF WARDHA(NOT ON NH/SH), DISTRICT - WARDHA	WARDHA	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1615	VILLAGE-NANDORI, ON NH347A TAL- SAMUDRAPUR LHS FROM VILLAGE-GUNJKHEDA TILL	WARDHA	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1616	SAMRUDDHI IC-05 PULGAON INTERCHANGE ON NH347A	WARDHA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1617	WITHIN MUNICIPAL LIMITS OF HINGANGHAT CITY(NOT ON NH/SH)	WARDHA	Regular	170	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1618	WITHIN MUNICIPAL LIMITS OF SAMUDRAPUR CITY (NOT ON NH/SH), DISTRICT - WARDHA	WARDHA	Regular	155	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1619	AT BEDHONA VILLAGE ON ARVI TO WARDHA ROAD NH647 R.H.S TOWARDS WARDHA	WARDHA	Regular	193	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1620	ON NH44(OLD NH7)FROM VILLAGE-KUTKI TO VILLAGE-SONEGAON, ON LHS, TAL- HINGANGHAT	WARDHA	Regular	260	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1621	AT MALKAPUR ON TALEGAON-WARUD ROAD (NH347A) ON R.H.S TOWARDS WARUD	WARDHA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ID RURAL DEALEI	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/ CORPORATION I	LIMITED				
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)			ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1	AT VILLAGE - SELDOH ON NH 353I ON LHS FROM SINDI TOWARDS SELDOH, TAL - SELOO	WARDHA	Regular	280	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1623	ON LHS FROM VILLAGE - SALOD TO VILLAGE - SELSURA, NH 361, TAL-WARDHA	WARDHA	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1624	VILLAGE - CHITKI, TAL - DEOLI ON NH347A (WARDHA - PULGAON ROAD)	WARDHA	Regular	310	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1625	VILLAGE-KANKATI,ON NH44, BETWEEN KM STONE 49&51,ON LHS WHILE GOING FROM BORKHEDI TO JAMB	WARDHA	Regular	340	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1626	WITHIN MILESTONE NO 80 TO 85 ON NAGPUR TO AMRAVATI ROAD ON L.H.S TOWARDS AMRAVATI	WARDHA	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1627	B/W VILL-SELDOH & VILL-KELZAR ON NH361, ON LHS WHILE MOVING FROM BUTIBORI TOWARDS WARDHA	WARDHA	Regular	440	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1628	within municipal limits Risod (not on NH & SH)	WASHIM	Regular	150	OPEN CC 1	СС	30	30	900	32	12	Bidding	30	5
1629	within nagar panchayat Manora (not on NH & SH)	WASHIM	Regular	110	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
1630	within municipal limits of Karanja (not on NH & SH)	WASHIM	Regular	125	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1631	within municipal limits of Mangrulpir (not on NH & SH)	WASHIM	Regular	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1632	within municipal limits of Washim (not on NH & SH)	WASHIM	Regular	130	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1633	within nagar panchayat Malegaon (not on NH & SH)	WASHIM	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1634	from Darwah to Karanja on NH 361C on either side within 5 km from Hingoli Toll Plaza on NH	WASHIM	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1635	161 on LHS while moving towards Hingoli	WASHIM	Regular	172	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1636	within 5 km from Hingoli Toll Plaza on NH 161 on RHS while moving towards Hingoli	WASHIM	Regular	163	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1637	within 1 km radius from shivaji high & junior college on SH in Vill:Mop Tehsil Risod	WASHIM	Regular	145	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1638	within 5 km from Risod bus stand towards Mehkar on SH	WASHIM	Regular	145	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1639	from Sharda Chowk Yavatmal towards Lohara square on RHS	YAVATMAL	Regular	130	OPEN	СС	30	30	900	32	12	Bidding	30	5
1640	Within radius 6 Km from Police Station Ghatanji (not on NH & SH)	YAVATMAL	Regular	125	OPEN	СС	30	30	900	32	12	Bidding	30	5
1641	within 15 km from Zilla Parishad School , Mudana on NH 361 on RHS from Mahagaon to Umarkhed	YAVATMAL	Regular	155	OPEN	СС	35	35	1225	32	12	Bidding	30	5

			NOTICE FOR APPOINTM	ENT OF REGULAR AN	ND RURAL DEALE	RSHIPS IN THE STATE	OF MAHARASHTRA - I	BHARAT PETROLEUN	/I CORPORATION I	IMITED				
s.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)		rinance to be ar	ranged by applicant in Lakh)	Mode of selection (Draw of Lots/Biddin g)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9В	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1642	within 30 km from Karanji Toll Plaza on NH 930 (old MSH 14) on LHS, from Karanji towards Wani	YAVATMAL	Regular	198	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1643	within km stone no 125 & 144 on LHS on Nh44 (old NH7), while moving from Nagpur to Adilabad	YAVATMAL	Regular	167	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1644	within km stone no 172 & maharashtra- telangana border on NH44(old NH7) on LHS towards Adilabad	YAVATMAL	Regular	500	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1645	from Vil:Tendoli(Teh:Arni) to Vil:Pandurna Bk(Teh:Ghatanji) on SH	YAVATMAL	Regular	115	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
1646	within 12 km from Police Chowki Awdhutwadi, on MSH 14,from Yavatmal towards Wani	YAVATMAL	Regular	117	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
1647	between State bank chowk & Govt Polytechnic college, Yavatmal on LHS	YAVATMAL	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1648	within municipal limits of Arni (not on NH or SH)	YAVATMAL	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1649	within km stone no 406 & 435 on LHS on NH 361 travelling from Yavatmal to Wardha	YAVATMAL	Regular	151	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1650	between km stone no 21 & 25 on SH319 , on either side	YAVATMAL	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1651	within 12 km from Lohara Chowk towards Ner on MSH 14 on either side.	YAVATMAL	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1652	From Kelapur (Teh:Pandarkhawda) to Parwa (Teh:Ghatanji) on SH 314	YAVATMAL	Regular	111	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1653	from vill: Kolambi (Tehsil: Yavatmal) to vill: Khapri (Teh:Ghatanji) on SH 316	YAVATMAL	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1654	within Yavatmal municipal limits (not on NH & SH)	YAVATMAL	Regular	175	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
1655	with municipal limits of Pusad (not on NH & SH)	YAVATMAL	Regular	130	OBC CC 1	DC	30	30	900	32	55	Draw of Lots	15	4
1656	within municipal limits of Pandarkhwda (not on NH & SH)	YAVATMAL	Regular	160	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
1657	within 7 km from MSRTC stand Umarkhed towards Nanded on NH 361, on either side.	YAVATMAL	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1658	within km stone no 110 & 125 on LHS on NH 44(old NH7), while moving from Nagpur to Adilabad	YAVATMAL	Regular	232	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1659	within km stone no 160 & 172 on Nh44 (old NH7) on LHS,while moving from Nagpur to Adilabad	YAVATMAL	Regular	207	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1660	within 6 km from Bhatia Washery on NH930(old MSH 14) on LHS, moving from Wani towards Maregaon	YAVATMAL	Regular	212	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

	NOTICE FOR APPOINTMENT OF REGULAR AND RURAL DEALERSHIPS IN THE STATE OF MAHARASHTRA - BHARAT PETROLEUM CORPORATION LIMITED													
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)			(Rs in Lakh)		Mode of selection (Draw of Lots/Biddin g)		Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	Estimated fund required for development of infrastructure at RO (Rs in Lakh )			
1661	between km stone no 155 & 161 on Major SH 14 on LHS while moving from Yavatmal to Wani	YAVATMAL	Regular	106	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1662	On Yavatmal Ring Road , SH 318, between Govt ITI college & junction of Yavatmal ring road-NH 361	YAVATMAL	Regular	125	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1663	within 8 km from Ghatanji bus stand on SH from Ghatanji to Arni	YAVATMAL	Regular	127	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1664	between km stone no 39 & 58 on Major SH14 ,from Wani to Ghuggus, on RHS	YAVATMAL	Regular	155	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1665	between km stone no 41 & 54 on Major SH14 ,from Wani to Ghuggus, on LHS	YAVATMAL	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1666	from Umarkhed to Pusad on SH 262, on either side	YAVATMAL	Regular	109	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1667	From village Taroda (Teh:Ghatanji) to Village Chikhalwardha(Tehsil:Ghatanji) on SH 267	YAVATMAL	Regular	125	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1668	within 20 km from Shivaji Chowk Pusad towards Washim on SH 51, on either side.	YAVATMAL	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

<sup>#</sup> Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.bharatpetroleum.in / www.hindustanpetroleum.com / www.petrolpumpdealerchayan.in ) and can be downloaded free of cost.

## APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27.09.2023

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
Regular Ros	CC	Open	10000	Rural ROs	CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above

The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

<sup>\*</sup> The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

	NOTICE FOR APPOINTMENT OF REGULAR AND RURAL DEALERSHIPS IN THE STATE OF MAHARASHTRA - BHARAT PETROLEUM CORPORATION LIMITED													
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Site Required (in		(Rs in Lakh)		Mode of selection (Draw of Lots/Biddin g)		Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)				

For any informa	tion with regard to the advertisement,	candidates may con	tact the following addre	ess:-										
Sr No.	Territory	District Covered	Address	Contact no	Sr No.	Territory	District Covered	Address	Contact no	Sr No.	Territory	District Covered	Address	Contact no
		PARBHANI					NANDURBAR					PUNE	TERRITORY	
1	Ahmednagar	JALNA	TERRITORY COORDINATOR (RETAIL), AHMED NAGAR ,BPCL TERRITORY OFFICE,	9529774576/	4	Jakana	DHULE	TERRITORY COORDINATOR (RETAIL), JALGAON C/O BPCL LPG PLANT	9415404397	7	Pune	SATARA	COORDINATOR (RETAIL), PUNE, BPCL TERRITORY OFFICE, SHAHAJANAND COMPLEX,2416,GEN.THIM MAYA ROAD, EAST STREET, PUNE, MAHARASHTRA - 411001	8405979797
1	Anmednagar	BEED	AKOLNER, AHMEDNAGAR	9529763860	4	Jalgaon	JALGAON	ADDITIONAL	9415404397			SANGLI	TERRITORY	
		AHMEDNAGAR	DISTRICT, MAHARASHTRA - 414107				AURANGABAD	M.I.D.C.AREA,JALGAON , MAHARASHTRA - 425003		8	Solapur	LATUR	COORDINATOR (RETAIL), SHOLAPUR, BPCL PAKNI POL DEPOT,A/P- PAKNI,NEAR PAKNI RAILWAY STATION,TALUKA-NORTH SOLAPUR,DISTT-	9033505269
		HINGOLI					MUMBAI CITY	TERRITORY					SOLAPUR,	
		YAVATMAL	-				MUMBAI SUB URBAN	COORDINATOR				OSMANABAD	MAHARASHTRA - 413255	
2	Akola	AMRAVATI	TERRITORY COORDINATOR (RETAIL),AKOLA,BPCL TERRITORY OFFICE,TALUKA - BALAPUR,GAIGAON, AKOLA,MAHARASHTRA - 444109	8903482399	5	Mumbai	RAIGAD	(RETAIL), MUMBAI, BPCL KHAU CREEK INSTALLATION,NEAR IOC WADALA INSTALLATION , WADALA EAST MUMBAI- MAHARASHTRA - 400037	9970720158	9	Thane	, washin	TERRITORY COORDINATOR (RETAIL), THANE, BPCL OFFICE COMPLEX,PLOT NO. 6 SECTOR - 2,BEHIND CIDCO GARDEN,KHARGHAR, NAVI MUMBAI, MAHARASHTRA - 410210	9480887169
		NANDED	1			i	CHANDRAPUR	<u> </u>				THANE	WANAKASHIKA - 410210	
		WASHIM	]				GADCHIROLI	TERRITORY COORDINATOR				PALGHAR	]	
		AKOLA	1				BHANDARA	(RETAIL),NAGPUR,BPCL						
		BULDHANA					GONDIA	TERRITORY OFFICE						
3	Goa	RATNAGIRI	TERRITORY COORDINATOR (RETAIL), GOA , BPCL TERRITORY OFFICE, PLOT NO. 32, EDC COMPLEX,	9587786988	6	Nagpur	NAGPUR	NAGPUR ,SUNNY SIDE, 7,CHITNIS MARG,CIVIL LINES, NAGPUR, MAHARASHTRA - 440001	9630898291					
		SINDHUDURG	PATTO PLAZA, PANJIM,GOA				WARDHA							
		KOLHAPUR	403001											